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03 AIMFIH2FAY| 1,200 1,200 0
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SA: 2AEG D
Ha: QRIRF 2
CHol: MEOISIEHA (649 &2
_ _ MNuE o
SN YO (BH) - MBAY - BYS Of) & o il i~ o HRs2
01 ArR2elt] 4,000 4,000 0
1) SRR MI RE 4,000,0008 %14 4,000
203 YULEAY] 2,400 2,400 0
03 ANEFAALFZY] 2,400 2,400 0
1) SRR 2,400,0002 *14! 2,400
BHSAAY (LA LR) 130,680 119,640 11,040
oz 2oyl 4,200 4,200 0
ozl 2 oyl 4,200 4,200 0
203 Y=Yl 4,200 4,200 0
04 ENSIAL=ZY] 4,200 4,200 0
1) SARgARETY 350,0002 * 122 4,200
o= Al 126,480 115,440 11,040
o= Al 126,480 115,440 11,040
201 Yueay] 54,720 43,680 11,040
01 ARzl 54,720 43,680 11,040
1)YBE ALR 22l 1,340,0002 122 16,080
NYeEX 2| 7,0008 %202 %238 x 122 38,640
202 01| 71,760 71,760 0
01 =0l 71,760 71,760 0
DEEE S 20,0002 *23% 132 *122 71,760
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ey o2 2st
o2 48 (9 He)
_ _ _ Muo
Ao BB ERI(BI) - MIRAY - B S O & o4 i HIREY
25,880,830 22,872,964 3,007,866
Al 45,864
DS 25,834,966
& 9y dst 9,058,614 7,928,592 1,130,022
Al 45,864
AHA 9,012,750
QR = 4,089,661 3,898,797 190,864
SA JHA 43,016 77,016 A 34,000
201 ZEH2IH] 7,000 41,000 A 34,000
03 #At2EH| 7,000 41,000 A 34,000
1) Tololg Jlgal E22 M
7,000, 000& * 14 7,000
203 HEF=4&H 26,016 26,016 0
03 AIMFAHRFAH 26,016 26,016 0
1) R2oY &AL 8,000, 000& * 14! 8,000
1) &IEOIALS 10,000,000& *14l 10,000
1) NoHZH L2FZ 6,000, 000& * 14! 6,000
1) &AL 2 oNES 168,000& 123 2,016
301 ptEas 10,000 10,000 0
10 AIAHIE &= 10,000 10,000 0
1) HAIEAAE2 10,000,000 » 14! 10,000
ANagegs X 112,600 97,200 15,400
203 HEF=4H 4,800 4,800 0
03 AIMFAAHR =LY 4,800 4,800 0
NYAE o3 &t 2,400,000& »23] 4,800
308 NXIHHSOIH 31,200 32,400 A 1,200
07 NHZ=dAAILEX 31,200 32,400 A 1,200
NHHIZ2 0SS N
100,000& *26= L =12 31,200
401 AIEHIZROY| 6,600 0 6,600
01 AlI&HI 6,600 0 6,600
DEETEES VN EEE PEE
6,600,000 * 14! 6,600
403 XXIEHMS K201 70,000 60,000 10,000
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telr 2L 3 (EH & 3)
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
03 HblzZsdXaN=Eax 70,000 60,000 10,000
NodlzR0ns S
70,000,000 *14] 70,000
TEAR 2l 3,925,045 3,690,581
201 Ler2gy 1,580,350 1,420,350
01 AtR2telt] 375,550 353,550
1) & - =3l 200,250
2) 7 LA 50,0003 *11& *110! 60,500
2) 738 =3 50,0003 7 365 127,750
2) 7 M2 50,0003 4 *30& 6,000
2) & ALY 50,0003 4 ~30& 6,000
NAEFINE 3 UEIE A8 =2
220,000, 000 *50%*3% 3,300
NeH2UIA 2ER | 70,000,000 14 70,000
DAS22EIHEA 2l 100,000, 0002 * 14 100,000
DEAMASZ2RAH LIS 100,000 20 2,000
02 55244 1,204,800 1,066,800
1) dSII, 2t A2
4,800,000 *12& *50% 28,800
1) FEALEH | 10,000,000& 122 120,000
1) 78 3323 77,000,000 12 924,000
1) 32, s2IHKF +2ldl)
11,000,000& 122 132,000
203 FEFAH 125,188 125,188
03 AIHFAHRFAH| 125,188 125,188
1) AREN N L A X2
4,000,000 x123] 48,000
1) QAU &8 8 RaAT|2 2HX 2
k=l 3,000,000& * 122 36,000
1) 7 S=A R 4,000,000 *43] 16,000
1) FFL=2 83 204 30,0002 *400H 12,000
1) gdzel= A=A 8,000,000 * 14| 8,000
1) 2&32l 2,500,000 *14] 2,500
1) 2 & FAMLES 224,000 *128] 2,688
307 elztold 513,707 473,543




2N B2
o NYEP AY st
o9 DL 23
_ _ HE T
HI . 2(SH) - MEAY - BY= Ao il i~ o
EEEE 513,707 473,543
1) &0l 294 200,234
2) NEE T 135,972
3) NEH(1722)
2,526, 1102 x80%*12& *1.05 25,464
3) BE2UWAH6SS)
1,581,530& »80%*6F 12& 1.05 95,651
3) HAR (45 2)
1,179, 1003 »100%+ 122 *1.05 14,857
2) MRIMHHI 16,980
3) NEZE 245,000 1H x 123 2,940
3) EKUWA 195,000 6E 123 14,040
2) BES0ts T3 Xa
20,0003 528 123 12,480
2) HEWA SAH| 28,0002 *6% * 122 2,016
2) HIAZ AL QI21Y]
17,7002 %1% #2120 462 2,231
2) CHAMI L AF 1A 4| 42,3503 x212L «6 5,337
2) RAZIREZ 135,972,000% *4.5% 6,119
2)2ALBHRYS
135,972,000& +2.54% 3,454
2) NgEERd2 135,972,000& *1.3% 1,768
2) MTHBEERHEZ 135,972,000& *1.872% 2,546
2) EIXEEB 135,972, 0002 +1/12 11,331
1) RHAN HAB
1,865,91021* 142 +122 313,473
401 Al HIZL 20| 1,640,800 1,489,500
A&l 1,200,800 1,489,500
N2EMN BF 1,000,000,000& * 14! 1,000,000
DRBIIHA 42 A0 R
15,000, 00021 #14] 15,000
NREA 22 SEA S2I| DA
9,600,000& =14 9,600
NER AS HB U HRASHULTA
27,500,000& * 14! 27,500
ORI S Nl SLRA
12,200, 00021 #14] 2,200
DREA ST BBWLDA
13,000,000 » 14! 13,000
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S =

chel:

£
NUss o2 25
PHAD 2

_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
NiH S 288 &AX2A
7,500,000 x1A! 7,500
NEAY Isd8 ™A
61,000,000 *14l 61,000
NREAL XY AX 55,000,000 1Al 55,000
02 el 440,000 0 440,000
1NREAL &5 22| 440,000,000 * 1Al 440,000
405 KHAHE SH 65,000 182,000 A 117,000
01 XL ESEFEH 65,000 182,000 A 117,000
NREAF AR EHH 2
3,300, 0002 * 1Al 3,300
g Her)] o 2P A0y
16,000, 000! * 1Al 16,000
NIV SH LS AIAH 5,500,000 x 14! 5,500
1)abEAl TV OH 2,000,000 = 1CH 2,000
NCIXE 88SAHI 9,700,000 »1CH 9,700
) HEXE P (AN 28,500
2) £E(5¥) 28,500,000 *1CH 28,500
THYHEOS =X 9,000 34,000 225,000
201 LEr2AH| 9,000 34,000 225,000
02 2229 9,000 34,000 225,000
PR o5l 9,000
2)& =289 5| 4,000,000 1Al 4,000
2INSEE AT HI (L)
2,000,000 14! 2,000
2INSESANSEAIHI(ELY)
3,000,000 x1A! 3,000
Uste BIEE X4 467,542 500,638 33,096
Al 45,864
KHR 421,678
Xel T 42,900 43,400 A500
303 ZAZ 42,900 43,400 A500
01 Za= 42,900 43,400 2500
1) DISEEE24 A2 500,000 x15H 7,500
1) 28I A 500,000 x5H 2,500
1) REE DR A2 200,000 x60H 12,000




FA S0
g ALy A8 23t
£l dote SHEE 24 =Sakr=1=0
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
1) “200ICIA Y Al&S 20,900
2) ey 1,000,000 »5& 5,000
2) *+¥ 500,000 »18& 9,000
2) Zaiy 300,000 23 6,900
gEaEsFdE A 30,000 48,000 218,000
203 ER =2y 10,000 10,000 0
03 AHFUHPIRFLH 10,000 10,000 0
1) 38 - S0ELa A
5,000,000% »22l 10,000
303 2= 20,000 38,000 218,000
01 Za= 20,000 38,000 218,000
1) ZHEAT A 1,000,000 =108 10,000
1) SUEAT A 1,000,000 *10& 10,000
lAtZte] 23 348,778 409,238 260,460
101 1Ay 289,538 290,518 2980
10 JIZtNZ22NSE* 289,538 290,518 2980
1) CH A 1 = 289,538
2)212Y 1,004,620 20 ~ 122 262,709
2)=eos 2E3 262,709,000% *4.5% 11,822
2)=UALEHRES
262,709,000& +2.54% 6,673
2)1ELEHRES 262,709,000% *1.3% 3,416
QNMWEERES 262,709,000 *1.872% 4,918
201 Ler2gy 5,880 3,360 2,520
01 Ars2telbl 5,880 3,360 2,520
NeIAIRI RS 2l 70,0003 +7 & 123 5,880
203 ER =AY 3,360 3,360 0
03 AIHFIHRFAH| 3,360 3,360 0
NeIARI RS 29 240,000& *62 1,440
NZEXze & =2y 160,000 x123] 1,920
303 Za=s 50,000 112,000 262,000
01 Za= 50,000 112,000 262,000
N2 & MRS =8|
5,000,000& 10 50,000




2AM: SR
Yy Az 25
t?: 2l BAEE =4 (ctel-&3)
_ _ PSEN=
2N -3 - c2(3H) - NEME - HES AFoH Om/?o” Hns
SEAMPIE 2 45,864 0 45,864
Al 45,864
201 B3| 36,504 0 36,504
Al 36,504
01 AR 22|l 30,504 0 30,504
NSEEAMEIZE 29| 30,504
2) AR 22| 200,000& =122 2,400
Al 2,400
2) RN 2
7,000& *3H 20 *12& 5,040
Al 5,040
2)ANRAAUZ 780,000& x12& 9,360
Al 9,360
2)AFR 4 22l 364,000 122 4,368
Al 4,368
)X U2 778,000& x12& 9,336
Al 9,336
02 =32ZH| 6,000 0 6,000
NEEAIHYE2 EE=IN]]
500,000& x12& 6,000
Al 6,000
202 (44l 9,360 0 9,360
Al 9,360
01 =2WAbI 9,360 0 9,360
NEEAIHYE2
20,0002 *3H * 13« 12& 9,360
Al 9,360
ot ME:HFHOI 24 971,940 700,640 271,300
NEuUs 2435 120,000 119,600 400
201 B3| 116,600 115,200 1,400
01 AtR22id] 116,600 115,200 1,400
NS St 12,000
2)tU 2 Al 300,000& 123 3,600
2) W =HI(F4lH 10,0002 *70H =123 8,400
1)E=QX SS9 mE=1 20,000




A i,
Mol NYY 9 st
CHol: 245 MPHMOI UM 9 HA)
- _ _ N e
CHI . GR(SH) - MRAY - BAS Aol e o
2)9I& WS 50,0003 x5 *60H 15,000
APADS ImE= /PPN =1
200, 000& x5 Al 2t x53] 5,000
122X W0 MEgds
200,000& *100Y 20,000
N 21AH0IH 1S 2,500,000& x12& 30,000
NE& (To3tdI0l 29 100,000& 250 25,000
NEZEAMUIA & WS
300, 000& *4 Al 2t+82] 9,600
203 YRF&Y| 3,400 3,400 0
03 AIMZFXAR =Y 3,400 3,400 0
1) S22 ASAE F2A 500,000& *23| 1,000
Nusd: =1 200,000 * 123 2,400
RAE W= 734,000 469, 100 264,900
201 L3 379,000 179,100 199,900
AtS2tel | 379,000 179,100 199,900
N2AE s3URI |2 A=
200,000& 150 30,000
NS L 2N|I2 S WS
200,000& 200 40,000
1)58 S&2HUE us 1,500,000& =10 15,000
NAAZNEHs &4 300, 000& 500 150,000
N22Y s38 &Y 9,000
2)90 U= 1,000,000& +x3& 3,000
)30 U=R 1,000, 000& *3& 3,000
2)20 u= 1,000,000 33 3,000
NUE & gsad X 135,000
2)4s0 L AloIBiO XA
500,000 x25% x25+ | 25,000
2)NE 4EM 43 DS
1,000,000 *40H 28t J| 80,000
2)0isrd XA 1,500, 000& =10 28 J| 30,000
202 O4Hl 355,000 290,000 65,000
=L bl 90,000 80,000 10,000
NWE0d 60,000
2)220|& A 300,000& *100 30,000




FA S0
o XYHY A 25
tel: 248 M2HFOl 2Y S=fakr=5=0
_ = AT
SN -3 S2ARAH) - MFAY - BES Ofl &F <4 Ol A o8 HluSZ
)M S Al 2AE 100,000< *300% 30,000
DRSSl 300,000 *100& 30,000
03 RALL0iHI 30,000 210,000 A 180,000
1) M2 (f5)L2 M2 243
3,000,0002 10% 30,000
04 =MS0iHI 235,000 0 235,000
N22g Iy =2 235,000
2)718 A HHAs 3,500,0002 x20% 70,000
2)NEME (&8H]) 1,500,0002 x40% 60,000
2)RHE X E (BHErl) 1,000,0002 *30% 30,000
2))IEtB R0 2,500,0002 30% 75,000
QIR A HI A B 117,940 111,940 6,000
201 L2yl 1,400 3,800 2,400
01 AtR2t2lH 1,400 3,800 A2,400
NEINYIASY 293 2+
70,0002 *5& *43| 1,400
203 RFA| 2,400 3,000 A600
03 AIMFAYRFAY] 2,400 3,000 A600
1) ZESA g2FN 200,000 * 122 2,400
301 LetEaz 500 500 0
12 JIet=a3 500 500 0
1) 2RE HIFMHIANHE 2a
5,000& %1002 500
303 EAS 8,640 8,640 0
01 Za3 8,640 8,640 0
1) 240H= BEST 32 AlY
100,0002 x2& » 12 2,400
1) QS =L gl 2424 & A2
2,600,0002 x23 5,200
1) 2@ Fz galol 20,000 *523 1,040
307 gI2t0IA 105,000 96,000 9,000
05 QIZtelg3 105,000 96,000 9,000
NN ER0 1S 2¢
1,750,000 x5 122 105,000
MY SMET ¢ 95 - =X 3,220,443 2,638,294 582,149
HNASMST N 3,146,163 2,556,014 590, 149
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_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
101 o124t 48,605 43,194 5,411
10 JIZAH22ASES 48,605 43,194 5,411
DEEEN= 48,605
2)EAE oY 35,0008 «7H 180 44,100
)=moidaRea 44,100,0002! *4.5% 1,985
)=R0AAYLERYS 44,100, 0002 2. 54% 1,121
2)DEMEERES
44,100,0002 *3. 172% 1,399
201 ZBH2EH] 233,400 155,500 77,900
01 AFR2r2IH] 225,400 149,500 75,900
NEFASAAL 29 191,400
2)2532dA ols2&elt
69,0002 * 1,600t 110,400
Q)AAS LA 2 U= (GHH)
150,000 » 1841 x30 81,000
NHAEHA ARz 1,700,000& = 10CH 23] 34,000
02 232 8,000 6,000 2,000
NAYAEEE KA 8,000,000& * 14! 8,000
202 o4t 80,000 0 80,000
04 =2HIZ0ib] 80,000 0 80,000
N2YEZ2A A2
1,000, 0002 x40 x23] 80,000
301 LErENE 30,210 30,210 0
12 JIEI2 A3 30,210 30,210 0
NEJATE et 2FSEE HE 30,210
)P HEFE 25,0008 *20% 30 *23 30,000
QMTHEE R 30,000,000 %0. 7% 210
303 Z=aZ 2,609, 100 2,111,110 497,990
01 Za3 2,609,100 2,111,110 497,990
NESIEA DL Xl 22X 4
100,0002 *30% 3,000
1)U-think tank XIQHEOtEH T 4,500
2)191~10% 150,0008 *10 1,500
2)11%1~359 100, 0008 +25% 2,500
2)36%1~45% 50,0002 * 10 500




FA S0
g ULy A5 23t
Eelr N S4ST & 23 - X 8 (Ch & 3)
_ = HET
SN -3 S2ARAH) - MFAY - BES Oll & <4 Ol A o8 BlusZ
DA 2828 X
50,000% x220& < 12 132,000
NesE sNHNE 29 2,469,600
Q)AEE =X HAE
1,800,000 1,372& 2,469,600
307 212tol & 19,148 0 19,148
05 2SS 19,148 0 19,148
nuozsls FE= 19,148,000 14| 19,148
401 AlSHIZL2OHI 17,000 27,000 ~10,000
01 Al&H] 17,000 27,000 210,000
DNRUAE 17,000
Mg =g d2 2w
17,000,000 =14 17,000
406 KtaHF SHI 108,700 189,000 280,300
01 MM =SFHSH 108,700 189,000 280,300
N2& aEd 7Yl 33,400,000 «3- 2+ 100,200
NIUAE 257 8,500
2)3¢h && 04 4,000,000 * 14 4,000
2)HEIZ IHE UMD 4,500,000 * 14 4,500
oz €8 A 59,000 67,000 A8,000
201 LetEgll 22,000 22,000 0
01 Ar=2teldl 22,000 22,000 0
1) 2AZHl &3] 22,000
2) AL+ 70,0002 *10E %52 3,500
2) d7+¢ 70,000 «10E *53] 3,500
2) G{EZAHHI 15,000,000 14| 15,000
203 R =AY 25,000 33,000 A8,000
03 AIHFIHRFAH| 25,000 33,000 28,000
1) 23gs gRFa 25,000,000 *14] 25,000
304 ozRE3ES 12,000 12,000 0
03 M FE= 12,000 12,000 0
1) Ab 8,000,000 *14] 8,000
1) &l 4,000,000& *14] 4,000
SLALSXE 25 N 15,280 15,280 0




FA S0
I NUHE ofer Ay
ol M@l FMSX Y ol - X 8 (£ e)
_ _ - NEc
S ZH L SRA(BH) - HIRAY - BHES Ofl &t o 0l A o1 HRE2
201 2et=g 5,280 5,280 0
02 ===94l 5,280 5,280 0
1) A2 PA 440,000 x1&+12& 5,280
203 YLEWH| 10,000 10,000 0
03 AIRFIHIFIY| 10,000 10,000 0
1) ZRU=SXE YLEX
1,000,000& *102] 10,000
22 HAL 2 309,028 190,223 118,805
a2 HAF A2 309,028 190,223 118,805
101 el 30,578 29,705 873
10 JI2N22NSEF 30,578 29,705 873
1) Relgl2 daoe 30,578
2) 12Y 32,0003 #221 x*90 L *4 2] 23,040
2) FE2RsE 32,0003 *1.5+2& xb4 5,184
2) =pd=RE3 23,040,000 *4.5% 1,037
2) FoAARESYI
23,040,000 *2.54% 586
2) DB(M)2ERSS
23,040,000 +3. 172% 731
201 etEgH| 166,450 143,518 22,932
01 At 2telbl 50,750 47,173 3,577
1) 2et=2H| 3,000
2) NS E 500,000& 62! 3,000
1) &, == 23,750
2) 2lgl 2 XY 50,000& x110& 5,500
2) ToIsR SHY| 50,0008 x3652 * 124 18,250
1) eh=ZH] 2,000,000& 12 24,000
02 ZZegy| 115,700 96,345 19,355
1) AlE &HIs Xl 13,700
2) extiznH 3,000,000 * 14! 3,000
2) dsJ| M2 2,500,000& » 14| 2,500
2) LAY BY 1,000,000& 1] 1,000
2) At E TN 200,000& * 12 200




FA S0
g ALy Az Lt
Etolr oI5 2 FAF 2e (Shel: & @

_ _ _ Muo
M- B8 co(3H) - MRAY - B Ao Sl ko HRs2
SRS 200,0002 *14] 200
2) 2Y &SR 2,500,000& * 14! 2,500
2) ARE HBSRLI 2,500,000 14! 2,500
2) OOt =&l 100, 000& »2CH x4 2] 800
2) SMARXLI 500,000& *23| 1,000
N3=22=2 £ HMA 8,500,000& ~12& 102,000
203 YRFLAY| 1,200 1,200 0
03 AIMFAHR =LY 1,200 1,200 0
1) POIsl2 HAIZE YREZ
100,000& 123 1,200
401 AlSHIL 20| 93,000 15,800 77,200
01 A&l 93,000 0 93,000
PO ARS WEI| DHSA
30,000,000 14! 30,000
)25 BAY SUE D7
23,000,000& * 14! 23,000
R EUE W 30,000,000& » 14! 30,000
PO BYS Y YDA
5,000,000& =14 5,000
1)7olg2 ZXE W 5,000, 000& * 14 5,000
405 XHAHFE SHI 17,800 0 17,800
01 T ESHSHI 17,800 0 17,800
1)= A 08 8,000,0002 *1CH 8,000
1) A D] 204 3,000,000& = 1CH 3,000
1)0A% 7 7208 6,300, 00021 *14} 6,300
1CIXIE o2t 204 500,000 = 1CH 500
HY2IHH(ZR2M) 16,322,216 14,444 372 1,877,844
22| 15,613,016 13,696,532 1,916,484
A2GHI(OI23E) 15,613,016 13,696,532 1,916,484
101 oI2ty] 6,345,047 6,321,789 23,258
09 RIAHAZZXNE = 6,345,047 6,321,789 23,258
1) FEA AIZZ2(Z2D) 157,766
2) Jlea 1,300,000 x4 123 62,400
2) &3 1,580,000& *4H x43] 25,280




A
X XH .
(=

chel:

2 0% Ot
J2 04 40
HO Ho &
08 02
oY
(=
O
40

=]

il

x

22
J2

=
2
i
10
4

['\.l

o
e
ru
40

e
—>|£
10
w

82,830& *1/8x20 Al 2+ x4H « 123

=g 82,8303 x4 H x 15
] 55,2203 x4 H 18
100,000& »4H 122
110,000& »4H «12E
] 1,580,000 x75%*4 H %23
= 280,000 »4H 128
=g 70,0002 x4~ 128
60,0002 x4 x 128

50,000 x4 & 123

4 B 1,580,000& x1/2+4%H x33]

] 10,000 x4 & »23]

ANE22(ZS2D)

1,300,000 x5 «12&

1,580,000& »5H *43

UL

82,830 *1/8*20Al 2H+4H x 12
82,830 x 110 #2&

4
o

Jon
A=
3>
o

55,2203 x5&H 20
100,000 x5 * 12

110,000& x5 x12&

JHdl 1,580,000 »75%*5H *23]

&= 280,000 x5& 123

60,0002 x5&H 128
50,000 x5 12
] 1,580,000% »1/2+x5%H x33]

=g 70,0002 x5 128

Gkl 10,0003 5 »23]

1,300,000& 15 x12&

1,580,000 x15F #43]

9,940
4,970

3,976
4,800
5,280
9,480
13,440
3,360
2,880
2,400
9,480
80
207,285
78,000

31,600

9,940
18,223

5,522
6,000
6,600
11,850
16,800
3,600
3,000
11,850
4,200
100
659,237
234,000

94,800

20
B
2




2H: 2D
Y WHSAAY| (B2
¢ leEE2g|
SN HB - S2(3H) - MEAY - BAS O &b o e
2) Ntel2eay
82,830% x1/8%x20 Al 2tx 15 12 37,274
2) §4224¢ 82,8302 110 15 %1/2 68,335
2) dKRIsIEE 55,220& x15H 18 14,910
2) sAH| 100,000 15 = 12& 18,000
2) o Hi 110,000 15 =128 19,800
2) 9ESJH| 1,580, 000& *75%* 15 x23] 35,550
2) XHASHHIE Z4=¢ 443, 1003 *3H *4 3| 5,318
2) 2EIHAS 280,000& x15H x12& 50,400
2) s 80,000& x15H x12& 14,400
2) A 50,000& x15H x12& 9,000
2) JHAI X2 dI 1,580,000& x1/2% 15 *33] 35,550
2) o=y 50,000& x15H x12& 9,000
2) MAXMA LY 70,000& x15Hx12& 12,600
2) HEcad| 10,0003 *15H x23| 300
1) E2AEES(ES) 573,820
2) Jlea 1,300,000& * 13 x12& 202,800
2) A2 1,580,000& x13H *43| 82,160
2) AN2te2e4<
82,8302 x1/8%20 Al 2t x13H x 12& 32,304
2) 542244 82,8302 * 110 %13 %1/2 59,224
2) dXRIEIIEE 55,2203 x13H 18 12,922
2) =4d| 100,000 * 13« 12& 15,600
2) o Hi 110,000 *13H x12& 17,160
2) HESIH| 1,580,000& x75%* 13X x23| 30,810
2) ANHESHHIE X4 443,100 *4H x4 3| 7,090
2) 2GS 280,000& * 13 x12& 43,680
2) JIE5x4 80,000& x13H x12& 12,480
2) FMx=e 50,000& x13H x12& 7,800
2) JHAIXI&dl 1,580,000& *1/2%13H x33| 30,810
2) el =y 50,000& x13H x12& 7,800
2) AXH LS 70,000& x13H x12& 10,920




SA: 223
M HH2EAY(Z2D)
ch: QA2 A
SN EY O (BH) - MRAY - BLS Aol e
) M= eyl 10,0003 * 13 x23] 260
Sd=X2e (3= 1) 2,844,705
) JIe3 1,300,000 x66H x12& 1,029,600
) A03 1,580, 000& *66 X 43| 417,120
2) Nzt R4g
82,8303 *1/8%x20 Al 2t 66« 12& 164,004
2) §d2Rg 82,830 110 «66%H «1/2 300,673
2) dAXtR=F/I==¢ 55,2003 x66H 18 65,578
2) =4l 100,000 x66H * 12 79,200
2) of 4 110,000& »66H x 12 87,120
2) YEFIHy 1,580,000 *75%*66 % *23] 156,420
2) HESHI x4 443, 1003 x4H x4 3| 7,090
2) 2583 280,000 66 12 221,760
2) is=¢ 80,0003 x66H 122 63,360
2) Mg 50,0003 x66% 122 39,600
2) JtAXIAd] 1,580,000 *1/2+66 % *33| 156,420
) &Y 70,0003 x66% 122 55,440
) Myl 10,000 66 23] 1,320
23| E 40t U2l (250 43,475
es 1,300,000 x 1 123 15,600
JESHOE=, 1,580,000 x 1 x43] 6,320
)2t 2244
82,830 *1/8+20 Al 2tx 1Y » 12& 2,485
)5 LR AIZE 82,830 * 110 *124*1/2 4,556
2)AII=R2 &= 55,220 x1H »18Y 994
2)= 4l 100,000& *1H 123 1,200
2) 04l 110,000& 1E = 12& 1,320
2)HE SOt 1,580,000 *75%* 18 »23| 2,370
2)2HIHM S 280,000& 1HE=12& 3,360
)XY 70,0003 x1H«12& 840
2524 120,000& 1H =12 1,440
)R Mg 50,0003 x1H«12& 600




SN SR
I HY2ISLI(S2D)
B9l oI5 29| (Shel: & @
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
2) AR & H 1,580,000 *1/2x12H 33| 2,370
)M=Yl 10,0003 x1& *23] 20
1) O=dl 100,000& 1044 10,400
1) A2 100,000 %104 10,400
1) DE2E2RH3 4,550,307,000%! *1.3% 59,154
1) [AYLELLS
4,550,307,0002 *2.54% 115,578
)= RES 4,550,307,0002 *4.5% 204,764
1) SR 4,550,307,0002 * 1% 45,504
1) AAWHELEES
4,550,307,0002& *1.872% 85,182
1) g&83 4,550,307,000 *25% 1,137,577
1) 3UEAT A 300,000 =108 3,000
NEsE=EINE 29 187,200
2)ABERRNEAE 1,800,000 x104& 187,200
203 €R =2y 187,380 176,800 10,580
01 JIZ=gg=F=ayl 137,500 125,000 12,500
1) 28E 78,100,000 <1 78,100
1) 278% 56,100,000 =14 56,100
1) gy2e=d 3,300,000 =14 3,300
02 AP I Y| 40,520 41,180 2660
1) 3otat3 40,520
2) 100ENtX| 80,000 100 8,000
2) 101~300¢ 60,000% x200& 12,000
2) 301~600< 45,0002 *300& 13,500
2) 601~800< 30,000& x200& 6,000
2) 801~868Y 15,0002 =68 1,020
04 FASIERFA 9,360 10,620 A1,260
1) PASSYLFTHI(ZA 1169)
780,000 122 9,360
04 ASFE=S 9,080,583 7,197,943 1,882,646
01 H=*FE=s 7,541,090 5,766,649 1,774,441
1) 73 4,783,938




SN SR
M BH2HAL(Z2D)
¢ leEE2g|
SH-EH . O3 - MBAY - BAS A e
2) g2LE=2 S 3,504,802
ASK 497,236,000& *0.73*15.285% 55,482
== 22,310,963,000& *15.285% 3,410,231
HRAFE 24,774,000 *15.285% 3,787
P [SLES 316,379,000& *x0.73%15.285% 35,302
Nage 1,228,459
A=K 497,236,000& *0.73%5.3575% 19,447
== 22,310,963,000& *5.3575% 1,195,310
HRAFE 24,774 ,000& *5.3575% 1,328
H kX 316,379,000& *0.73%5.3575% 12,374
2) MolE2ae 50,677
ASH 497,236,000 *0.73%0.221% 803
3) E=2H 22,310,963,000& *0.221% 49,308
HAZE 24,774,000 x0.221% 55
H ek 316,379,000& +0.73%0.221% 511
PN 622,750
2293
7,777,930,000& *15.285% , 188,857
e
7,777,930,000& *5.3575% 416,708
2) MHol2AaE
7,777,930,000& *0.221% 17,190
Pl 758,257
2) d=282dg32 555,512
A=A 67,087,000& *0.73x15.285% 7,486
3)E=H 2,865, 127,000& *15.285% 437,935
3) H2H 720,255,000& *15.285% 110,091
ML 194,712
3) A=A 67,087,000& *0.73x5.3575% 2,624
3) E=2H 2,865, 127,000& *5.3575% 153,500
3) H el 720,255,000& *5.3575% 38,588
2) MofE2ate 8,033
3) g=H 67,087,000 *0.73*0.221% 109




SN SR
Tu: WEeURY (521)
£l el 2| (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
3) 22N 2,865,127,000& *0.221% 6,332
3) A 720,255,000& *0.221% 1,892
1) 723 176,145
2) H3RE= 129,046
3) A=l 67,087,000& *0.73%15.285% 7,486
3) =H 795,286,000& *15.285% 121,560
2) ElX+ERYs 45,232
3) 9= 67,087,000 *0.73%5.3575% 2,624
3) E=H 795,286,000& *5.3575% 42,608
2) Mal2aRg3 1,867
3) HEH 67,087,000& +0.73+0.221% 109
3) =N 795,286,000& *0.221% 1,758
1) 2Xx203 200,000,000& » 14! 200,000
02 2ALEES 1,539,499 1,431,294 108,205
1) & 986,219
2) =N 510,910,000& *2.54% 12,978
2) E=H 37,886,524,000& *2.54% 962,318
2) Mgz 42,204,0002 *2.54% 1,072
2) A= 387,816,000& *2.54% 9,851
1) SAIRA 12,134, 117,000 *2.54% 308,207
1) B24 149,940
2) A=H 68,932,000& *2.54% 1,751
2) E=H 4,818,103, 000% *2.54% 122,380
2) A2 E 1,016,091,000& *2.54% 25,809
1) 723 35,210
2) HEH 68,932,000 *2.54% 1,751
2) 22N 1,317,247 ,000& *2.54% 33,459
NEAJIYRLZ 1,479,576,000& *4.05% 59,923
Jl2&Hl 709,200 747,840 A 38,640
=&l 709,200 747,840 238,640
201 BH2EH] 347,520 320,400 27,120




FA S0
I HYR2ISLI(S2RD)
Eel JlE 3l (EH & 3)
_ = HET
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
01 Atz 2l 347,520 320,400 27,120
DAz Let=2H| 13,000,000 x 122 156,000
1) JI2g2F8 SEH
7,000 x202 * 114 « 12 191,520
202 0fH 361,680 427,440 65,760
01 =LHOIbI 361,680 427,440 265,760
1) Jl2g2Fx ol
20,0002 *114& =13 122 355,680
NEREAl 01204l 500,000 «12& 6,000
HWegs (52 500,000 0 500,000
WEHHXI= 500,000 0 500,000
Telg2IIsSHES 500,000 0 500,000
02 JIsdES 500,000 0 500,000
01 JIsdE= 500,000 500,000 0

500,000,000& 14! 500,000




SN

2 FORXIDIEE Zat
& FUXXHEH 845t (el &)
_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
EX PN DN 13,250, 145 8,902,400 4,347,745
= 2,221
Al 7,792
AHA 13,240,132
FOIREXI D18 23t 8,842,074 5,068, 159 3,773,915
FUXXHE 2435t 4,601,307 1,065,765 3,535,542
O XXIEE S o3t 473,560 455,560 18,000
201 Lt 117,700 117,700 0
01 At 2&eld] 97,700 97,700 0
N=QRXAE 23 HB
2,000,000& 214 & 42,000
NZFQUXXMEH HEE 2
200,000& 214 Ef 123 50,400
NFUXNIEH 22 2HL A (2
) 50,000& x50 2,500
NFQUXXMAE BILESHI
70,000% 108 »43] 2,800
03 A& 20,000 20,000 0
NFURINZZ2 IS HAUS L HZHAS
20,000,000& 13l 20,000
203 YRFLAY| 30,720 30,720 0
03 AEMFAHRFAH 30,720 30,720 0
NI ME HRFE|
30,720,000& * 14! 30,720
301 erEa= 321,040 303,040 18,000
12 JIEI2 A3 321,040 298,440 22,600
NFLUNXME T2 ZAIZ
1,000,000& 122 «2141 &H 252,000
NF0XNXAEH HASAZE
5,000 «6H «4L 122 218 H 30,240
NFUXXME SSIEZZ2 I 2F 2AIE
25,000 »52F= x5 x 1 Al 2201 A 13,000
NFUXNINMEH 2E2AHI =3Ws A
=3 200,000& +2H 83| 3,200
NFLUNXME A s 4,600
2)etetsl &It 20,000 x5 »21 4l EF 2,100
2)2GRAX AN ()
50,000& 50 2,500




SN
X XH .
(=

chel:

_ _ ME o
2N -3 - c2(3H) - NEME - HES Ol & 'oﬂ/'\_WH HunsZ
1)F0NXYS 0SS /AL
18,000,000 *1 Al 18,000
303 EAZ 4,100 4,100 0
01 Za2 4,100 4,100 0
1)FOIXXHE SESEHIE AlA 1,700
2)E R 500,000 * 141 £ 500
2)R% 300,000 x24I £ 600
2)& e 200, 000& 341 E 600
NREE T2 AIA2 200,000 * 12 2,400
SEHA 2 He 373,800 375,700 A1,900
401 Al&HIYL 20 305,500 307,700 A2,200
01 Al&t] 305,500 307,700 A2,200
NEAN B8 195,000
2)=SABE AR 1, 22, 49)
45,000,000 *1 Al 45,000
2)3 &AL JHE =2 AH(AH0)
15,000,000 *1 Al 15,000
2)SH4sS Xloted=3 A L AIENA
100,000, 0002 *1 Al 100,000
2)0RAS JEIELE (A2, AH3 - 4
) 20,000,000 * 14! 20,000
) A E I ZAHAHS - 4S)
15,000, 000& * 1Al 15,000
NAHSZ 45 24 FEE BABAM
18,000,000 *1 Al 18,000
DoAY AX 2,000,000 * 1041 E 20,000
1NESEAI RXOHAE RcHy|
15,000,000 * 104! £ *10% 15,000
)PS0 ARZE A|ZIHE S|
1,500,0002 57 A 7,500
NAAR S AXEEH B4
50,000,000 *1 Al 50,000
405 Ko S 68,300 67,000 1,300
01 RALESEF<=H) 68,300 67,000 1,300
1)SF2HE ™ &Y 204 68,300
2)2ol0l2A9 I I (BE22)
25,000,000 =1CH 25,000
2)ZAME I 20K (BH) 1,500,000 *1CH 1,500




S R PASN T,

M ZEOITAIOIS 2 et
chel: EOINXIME E45 (e &2l)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
ARERESIETTEY )
2,300,000 *2CH 4,600
2)AIM ROH(42) 200,000%! * 14 200
2)hetd| R0§(5F2, 419)
3,000, 00024 *4CH 12,000
2)PLUANHY B2 SE0H
5,000, 00021 *5JH 2 25,000
A% el=el X8 43,200 38,400 4,800
201 L2yl 16,800 14,000 2,800
01 AFR22lt] 2,800 0 2,800
NYZAXH ANBTSARE 4+
70,0002+ 10 *43] 2,800
03 A2 14,000 14,000 0
1A% ol=0l 28 HE A
4,000,00021 %14} 4,000
NAFS=0 02y B0IY =X
10,000, 0002 * 14! 10,000
203 ARFXY| 1,000 1,000 0
08 AMEXLREIY| 1,000 1,000 0
NAFe=0l R 1,000, 0002 * 14! 1,000
01 YsBAZ 25,400 23,400 2,000
12 Dl a3 25,400 23,400 2,000
1)AFS=0 BRODY SME
25,0002 ¥ Al 24 #5225 x34 23,400
NAFe=olst=0ina M|
2,000,0002! +14} 2,000
FOSE o QY ARNAD X 210,747 196,105 14,642
201 L2yl 210,747 196,105 14,642
01 AF=Rarelt] 192,100 184,458 7,642
NZEoIS=SLE Ui 155,100
2)EYE 448 3,200 %48, 000% 53,600
2)esE 5,00024 *300% 1,500
NEIRNA o ZoISE ARl 22
1,000, 0002 * 122 12,000
eIy 2 FUSE SE2 SN 2
25,000, 00021 +14] 25,000
00 B2 18,647 11,647 7,000
ZoIS=gY 25 2HE
40,9009 2.07+0.73+82% +1.07 5,423




S R PASN T,
M F=LXXIDIE 2Et

Crol: ZEOITXIMEl 245 (EH9: &)
_ _ _ Muo
SN -BH - S(B) - MRAY - BES 0f &k il b o HRE2
N2gY 25 BaEa
40,9009 %5730, 73+342 %107 6,224
NESZYLII ALY XSS
5,000, 00021 * 14! 5,000
RoIASZI| SAB4 2,000,000 14 2,000
A32S SIA 2T 3,500,000 0 3,500,000
401 Al&HIL=0HY| 3,500,000 0 3,500,000
01 AEH 3,500,000 0 3,500,000
1)SEHA EXHAH 3,500,000,0008 14 3,500,000
FOBNE SO A SHY 2 4,154,254 3,881,562 272,672
st 28 SIS 108,750 108,435 315
203 YREM| 2,700 2,700 0
03 AHEZILEAY| 2,700 2,700 0
N7E SF MK ALE 2,700,008 14 2,700
01 YprEaz 106,050 105,735 315
12 JIEr2A3 106,050 105,735 315
NSY 7Y SIS
25,0002 +70% %302 +23] 105,000
NEFHER 4HESE 105,000, 0002 * 1% 1,050
sem g5 X8 2,715,597 2,711,222 4,375
201 Lur2 | 43,200 43,200 0
01 At 43,200 43,200 0
NYeE 48 MH 4,800%1%9,000% 43,200
203 YREY 2,000 2,000 0
03 AHFEALLEA| 2,000 2,000 0
DEER-IEI=E 2,000, 0002 %141 2,000
01 YprBaz 2,670,397 2,666,022 4,375
EEEEELE 62,807 62,212 595
DEIXE FotZ 46,7002 %7032 % 10%+23] 62,807
05 S-2-B¥ESTN 2,607,590 2,603,810 3,780
SerE st 2,607,590
2)SHLY 200, 0002 #7032 * 12 1,687,200
2)8013 200, 0002 *703% *200% 281,200
AEEEVES 20,0002 %23] +703% * 128 337,440




S FUXA D
& EOINXIDIE 23
Ciol: ZOIHNE Sot AWE SHY Pe (B9l &)
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_FOH Hlws2
2) B E B A 25,0002 x23| %6, 0352 301,750
S#y 29 N 225,453 137,996 87,457
201 Y2yl 123, 153 35,69 87,457
01 Al=aeldl 123, 153 35,69 87,457
NEEZY 4,000
) EEE 5,500 *4007H 2,200
2)&TH 300,000 %671 1,800
NAE Z2E SN 950,000% 122 11,400
IESIEN 15,176
2)Jt20 7,0002 %2, 0007 14,000
2)SHA HLRD 28,0002 22 7| x21 T} S 1,176
NeIRE 2gay 8,120
)P0 BEAASIRS
70,0002 x5% * 13| 350
2)I S AL SR 70,0002 x4 1] 280
2)=8H0l2 0l NE g
70,0002 x2284 x43| 6, 160
2)FUSHE HP Ao3 70,0002 x7% * 18] 490
AR 70,0002 x4 33| 840
NETEHZ 2 Byl 79,457
2)2 20l 4 b 224,466 K Cif » 1002 22,447
2) &l 4 ORI & | 80,0002 *37} A 217 S 5,040
2) =™ Tl 20,0002 x2E+21 4 S 840
2)SF= Ol 10,0002 7035 & 7,030
2)QIZ) BOI U HE W
100,000 x21H S 2,100
2)JIEt MHIS(HE, BUE S)
2,000,0002 *21H S 42,000
DAY E22(2EY, TAH S)
5,000,00024 *14! 5,000
203 REXY 100,600 100,600 0
CIREEEEES 100,600 100,600 0
NER2DE S SHAXL
1,500,00024x21H S 31,500
FEQE A U ATALY EX
28,000,0002 * 14! 28,000




SN FOIRA D
M EOITAIOIE 2at
o9l EOIZOIE St AVE SHY 7 (5 &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
NEHFXE 25 800,0008 * 122 9,600
)00t Hat 2 BB
1,500, 0002 %2174 S 31,500
303 Za3 1,700 1,700 0
NEEE 1,700 1,700 0
1)Z=0IME BEB T4 1,700
2)x 2% 500, 0002 * 141 E4 500
2)2 4 300, 0002 241 E4 600
2) &2 200, 0002 *341 Ef 600
AYSIEFHI KI2 836,454 712,049 124,405
201 LPr2y| 5,920 4,420 1,500
01 AFRarelt] 2,420 920 1,500
NI RPN
70,0002 62 13| 420
DABISHS TS B 8K R
10,0002 +2002 2,000
03 A2 3,500 3,500 0
1)MOFS SR A X & 3,500, 00024 #14} 3,500
203 AREXY| 6,000 6,000 0
038 AEZZAL=aY| 6,000 6,000 0
1ASIEHH X2 =& 6,000,00024 +14} 6,000
01 YsrBAZ 83,443 69,029 14,414
EE P! 47,762 45,463 2,299
V=S = GERE-E =
446, 70021 +Q90 S *43] 2. 7% 47,762
04 KESLHHASIY 26,400 14,400 12,000
NIELHH 2 200,0002 115 +122 26,400
12 JlErE A 9,281 9,166 115
DMOIEXNEX BRI 9,281,0002! *14) 9,281
307 BI2t0IH 741,091 632,600 108,491
03 MBS HEES 741,091 632,600 108,491
1) ALSI EHRI 2 = 2 (pool ) 741,091,0002 14! 741,091
YHE TV 2Y 268,000 211,880 56, 120
201 L2yl 138,000 146,880 28,880




£ =0IRXI
B ZDIGRDIE 28
Gl ZOIBOIE S5 AV SHUE B CLE-E
SN -ZH A (ZH) - MFAY - BES O AF K dd T BlusZ
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
02 232934l 138,000 146,880 28,880
1)CCTV ME3lH AIES 160,000 *72CH *6 & 69, 120
1)CCTV &MII23 700,000& * 123 8,400
1)CCTV S Xl & 2l 120,000& =420 x12& 60,480
401 A &HIZ20YI 130,000 65,000 65,000
01 A&l 130,000 65,000 65,000
1)CCTV=DF & X 13,000, 000& = 10CH 130,000
M= g2 F& 86,513 120,812 A 34,299
M==A 22| 86,513 120,812 A34,299
201 Let3| 50,391 84,191 233,800
01 AtR2teltl 50,391 42,691 7,700
NMZ=4L X & E22 M 37,500
2) Xl = = X} 70,0003 *500= 35,000
Q)EBE 50& x50,000% 2,500
NAHEA 2t JA AR EH] 2,341
Q)EHEIYE ML RAUE=>
6,642,0002 8% 532
2)CIXIEIOIE R 4,005, 0002 8% 321
2)ANEEZH SANES 3,600,000 *B8% 288
2)UBHEFALX & A2 204
100,000& =123 1,200
NMEALLAASE 32 70,0003 x5 % 33| 1,050
N=% £24 2,000,000& 204 A+ 1 4,000
NACIELS E24 2,500,000 « 13 * 104 & 2,500
NMZF=4L E2 2HQ MEY
3,000,000 * 14! 3,000
203 SR F&H| 1,000 1,000 0
03 AIMFAHS =LY 1,000 1,000 0
DMELAY FX 1,000,000 * 14! 1,000
401 AEHILL 0 35,122 35,621 £499
01 A&l 35,122 35,621 A499
NEZYE, ASHSE FXE= 15,250
Q)2 sE RAUES
5,530 %13, 7400 2 *5% 3,800




2AMK: F=0IXX
Sz FOIXXI D8 235
G MTA 92 =X CER:E
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- (=] * - = (=] o = O:H/d_% Wsa
BEEEEIENEES
200, 000& *1, 145l 2~ *5% 11,450
NZEFY ASHEE 25
6,900 *2, 880 &~ 19,872
Mo & Tt 232 =28 245 825,174 762,253 62,921
= 2,221
Al 7,792
XA 815,161
olgk2] LAl St 90,907 89,202 1,705
= 2,221
Al 7,792
Xt A 80,894
JIBFAIE OHAE A 22| 73,100 82,248 A9, 148
201 LBr2d9d| 44 500 23,000 21,500
01 AR 22|t 44 /500 21,500 23,000
1)018r 234 HMZ 4l 1,000,000 «12& 12,000
NEXE 2dH 2| 23,000
2)= &H| 7,000 +500H x2A1 x3 21,000
2)2tAlH| 2,000,000 x4l 2,000
fyolgre = gl 7,500
2)olere= 25,000 x250H 6,250
2)2 Xt 5,000 *250H 1,250
1)eletel WEAH X 1,000,000 x4l 1,000
NSNS Asta R 1,000, 000& x 1A 1,000
203 YR2F&AH| 2,000 2,000 0
03 AIMFANAI=XIH| 2,000 2,000 0
1NEIEA(SRNASE) H2PR =0
2,000,000 1Al 2,000
206 M =Hl 2,000 7,940 A5,940
01 M4 2,000 7,940 A5,940
1NoIet WEI|IXH 2 2,000,000& x4l 2,000
01 YerEAZ 24,600 42,828 ~18,228
12 JIEIE A2 24,600 42,828 N 18,228
1)212r9l 0| 3,600




SA
X XH .
(=

chel:

JEIE T (BIH) - MEAY - B2 Aol e 2t
2)0l 8t 10,0003 *360 3,600
PEETELE
100,000 *70A| 2+ *3H 21,000
A NFHA 17,807 6,954 10,8583
= 2,221
Al 7,792
DS 7,794
201 2et2AH| 7,401 6,954 447
= 2,221
Al 2,589
KEAI 2,591
01 AtR22ld] 7,401 6,954 447
1)01er2 9] 281,000& *x63] 1,686
= 506
Al 590
AP 590
1)erere( 5,715
2)EUHE 10,0003 *475YH 4,750
= 1,425
Al 1,662
KEA 1,663
2)=52 1 193,000& 5 H 965
2 290
Al 337
KEA 338
206 M= 10,406 0 10,406
Al 5,203
DS 5,203
01 =4l 10,406 0 10,406
1)0l 8t &Y 10,406,000& =14 10,406
Al 5,203
KEHI 5,203
o2 e| 23 734,267 673,051 61,216
222 R 2 734,267 673,051 61,216
201 2uEdy 1,500 0 1,500




M =RURXI 2
M ol R Mt =7 s L3
CHel: Zol22e| 585 (Bt &8l
_ - MEg
K- Z3 . S2(3H) - MPAY - B Y= e Oil &k o8 s
01 Atf2teld 1,500 0 1,500
NZA2LQAUIIA TATY
15,000& 1002 1,500
301 YBtEa= 732,767 671,251 61,516
09 ZBUA2RRIABLH= 732,767 671,251 61,516
NSUAZRLA oAy 97,500 x 155 « 12 181,350
1)BA2228 A
5,000& 212 260 128 327,600
N3U2F2e WSl
1,8003 x212 x155H «12& 70,308
NEZ 0 1,800% *212 x260H 122 *50% 58,968
DEEPNE:] 300,000 & *312H 1 %1/2 46,800
NAILEAZ 36,226,000 312 +0.05% 5,652
NEWEAZ 8,050,000 *312Z *0.33% 8,289
M= & Ak 10,0003 x220F 13} 2,200
1) Il =8l 400, 000& 794 31,600
HEY2FZH| (MRS E ) ,478,340 3,071,988 406,352
=23 240,420 224,620 15,800
SF0HE 2F 23| 236,220 220,420 15,800
203 HRF&H 236,220 220,420 15,800
01 JI22dPR=8] 149,000 135,600 13,400
NZF0HH JI22Y 149,000
2)el3 3o Olets 6,600, 0002 =134 & 85,800
2)e13 38t Ol& S 7,900, 0003 841 & 63,200
02 ZFJAIHRFEY| 11,020 11,020 0
NS IRz 11,020
2)100Y X 40,0003 =100 4,000
2)101¥ - 334 30,000 +2344 7,020
04 BEA2IALRFEH 76,200 73,800 2,400
NFRHEH 2 22 76,200
2)15% 0lIadt 250,000& * 104 Ef x 123 30,000
2)30¥ olst = 350, 000& 114l Ex 12 46,200
2IXHXI 2t el 2E | 4,200 4,200 0




S FRIXAD
XN XH: S

S Tt (=}
chol: ol

ol HI (cr5l: &2
_ _ SIEN
SN HB L H(FA) - HRAY - BES Off &k 08 il i~ o Hmz2
203 ALEAY| 4,200 4,200 0
04 FASIALETY| 4,200 4,200 0
N 2H 222 350,0008 +122 4,200
pIEEN] 3,237,920 2,847,368 390,552
SZUME 2HI|=2HY| 3,116,720 2,738,648 378,072
201 Lsr2y| 1,914,320 1,536,248 378,072
01 AFe el 838,320 602,400 235,920
DRt 1,100,000 %214 Ef 128 277,200
DR Ze| 7,002 x202 x334% + 122 561,120
02 ==l 1,076,000 933,848 142,152
N=222 2 HAl 70,000,0008 122 840,000
NEADIA S 2t
(1,350,00021 * 1641 Ef x4 2 ) +(700, 0002 *541
Eix4g) 100,400

A ZHI S XY
(150,000& #2141 E = 12& )+(5,000, 0000 *12

) 97,800
1) X2k d 2h] 150,000& +21CH =122 37,800
202 044 1,202,400 1,202,400 0
01 U0l 1,202,400 1,202,400 0
N ol 20,0003 x 15 «334H « 122 1,202,400
FOXXI Y 29 Fdl 121,200 108,720 12,480
201 LEH=2 | 55,680 43,200 12,480
01 AtR2cibl 55,680 43,200 12,480
NFLXX 0 #H2e 1,700,000& 122 20,400
NFUXX L = S
7,000 x202 x21H «12E 35,280
202 OdH 65,520 65,520 0
01 2ol 65,520 65,520 0
NZFLIXX D =A 04|
20,0003« 13 «21H ~ 128 65,520
SEs A2 104,557 0 104,557
dHEg 104,557 0 104,557
&4 3Hl N& 104,557 0 104,557

308 XXIESHMSOIH 104,557 0 104,557
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SA T OI= 0l A1t

I J|E 2

el PE2Y F8 Il (SHol:®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
J| &0l &1t 63,554,084 63,269,735 284,349
= 240,621
Al 887,000
AHAI 62,426,463
J|& 22| 1,171,431 1,090,816 80,615
2329 & JE 144,620 111,620 33,000
=48 J|&gl g2 ¢ 113,200 81,200 32,000
201 LBtEAH| 66,200 42,200 24,000
01 ArR2t2|bl 66,200 42,200 24,000
NPREL2Y MUES M 59,200

4,000,00021 %14} 4,000
2)FREBOIYR MIKE 4,000,008 1A 4,000
)P =B E MIEIE
10,000,000% * 14! 10,000
2IMOHSEl ZRtXIERE IR
5,000, 00024 +14} 5,000
2)PFIIE E22 o4 5,000, 0002 +33] 15,000
2)2009 PE A HI & 20,000, 00021 *14] 20,000
2)A B TR 300, 000! #43] 1,200
NoANUNSIANAE 2
70,0002 x25% x43] 7,000
203 Y=Y 9,000 9,000 0
038 AEZZAL=aY| 9,000 9,000 0
s 2| 2 21| 9,000

2)FRURN U YRHOAREIYR
=3y 4,000,00021 %14} 4,000

,000,000 * 14 4,000

1,000,000& 14 1,000
207 SAOHEH| 30,000 30,000 0
02 &A&HIHEH 30,000 30,000 0
NTEEZELEIDICIO M
30,000,000& 14! 30,000
405 RHAHE SH 8,000 0 8,000

01 A =SEFHSHI 8,000 0 8,000




A I 0l At
g O

o9 PFSY T J|= CLEE)
= X XH Ctol (o (=] o HASZ OH X‘—-IL‘EL‘:— =2}t
=

NE=ESZUM O (A1)

8,000,000 = 1CH 8,000
sz ay 21,420 20,420 1,000
201 LEH2AH| 11,420 10,420 1,000
01 AtR22/H] 11,420 10,420 1,000
NEg2A2Y 11,420
)20 X B4 35,0002 122 420
AN S) 2=
11,000,000 * 14l 11,000
405 KHAHE S 10,000 10,000 0
02 S MTHI 10,000 10,000 0
NHIxIe 47 10,0002 % 1,000 10,000
SI2XAXESTHEHX 10,000 10,000 0
306 == 10,000 10,000 0
01 =4z 10,000 10,000 0
NSNS HE L0 HE =62
10,000, 000! * 1Al 10,000
A L Azl 456,796 460,003 A3,207
X7 LdHXA 13,816 17,023 A3,207
201 LEr2YH| 13,816 17,023 N3,207
01 At222iH] 13,816 17,023 A3,207
NHAE ==Y 13,326
2)Us 2 HHE ==Y
75,050 «125] * 102! 9,006
2)Istol2SHHHHAE IS
16,0002 x123] * 10&! 1,920
)ESHHHAT ==H| 200,000 *123 2,400
NAMIHEALK S 70,0008 x7 % %13 490
SALR X 2 442 980 442 980 0
201 B2 AH| 129,980 129,980 0
01 AtR22/H] 129,980 129,980 0
1) A& 93,000
2)BIAFA S H 45,000,000 x 14! 45,000
2) A A EH 45,000,000 x4l 45,000
2) S AbA S 3,000,000 x4l 3,000




SA T OI= 0l A1t
g O

ol UK U ABAL (E+9): @2

_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
NHENSHS A D22
220,000 9% 122 23,760
NEHEDNSHSAI A2
220,000 *9H *100% 1,980
NHENRZ 8,240,000 x1A! 8,240
NASIZES 3,000,0008 *13] 3,000
203 A2 =ZH 5,000 5,000 0
03 AIM=RAR=ZY| 5,000 5,000 0
NASASHEIZHLREEH| 5,000
2)E2rUESH| 30,0002 «10024 3,000
2)HMES LA ALY 2ERH|
2,000,000 x1A! 2,000
303 HAZ 8,000 8,000 0
01 ZaAZ 8,000 8,000 0
NASSZINZAS 200,000 1021 43| 8,000
305 Hia=2S 300,000 300,000 0
01 HHa=2s 300,000 300,000 0
NHH A2 (A E) 300,000,000 * 1Al 300,000
2E WE 22 570,015 519,193 50,822
oot 104,515 40,998 63,517
201 LEr2YH| 43,403 27,998 15,405
01 AtR22/H] 43,403 27,998 15,405
NOANS 2SCME HE
38,483,000 * 1Al 38,483
NEINWEHEY A4
0,000 x6H *23| 840
NEXAIY Ao =g 70,0002 *6 X x43] 1,680
NETAIY AoAR AMALE
100,000 6 H *4 3] 2,400
203 YR F=ZFH| 13,000 13,000 0
03 AIME=XAD=ZY| 13,000 13,000 0
NUHAMBEARS X 5,000,000 x1A! 5,000
Nolat2e L HE2A A2 =2
5,000,000 x1A! 5,000
NEIMEHE L XA R=X
3,000,000 x 14! 3,000
403 KRXESHER=Z201H 48,112 0 48,112




A I 0l At
g O

Cel: AM HE 28

SN -ZH A (ZH) - MFAY - BES O AF K dd T BlusZ
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
02 I/ 2SOICHEHCHE At I 48,112 0 48,112
NXASMNEHES AIEH 2 48,112
2)243Hl fe=2 15,534,000 * 14 15,534
2)B 223 32,578,000& * 14 32,578
As=2Z 465,500 478,195 A 12,695
101 @IAH| 25,500 23,469 2,031
10 JIZtHZ2 2 X 25,500 23,469 2,031
NHASIHEE
4,000& x5A| 2bx5H 255 25,500
201 er24g 350,000 354,726 N4, 726
01 AtR2teltl 350,000 354,726 N4, 726
N2 2XAsS29| 300,000,000 * 14! 300,000
1NJ254g 50,000,000 * 14! 50,000
202 Oidl 50,000 50,000 0
01 =Wodl 50,000 50,000 0
NI|Aseg 50,000,000 * 14! 50,000
203 HRF=&H 20,000 30,000 A 10,000
03 AHFXHRE 20,000 30,000 A 10,000
1)J12 AR H
20,000,000& * 14 20,000
303 EAZ 20,000 20,000 0
01 Z&3 20,000 20,000 0
NHlAEESD 20,000, 0003 * 1A 20,000
2928012l 57,149,594 58,313,787 21,164,193
= 240,621
Al 887,000
DS 56,021,973
ol 2| 57,027,434 58,189,467 A 1,162,033
= 240,621
Al 887,000
AN 55,899,813
S22l 4,200 4,200 0
203 HRFA 4,200 4,200 0
04 2HM2H = 4,200 4,200 0




S D18 ol A
H: WH2A A (D20 &)
o QlEHY| (ete: &
- _ _ ME
2N -3 - c2(3H) - NEME - HES 0 Ak oH anou BlusSZ
NEASIARFH 350,000 122 4,200
olA2AH|(BE) 57,023,234 58,181,067 A1,157,833
=2 240,621
Al 887,000
XA 55,895,613
101 Q124 51,002,447 52,093, 132 21,090,685
=2 240,621
Al 887,000
N 49,874,826
01 Jlez 29,046, 115 29,872,291 A826,176
s 21,710,620
)82 (AsH) 497,236
)P 81,676,000 x1H x1.0152 82,918
NERHE 77,703,000 x 1 x1.0152 78,885
)= 66,082,000 x5 x1.0152 335,433
)22 (E2H) 19,642,022
3)YErs HAN A 15,761,119
4)53 (305 2) 2,961,300 x30H < 122 1,086,068
4)63 (285 2)
2,534,500 x135% « 122 4,105,890
)73 (2158)
2,099,800 #3042 » 122 7,660,071
Al 840,000
XHAI 6,820,071
4)83 (125 2)
1,537,000 * 124 « 12 2,287,056
= 165,946
XHA 2,121,110
4)93 (55 2) 1,028,900 52 » 122 642,034
=2 74,675
XHA 567,359
RPIEES 3,880,903
4)63 (305 2) 2,576,200 x2% » 12 61,829
)72 (255 2) 2,223,100 *21H 122 560,222
4)83 (208 2)
1,855,600 1252 « 12¢ 2,783,400




S DI04
B #HSAAH (I 0HAD)
Erel: oz 2| (29 &2
SN - B S(3) - HRAY - BAS P e HlmE 2
A 47,000
XA 2,736,400
4)92(1582)  1,505,0002x242+ 122 433,440
4)102(1082) 1,167,002 x324+ 128 42,012
2)ma+g 19,642,022, 00021/ 1250.96 1,571,362
s 7,335,495
2)23 6,792,125
3)e ey 6,709,853
4)52(082) 2,961,302 =21+ 128 746,248
4)62(2852)  2,534,5002 *42% * 128 1,277,388
172 (2158)
2,099,802 1192 <128 2,998,515
4)82(1282)  1,537,0002*502+ 122 922,200
4)92 (53 2) 1,028,900 x622 122 765,502
3)Is= 82,272
4)62(3022) 2,576,202 12+ 128 30,915
472 (2552) 2,223, 1002* 1212 26,678
4)82 (2022) 1,855, 6002 6% 11,134
4)92 (155 2) 1,505, 0002 9% 13,545
PSRN 6,792, 125,0002 *1/12+0.96 543,370
02 +g 9,850,616 9,978,252 A 127,636
107 6,605,660
2)EV2R4Y 3.299,025
JeerN( gENEE) 3,299,025
4)53 9,796% *30% %57 Al 2+ 122 201,014
4)62 8,312 * 1352 +57 Al 24+ 128 767,531
473 7,457 +304% 557 A| 2+ 128 1,550,579
4)82 6,682 » 12421 +57 Al 24+ 128 566,741
4)93 5,993%! x5224 457 A| 2+ 122 213,160
2)JI5% 799,303
3)63 8,3128 %22 457A| 2+ 122 11,371
3)72 745725212457 Al 2+ 128 107,113




A JI= 0l &2
M HE2HAH (D& 0 A
chl: QA2 A
DA - E - SSI(B) - MIRAY - BAS Of 4 o e
- o= ° I T ° - (= S = &= 0:”/.:"%
3)8= 6,682 x 125 x57 Al 2+ 12 571,311
3)9= 5,993 x24H 57 Al 2+x 128 98,382
3)102 5,422 3 «3H +57 Al 2t+ 123 11,126
Q)gd2Rag(HAaXEd, FHIY) 264,907
3)ls72 56,1753 *3F +110 18,538
3)J1s82 50,3373 *14Zx110 77,519
3)JIs9=2 45,1473 x34F 110 168,850
21524 603,380
3)BH Xt 40,0003 +827H 122 +0.78 309,629
NEX 20,0003 827G 12& +0.4 79,392
3l 20,0003 +827H 122 *1.08 214,359
2)XHH &t =g 260,873
3)Estn 62,4002 827 H x4=Z J1*0.19 39,220
) IE=1=1am] 446, 7003 x827H 42 J1%0. 15 221,653
2)82=gore2 758,160
3)25 0l & 130,000& *120H » 12 187,200
3)20= 0l & 250 2¢
110,000 *89H » 123 117,480
3)15E= 014 20 0] 2F
80,0003 240 12 230,400
3)10= 014 1540/ 2t
60,000& x274H «12& 197,280
3)5E 014 10 0] 2F 50,0003 x43H 122 25,800
Q)RYHSRASY 50,0002 *10E = 12& 6,000
Q)iiRERA
19,642,022,000& *0.048+0.49 461,981
DErYR LY 152,040
PNegR2ag 52,080
4)52 50,0002 x6H 122 3,600
4)6,7= 30,0003 »84H x 12 30,240
4)8,92 20,0002 76 H «12& 18,240
=L RGNS 33,840

4)21 = Ak 50,000& x6ZE 12 3,600




A JI= 0l &2
M HE2FHHI(I1E 0l 4Dt)
&Rl el 2|
SA - HB . CR(B) - NRAY - BES 0f &k S
. = T ° - (= (=3 =5 0:”/&_%
4)J1s&,JIA 30,000& x50 122 18,000
4)6EH DAL 20,000& x518 123 12,240
RYPNR=PE-RS e = 40,000 *59E 123 28,320
g R~y 30,0003 x990 »12& 32,400
JHME R 50,0002 x9H 123 5,400
ns 2,564,947
Q)= 224¢ 1,469,145
3) LA 1,469,145
4)53 9,796 H x21H +57 Al 2+ 122 140,710
4)6= 8,312 x42H +57 A| 2t 128 238,788
4)7= 7,4573 « 119 +57 Al 2+ 122 606,970
4)83 6,682 x50 +57 Al 2t 1228 228,525
4)9= 5,993 x62H x57 Al 2t x 12 254,152
2)tE=< 226,907
3)HH< Xt 40,0002 x311H x128 +0.78 116,439
NES 20,0003 *x311H«122+0.4 29,856
bl 20,0002 x311H 128 %1.08 80,612
2)XHH & = 98,104
3)sstn 62,4003 *311Z 4= J[+0.19 14,749
3)NSst 446,7003 *311Z x4=2 J1%0. 15 83,355
2)82+go13 303,000
3)25 0l & 130,000 *57F x12& 88,920
3)20E 0l & 2501 8F
110,000 & «42EH « 122 55,440
3)15E 014 200 2¢
80,000 x118H 12 113,280
3)10 014 154 0]t
60,000 388 123 27,360
3)5E 014 10&0Iet 50,000% *30E 123 18,000
QRS RAY
6,792,125,000& *0.048+0.49 159,751
2)E4YP4Y 308,040
JplgRe 30,000 x130H x12& 46,800




A JIE 0 A
B WHSYHYI(II20) 4D
el e 2| (298
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
=22 70,000 +«311H~12& 261,240
DTSR = 500,000& »30E « 128 180,000
NYHE =+ 50,000, 000& 10 500,000
03 A=A 1,775,280 1,887,600 A112,320
N=.sad 130,000& *1,138H « 122 1,775,280
04 WS=2xHl 1,715,880 1,818,600 A102,720
N=. S8 1,715,880
2) LA (EEHAILE) 1,436,400
3)52 140,000& «51H « 122 85,680
3)6.7= 130,000& 600 <122 936,000
3)8,9= 120,000 288 12 414,720
2)J)Is3 279,480
3)6.7= 130,000& 25 « 122 39,000
3)8~10= 120,000& x167& «12& 240,480
05 ZFESIH 2,643,416 2,720,692 NTT,276
NYEEFOtI 2,643,416
2)7 19,642,022,0009 *1/12%120% 1,964,203
2)s 6,792, 125,000 *1/12%120% 679,213
06 JHAHXIZHI 4,405,692 4,534,486 N128,794
1) A X & Bl 4,405,692
2)7 19,642,022,000& *1/12%200% 3,273,671
2)s 6,792, 125,000 *1/12%200% 1,132,021
07 ¢II2 4| 1,115,098 839,538 275,560
1) Ot AtH] 1,115,008
AEEN
497,236,000 *1/12%1/30% 152 *0.66 13,674
2)7 19,642,022,000& *1/12%1/30% 15 818,418
2)s 6,792, 125,000 *1/12%1/30* 15 283,006
08 JIEtRE = 450,350 441,673 8,677
NEAZE 43,694
2)JI2=(2188) 1,789,400 x 18«12 21,473
2)82¢ 21,473,000 *1/12%90% 1,611




A JI= 0l &2
M SR (OIH M)
&Rl el 2|
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o8
2)=¢ 9,128
3EV2R4Y
6,6823 x1H«57 Al 2tx 123 4,571
tEE 1,200
4) Xt 40,0002 x1H 122 480
4)E=H 20,0003 »2H «12& 480
4)8l= 20,000 x1Z ~ 123 240
JAEEH BT+ 2,037
4)Esn 62,400 x1H *4F J| 250
4)Ns8tn 446, 7003 x1E 4= | 1,787
NFI2H>E 1,320
4)20= 0| & 110,000 1 x 12 1,320
2) M ZAlY| 130,000& 18 x12& 1,560
2) WS 2 A 120,000 1 x 122 1,440
2)" H SOt 21,473,000& *1/12%120% 2,148
2) LA K& 21,473,000 *1/12%x200% 3,579
2) 010kt At
21,473,000 *1/12%1/30 15 895
2)X 24 A| 1,860
R S =t | 105,000 1+ 12 1,260
3elEsyl 50,000 x 1~ 123 600
DE SRS 406,656
2)H S 316,379
3)Jt= 59,764,000& x1H *1.0152 60,673
3)Ch= 43,884,000& x1H+1.0152 44 552
3)et= 38,501,000 x1EH*1.0152 39,087
3)0t3 33,898,000& x5E *1.0152 172,067
2)=¢ 50,256
JNxU=2RAY
316,379,000% *0.5%57 Al 2t %3/ 452 70% 41,893
NtEE 5,838
4) U Xt 40,0003 *8H x12&+0.78 2,996
4)E=H 20,0002 x8&H x12&+0.4 768




A
X ZH
(=R I

el

|

Ju X Jor
HOMHO =
02 02 I
Ty

re o2

2
J2

20
R
J2H

62,4003 «8H 42 J1+0.19

446,700& x8H »4= J1+0. 15

130,000& »8H «12&

400,000 x 18«12
155,000 x1& «12&
140,000 x1E *12&
105,000 «5& 128

50,0002 x7&~128

2,074
2,525

380
2,145

12,480

8,701
14,640

4,800
1,860
1,680
6,300

4,200

2,596,740

2,703,120

106,380

750,000& x 18«12
600,000& x1&«12&
350,000& 5H «12&
100,000 =30 12

150,000& 21 128

750,000 x1&8~12&
650,000 »1&H «12&
400,000& x5+ 122
250,000 »30E 123
155,000& 137« 122
140,000 325 122
105,000& 325 « 123

95,0002 x3&H x 128

111,000
111,000
9,000
7,200
21,000
36,000
37,800
1,849, 140
1,344,540
9,000
7,800
24,000
90,000
254,820
546,000
409,500
3,420

504,600

111,000

1,935,480

0

A 86,340




M JIE 0l &k
M HE2HAH(IIE 0l
Crol: olei2 oy S {8
SA - Ao (F) - NEAY - Ba S Ao S H RS2
0l &4 08
2)52 250,000 »21H x12& 63,000
2)6=2 155,000& *43H 123 79,980
2)7= 140,000& *120H » 12 201,600
2)8,93 105,000& 127 F « 123 160,020
03 SR =4 636,600 656,640 220,040
12 &=l 50,000& 827X x12& 496,200
nolsgga 150,000& *7H = 12& 12,600
NEREL SR 50,0003 x5 x12& 3,000
N3FALNEE = 60,000 x5H 122 3,600
NZAZg322 80,0003 x20H x12& 19,200
NHNREYgs2A 100,000& *73H x12& 87,600
nanggae 50,000& x7E « 123 4,200
NaAH Heggds 22 50,0003 *x11H~12& 6,600
DR I=g= == 100,000& 3 x12& 3,600
303 ZAZ 3,389,047 3,349,815 39,282
02 dUa0a3 3,389,047 3,349,815 39,232
NEAHS 31,044,699,000& *1/12%131% 3,389,047
307 glz2told 35,000 35,000 0
07 A3X=23 35,000 35,000 0
NIl EASH 35,000,000 * 1A 35,000
Jl2Z&Hl 122,160 124,320 A2,160
Jl=23tl 122,160 124,320 A2,160
201 LBH2HH| 40,560 43,200 A2,640
01 At=R2teldl 40,560 43,200 A2,640
NEA2Y AR 1,000,000 x12& 12,000
NYEREE S| 7,000& 20 *17H =12 28,560
202 OiHl 81,600 81,120 480
01 3UAbI 81,600 81,120 480
NER=E A 20,0003 x20L *17H 12 81,600
= ETHE 22 4,647,195 3,865,132 782,063
ol gl Bl 4,647,195 3,865,132 782,063
oll gl Bl 4,647,195 3,865,132 782,063
.




A I 0l At
g sEHHE 2

el olldldl (el &)
_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
801 0ildldl 4,647,195 3,865,132 782,063
01 oilgldl 4,647,195 3,865,132 782,063
1nolgigl 4,647,195,000% *14] 4,647,195
HRES (&0l A 585,864 0 585,864
LHEHHXI = 585,864 0 585,864
ANE2e| s &85 585,864 0 585,864
309 =J1¥& 585,864 0 585,864
02 SAt-3 585,864 0 585,864
NAIE2te d=E
585,864,000 14! 585,864




2N EE2HSD
o RIER
o9 PHER HS (S5 &)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ofl AF o4 il b o bRz
E2HS D 5,517,200 4,820,450 696,750
| 8,879
Al 186,625
XA 5,311,696
eE L 1,289,990 984,755 305,235
IYEE BS 1,129,982 897,687 232,095
IHES 29 765,292 600,380 164,912
201 Ysregy| 735,292 560,380 174,912
RSN 735,29 560,380 174,912
NSUE Mg PS8
15,0002 +2, 7005+ 122 486,000
NN A2 BX PS8
15,0002 #2505 * 122 45,000
NAgae 1=g 2,000, 0002 * 122 144,000
Nz12 55,000,002 14! 55,000
)olE A3 BE S S20HAY
7,002 %3 %212 #1228 5,292
203 YREAY) 30,000 40,000 A10,000
CIEEREEETY 30,000 40,000 210,000
)7 QEER AREX
30,000,00021 #14] 30,000
23 222 2o 341,790 277,847 63,943
201 Ysregyl 339,630 275,687 63,943
01 ARl 339,630 275,687 63,943
NefRAMT 2% 22 309,000
D) EPAMK R 2
24,000,008 * 122 283,000
2)-APAMK HAE ME 2
1,200,002 * 122 14,400
2)SNED 208 50, 00021 *4% * 122 2,400
2)AAT HME 70,0002 *5% * 122 4,200
NER S 23 M oY - HH 26,430
2)3t2 ol 10,0002 %1, 000 10,000
)TN 28T 30, 00021 %2002 6,000
2)EE ol 11,0002 %130 1,430
2)= 20l E0I2 KX 3,000 %3,000% 9,000




SN E2HSD
Mo RFES
o PHER BS (£ &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
NAAX AWK S SloaA 2
70,0002 52 * 1231 4,200
203 ARFXY| 2,160 2,160 0
08 AEFZALEAY| 2,160 2,160 0
NAAMK BISE 29 80,0002 122 960
NEWIIX 23 29 100,0002! *12% 1,200
£ B2 22,900 19,660 3,240
201 Ygr2g| 8,000 18,000 0
01 AtR22lt] 18,000 18,000 0
NAZES AN S 29 22 18,000
20152 S M| 1,250,000 * 122 15,000
2)BS S AR(YNE)BE B3 7Y
250,0002! +12% 3,000
405 XtarFE S| 4,900 1,660 3,240
01 KHALSEFHSH] 4,900 1,660 3,240
1)3tHl2t 50 2= el
3,800,00024*1JH 3,800
1ASCIXIE o2t 1,100,000 *1CH 1,100
YuEs BE 160,008 86,868 73,140
D20 ME o 65,980 57,540 8,440
201 L2yl 58,820 45,540 13,280
01 AFRZ2lt] 58,820 45,540 13,280
)Jl2e 2 T2 HE S 29 17,500
2022, 20 ME 218
50,0002 x224 ¥523] 5,200
S U EUSY 2
1,500, 0002 * 14! 1,500
2)=3EIYUCD S 225 2
90,0002 * 128 10,800
NYE2 2IZH M 200,008 *32 523 31,200
NYER 458 2 ZEH FAWE
70,0002 523 3,640
NYSINSARE BFHL
70,0002 6% 43| 1,680
TS 3,600
2)EY X3 PY 100, 00024 *6% *23| 1,200
2)ESE oA 300,000 *43] 1,200




SA
X XH .
(=

chel:

_ _ MNuE o
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o bRz
)2 2XY| 300, 000! #43] 1,200
DAILIOIE O 29 10,0002 * 1231 1,200
202 o1t 2,160 0 2,160
01 =UHoTbl 2,160 0 2,160
1) 42 o1l 20, 00021 62 +2 2 <0 2,160
203 YREIY) 5,000 5,000 0
03 AMFZALFAY| 5,000 5,000 0
NOHYSSR 29 ALR=Y)
5,000, 00021 *14} 5,000
Yy NES 2K 22 94,028 29,328 64,700
201 L2yl 30,528 29,328 1,200
01 ARl 1,000 1,400 2400
NASCIQ WAL T 1,000,0002 13| 1,000
;2 T2 29,528 27,928 1,600
NBZR2 % MAl 3,200
@Y BHE L HA
2,000,0002! #14} 2,000
2R BN HBE MIIS2
1,000, 00021 *14} 1,000
Pl B3X SMR2
200, 0002 * 14! 200
AL ZE S 20,928
2)E2H N RN 22l 190, 0002 * 122 2,280
2)EHOIX RX el 58,0002 *122 1,896
2)EEE MIE(EH,DOSIZ)RN B
J 1,300, 0002 128 15,600
2)20l FHIAAY B8R 96,0002 %122 1,152
X SN A(SEH,BH S)
450,000 * 122 5,400
405 RArFESH) 63,500 0 63,500
01 XHALSEFHSH] 63,500 0 63,500
1)6IMENGHOil 24 20,000, 00021 #2CH 40,000
1)RHOIE 2,000,002 14! 2,000
NRESHAIAE 17,000, 0002 * 14! 17,000
1)=3%2 63 4,500, 00021 %14} 4,500




SN 2SS
M MBS |4
ol MEBHS B (S5l &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl &+ 04 il b o B2
MEHS S5 927,709 865,354 62,355
| 18,879
Al 186,625
XA 722,205
MEHS 25 920,509 718,754 201,755
| 18,879
Al 186,625
XA 715,005
ZOMBIT BN 2 49,840 18,840 31,000
201 L2yl 37,500 12,000 25,500
01 AFRarelt] 22,000 0 22,000
NS 20108 =3 22,000
2)TYIE, TAH S M
2,500, 0002 *43] 10,000
DJMAZY ARE 7Y 500, 0002 43| 2,000
RHRA Sl 7Y S
2,500,000 *43| 10,000
03 A2 Y| 15,500 2,000 3,500
DMSHS 20008 BAHIS 12,000
2)UTCHOI, AIBIXH SO0l 282
3,000, 0002 *43] 12,000
NHEL d2E ARSE 7Y £ 29
Hl 3,500, 0002 *14} 3,500
202 01| 4,000 0 4,000
01 =00l 4,000 0 4,000
DETEES VL 20,0002 ¥502 *43] 4,000
203 REXY| 6,840 6,840 0
03 AFZALRFZY| 6,840 6,840 0
DMSHS 2I|#A H2EX
1,000,0002 *43] 4,000
HMESUE 22 M2 2,840,0002 *14} 2,840
01 YuBAZ 1,500 0 1,500
12 JlErE A 1,500 0 1,500
NHS2 28 2AR
50,0002 x2A| 2t*153] 1,500
MEHS 2S X2 315,780 221,780 94,000




SN 22HSD
HH: MBS =4
ool MEXS 25 k)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 il b o HRE2
201 ZEr=3H] 4,980 3,980 1,000
01 AtS2cld] 4,980 3,980 1,000
12U MSBA ZeHIIS, 222 S NI
] 2,000,000& =14 2,000
NMEHMSSBX EE 55002 «24EH K152 1,980
NEMME 23 23 1,000,000& * 14! 1,000
203 HERF=4H 800 800 0
03 AIMFAHRFAH 800 800 0
Negns gdst d42F 800, 000& 1Al 800
301 LutEa=s 50,000 50,000 0
1 st - 2SRSELS 50,000 50,000 0
e BAT AEs 24
50,000,000& * 14! 50,000
307 2120IH 260,000 167,000 93,000
02 QtFAE X 133,000 122,000 11,000
NMEHE S&(PASEIFI|AFI B2
tal 8) 80,000, 000% *14] 80,000
DA SCHE A K& 30,000,000& * 14l 30,000
NIHZY TA 28 IR
5,000,000& * 14! 5,000
NEMeMsass Nd 18,000,000& » 14! 18,000
04 DIANHBARE 127,000 45,000 82,000
DREII| Hal(SH) & Ayl
120,000, 00024 *14] 20,000
N=2H, 2SS SIS 7,000,000& * 14! 7,000
HIOtNSwaA2SE 184,760 155,460 29,300
201 LEH23H] 15,200 10,400 4,800
01 A2l 10,400 10,400 0
N0l DA £UE - ERS RH
s 1,200,00021 *43] 4,800
DAY dF2A00l8 R BES WA S
24 600, 000& *43] 2,400
1)0I2 MBHEDA E22 HE S 29
a] 300, 000& *43] 1,200
7 4EHSDA 222 % S 294
2,000,000& * 14! 2,000




SN ESHSD
M MBI S4
Celr MBS B3 (649 &2
_ _ _ Muo
SA - HH . CA(BH) - HREAY - BY2 Ofl &F o4 il b o HRs2
EEEET 4,800 0 4,800
1OFFHIEDA AR QX2
100,000 *47H A 122 4,800
203 L= 3,680 3,680 0
CIREEEEES 3,680 3,680 0
NAHOIIES ARE 240,0002 * 123 2,880
DaZelold WA, sl S
400,0002 x23] 800
301 YeBA3 140,880 138,880 2,000
12 JIEIEAD 140,880 138,880 2,000
DAI20IEDA 29 BAR 82,680
NARY BAR
35,0002 #1710 & %2 Al 24523 61,880
2)eima LAR
100,000 %210 & ¥2 Al 24522 20,800
1)0F2F MEHZEDA 2% 2AR
500, 0002 *47 A +12% 24,000
)T MEHSDA 29 27,000
RASY TAR 25,0002 *8% 290 18,000
DAY AL ABE
25,0002 47} A +903] 9,000
DAl ATzoN0E 2F AR 7,200
22 YUAE 50,0008 *2A] 2H+48% 4,800
2)SAAUME 50,0002 *1A| 2482 2,400
401 AZHI L2 10,000
01 A& 10,000
1)0F2 MBHZDA AL T - 228
10,000, 0002 %14} 10,000
405 XA S 15,000
01 RALASEFHSH 15,000
DAI2IH0IE Cma ¥ gl
15,000,000 *14} 15,000
S MENSDAY 29 30,929
| 9,279
Al 10,825
R 10,825
301 YeBA3 30,929 34,486 A3,557




2N EEXNEH
Hm: MBS sS4
ool MEXS 25 Rk
SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
301 dE8AZ J| 9,279
Al 10,825
KEAI 10,825
12 JIEIEAZ 30,929 34,486 N3,557
1)s M8 HEus 29 30,929,000 x 14! 30,929
J| 9,279
Al 10,825
XEA 10,825
HAExwnasd 58,000 36,000 22,000
Al 40,000
KEAI 18,000
301 LBt A= 36,000 36,000 0
Al 18,000
KEAI 18,000
12 JIEIEAZ 36,000 36,000 0
NORI0l SR 29 13,600, 0002 %14} 13,600
Al 6,800
XEA 6,800
NEADNE 29 22,400,000 x 1Al 22,400
Al 11,200
KEXI 11,200
307 QIZtolA 22,000 0 22,000
Al 22,000
05 QIZIFE = 22,000 0 22,000
NHE=ERWA 29 22,000,000 x 1Al 22,000
Al 22,000
MEHSHAL 19,200 0 19,200
J| 9,600
Al 4,800
KEAI 4,800
301 Let8gAa3a 19,200 0 19,200
J| 9,600
Al 4,800
KEAI 4,800
01 A E&EE56= 19,200 0 19,200




S BREHSD
D MEHs 84
crol: MBS BA3 (crol &2
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree
NAAAS FLEUA MSHR™ALY
19,200,000& » 14! 19,200
| 9,600
Al 4,800
THA 4,800
Sl AR 2H 262,000 252,188 9,812
Al 131,000
AHA 131,000
301 Lptsazg 262,000 252,188 9,812
Al 131,000
AHA 131,000
11 =t - 2SRSELS 262,000 252,188 9,812
NE3F AIZEE 29 262,000
2)2121t| 165,976,000 * 14! 165,976
Al 82,988
AL 82,988
2)H3BER 10,416,000 » 14! 10,416
Al 5,208
A 5,208
2)2gHl ¥ &l 85,608,000& * 14! 85,608
Al 42,804
A 42,804
HEAL &5 - X3 7,200 146,600 A 139,400
HM=AE 22l 7,200 6,600 600
201 B2 I 5,400 4,800 600
01 AtE2teltl 1,200 1,000 200
NO=ss dsAE 22 100,000& =122 1,200
02 =294l 4,200 3,800 400
NDAIEEH 2XBI(TGSHE MSAE S)
200,000& x12& 2,400
nNaa32=2 2 MA 50,0003 *3 2 +12& 1,800
202 OdHl 800 800 0
01 =Wobl 800 800 0
NZEY 98 +FA ol
20,0003 »2%H 20 800
203 HRF&H 1,000 1,000 0




2N EEHSD
HH: MBS S4
ool FSAIE 25 TR (el @)
_ _ SIEN
SN EHGRA(BH) - NBAY - BES Ofl Ak 04 Sl ko HRs2
CIEEREEESY 1,000 1,000 0
DUSAL (BN S)LREZ
1,000,000 14! 1,000
HY2HZH(SEEMSL) 135,800 111,240 24,560
el | 4,200 4,200 0
ol 2y 4,200 4,200 0
203 Y=Y 4,200 4,200 0
04 RBN2IYRFLAY| 4,200 4,200 0
NEA2E g2F 350,000& *12& 4,200
Jl=2Z4l 131,600 107,040 24,560
Jl=&d| 131,600 107,040 24,560
201 Lt 54,960 38,400 16,560
EEE 54,960 38,400 16,560
NAIRE A2E(EH, 018 S) 20
1,500,000 x12& 18,000
1) = 7,000 x20L x22H x 12 36,960
202 O4Hl 68,640 68,640 0
01 =UofHl 68,640 68,640 0
NgERFT0I 20,0003 x22H x13 « 123 68,640
405 XHAHFESHI 8,000 0 8,000
01 XA ESESHSHI 8,000 0 8,000
NEGSAI(ZH) 8,000,000 *1CH 8,000
Heegs(E2ds) 3,163,701 0 3,163,701
LHEHHKXI & 3,163,701 0 3,163,701
Sctegy| 3,163,701 0 3,163,701
309 BIIHIAEEZ 3,163,701 0 3,163,701
02 SAt-SHAANEZ 3,163,701 2,859,101 304,600
nNas2gl 3,163,701,000& * 14! 3,163,701




SA: D
Bu: =
i

chel:

_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
NSNS 8,609,460 9,138,103 528,643
2HE DSSIAY =T 8,221,032 8,510,751 £289,719
NSNS 226,960 2,312,760 12,085,800
NSSHMY S DSTES 30,000 2,124,600 12,094,600
201 YLpre | 10,000 298,200 288,200
01 At22r2l| 10,000 58,200 148,200
2R NS 822 HME S
10,000,000 *14! 10,000
203 YRFAY 20,000 24,000 /4,000
03 AIMEXLDEXY| 20,000 24,000 4,000
NISAE YREX 20,000,0002!*14] 20,000
NELHAAS 2Y 7,600 8, 160 1560
201 ere gl 5,600 6, 160 560
01 A2l 5,600 6,160 1560
1) DRLHALS A8 Y
70,0002 +20% x43| 5,600
203 PRETH| 2,000 2,000 0
03 AIMETLSEXY] 2,000 2,000 0
1) DSLULAAS Y2FA 500, 000! 43 2,000
2HRR g2 50,000 50,000 0
203 YRFAY 10,000 10,000 0
03 AIBEXLSEXY] 10,000 10,000 0
NRADE YREX 10,000,000 *14! 10,000
301 LerEAa 30,000 30,000 0
08 SIBIEH 0Tt 30,000 30,000 0
NIZHLEN G2 ==3Y
30,000,0002! *14] 30,000
306 =92 10,000 10,000 0
01 B2 10,000 10,000 0
NEXNLRASH MW 012
10,000,000 *14! 10,000
DSEXNER LTS X 130,000 130,000 0
307 ©I2r0ld 130,000 130,000 0
05 BIZHRIES 130,000 130,000 0
1) SBE L O HAE DFAY N
130,000, 00021 * 14} 130,000




2N DEIED
Hu: 23 DSEPANY 22
ol ISAS (&9 d2)
A -3 -H2A(SH) - HEAMY - BES O AF K %ig; Hlws2
2Fs DRED BINAS 2 3,360 0 3,360
201 Lpr2 oy 3,360 0 3,360
01 Al el 3,360 0 3,360
Negsy 70,0002 * 1224 *43] 3,360
CHBHIAl H 23l Il 6,000 0 6,000
201 Lpre oyl 6,000 0 6,000
EREEET] 6,000 0 6,000
1)IHEUAl B3] R
6,000, 00024 *14} 6,000
HEDSHH 7= 2,969,277 1,024,380 1,944,897
201ZIDAL H) KT ALES 550,000 0 550,000
308 XHXIEHHI SO 550,000 0 550,000
06 WEIIZNUEEE 550,000 0 550,000
1)20121 DA Q124 Hl 50,000, 0002 * 112 550,000
A0 A0 BAEE 2 1,453,677 0 1,453,677
201 Lpre oyl 4,000 0 4,000
01 A=zl 4,000 0 4,000
1)AOD A0l sHarsts B2 S
4,000,0002 %14} 4,000
307 212401 1,449,677 0 1,449,677
SEEEEE 1,449,677 0 1,449,677
1)2010 A0l FHasts Slet 2|
28,6002 *4,224% x 128 1,449,677
0120l & HAE WAL 544,000 634,000 A90,000
201 Lpr2 | 44,000 44,000 0
01 Al ell 44,000 44,000 0
1) 0210l ¥ HAW DSAIY A
2,000,0002! %14} 2,000
1) ZESM AOIHDS 448
7,0002 *500% * 122 42,000
307 PIZHolH 500,000 590,000 A90,000
SEREEE] 500,000 590,000 90,000
1) L0l U HAE DAL
500,000, 0002 * 14! 500,000
A0I0IS BHAUD 2 380,000 380,000 0
307 212H0IH 380,000 380,000 0




SN DSVED
Hu: 2FE nsSTAY 27
o9l H2USUK 75 (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
GEECEE 380,000 380,000 0
1) BHYHBE 2 380,000, 0002 * 14! 380,000
TR YOIHAEE 38,000 0 38,000
201 LPr2 | 18,500 0 18,500
01 AFR2elt] 18,500 0 18,500
NAASIE g 3,000, 00024 +14} 3,000
Y| D HA KT 2,760,0002! *14} 2,760
DHEIH T2 29y
4,000, 00021 %14} 4,000
B2 WX S A RIEHRY]
8,740, 00021 *14} 8,740
01 YurBAZ 1,500 0 1,500
12 JlErEAa 1,500 0 1,500
)20 BAEIY 28 2015 2A2
1,500, 0002 * 14! 1,500
307 212H0IH 18,000 0 18,000
05 BI2SIES 18,000 0 18,000
DENEIE 6,000, 00021 *14} 6,000
DETESET 12,000,0002 * 14! 12,000
IFEIES 2Y 3,600 3,600 0
201 L2yl 2,000 3,600 A1,600
01 ARzt 2,000 3,600 A1,600
E2S MX S M| 1,000, 0002 *23| 2,000
01 YREH 1,600 0 1,600
12 JlE A= 1,600 0 1,600
12018 BHOHY =G 40,0002 x22 x203] 1,600
SnxHYL 5,024,795 5,173,611 A148,816
st Al X 3,729,785 2,797,681 932, 104
201 Ler2 Yyl 840 1,260 A420
01 AFR2elt] 840 1,260 A 420
N2YLY(MARIE =)
70,0002 ¥423 33| 840
308 XHXIEHH SOIH 3,728,945 2,796,421 932,524
06 RSJI2NUE2ES 3,728,945 2,796,421 932,524
)8 DX 3,252,545,0002! % 14! 3,252,545




SN DRASY
M WS wEEFAY FA
oo SDNAYR CLE-E
S . "M . O (5 NEAS . HA2 A} OH &EIE H D=2t
— T

376,400,000 14! 376,400

NHAS @ 2484 I3 X

100,000,0002 *14] 100,000
SHIAIA & ALY 425,430 240,430 185,000
201 gr2g| 20,430 20,430 0
01 AtRZ2Ib] 2,310 2,310 0
1) SDAXBOIG RS
70,0002 *112 33| 2,310
00 B2 18,120 18,120 0
1) $NSEX ZANL IR
10,0002 374 4 122 3,600
1) NEZHISKH (BRSSE TYAIL)
700,00024 *37H A 2,100
1) AEB2 12,420
2) CCTVaIH AlB 2 200,000 *10CH +6 2 12,000
2) CCTV ®IIZ 7,0002  10CH *62 420
308 XHXISASOIH 405,000 220,000 185,000
06 D)2 ES 405,000 220,000 185,000
1) 80 2PEF AXAO THAY
400,000, 00024 *30% 120,000
)8t =83t A 2,850,000, 0002 * 10% 285,000
oIS WRME 2 720,000 0 720,000
307 QI2H0IF 720,000 0 720,000
05 RIRSIES 720,000 0 720,000
LIS DRHE 2
720,000,0002! *14! 720,000
%S HHSD 2 108,000 0 108,000
308 RXIEHHSOIH 108,000 0 108,000
06 LSIIBUUHERES 108,000 0 108,000
NYUS HESD 29
3,000, 00024 *3H +122 108,000
01210 SHAAHIA RIS AR 41,580 0 41,580
308 KHXISHHSOIH 41,580 0 41,580
06 RSIIBUUHEZES 41,580 0 41,580
1)OHA MBI A Jbelhl 11,0002 %300 *3H 1 9,900
DO MBIA AR

2,200 200 61 w « 123 31,680




2N DEXED
HH: WASISHE 75
o9 BADS k)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
HMSISHA 25 284,628 531,712 A247,084
M= 284,628 531,712 A247,084
BdstsI# 27,860 55,360 A 27,500
201 Ysr2gyl 8,360 3,360 5,000
01 AR 2&cldl 8,360 3,360 5,000
NEMSEES sy
70,000% 128 »43] 3,360
NEMsHE E82 M 5,000, 000& * 14! 5,000
307 212t0IH 19,500 2,000 7,500
05 QIZtRE 3 19,500 12,000 7,500
NEoSHnA S 19,500, 00024 #14] 9,500
s W=\ 118,328 133,844 A 15,516
201 ZEH2IH] 19,400 20,800 A 1,400
01 Atf2teld 17,000 18,000 21,000
1) 823 Ul 2 15,000,000& * 14! 15,000
1) ZESHDIY 24| 1,000,00024 *22H 2 2,000
02 223244l 2,400 2,800 A400
1) ZESDIY ALZY 21|
800, 000& *3H 2 2,400
203 HRF&H 3,500 3,500 0
03 AIMFAHRFAH] 3,500 3,500 0
1) H25NS A YREX
3,500,000 * 14! 3,500
301 utEas 92,928 104,544 A11,616
12 JIEt243 92,928 104,544 211,616
NEBDS BAR
22,0003 x24 Al 2+ 162« 112 92,928
405 Kt SHI 2,500 5,000 A 2,500
01 XA ESEH=HI 2,500 5,000 A2,500
1) YESWSE LI2HE 7Y
2,500,000& * 14! 2,500
wWeist 2 27,000 27,000 0
201 LEH23H] 12,000 12,000 0
01 A2l 2,000 12,000 0
1) E22 HE S Ml
1,000,002 * 122 2,000




SN DSVESD
o PASSHE PS
ool DS (St5: & 2)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
01 YL 15,000 15,000 0
12 BN 15,000 15,000 0
1) DYHS BME 15,000, 0002 * 141 15,000
01 03HEI0] 2 44,000 44,000 0
201 syl 4,000 4,000 0
01 A2l 4,000 4,000 0
1) E22 M= S MerR)
2,000,002 x23| 4,000
307 2120l 40,000 40,000 0
05 QIZIES 40,000 40,000 0
1) 014 OF3HEIDI ISk
20,000,002 +27| 40,000
olEnA 29 42,300 48,616 26,316
201 Ler2y| 2,500 2,500 0
EEE 1,500 1,500 0
NERS M= 500, 000! *33] 1,500
;2 Zz2Y 1,000 1,000 0
1)AI2 ZHHI ST 1,000, 00024 *14} 1,000
203 YREIH] 1,000 1,000 0
038 A= RFAY| 1,000 1,000 0
OIS RA SHEAS YLET
1,000,002 14! 1,000
01 YN 38,800 41,616 A2,816
10 SAAHIZ A3 3,000 3,000 0
1)&MEA S 3,000, 00024 #14} 3,000
12 JIERAS 35,800 38,616 ~2,816
oIS DA AR 35,800
2)0iEDA LAR
22,0002 *50A] 24+ 163 #2 35,200
2)S2 LME 200, 000! *33] 600
GUSDA K 25, 140 22,802 2,248
307 212t0|H 25, 140 22,802 2,248
05 BIRSIES 25,140 22,892 2,248

2,095,000& 12 25,140
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D191 01 A It
QIR AYIA P&
0128 X

HA .- M. CO (5 HEAY . N2 HEE Hl o =2t
2t 742,627 493,859 248,768
2 15,650
DS 726,977
QIRAMH AL A 7S 578,047 342,179 235,868
3 15,650
AN 562,397
HE 477,032 241,934 235,098
3 14,400
AN 462,632
a2sF = 158,692 56,810 101,882
201 Let3| 144,042 55,210 88,832
01 At 2teld] 144,042 55,210 88,832
N 29 14,692
)ABR=EZ 120,000 = 12& 1,440
2)=E2 I el (H2eIt)
210,000 = 12& 2,520
2)3tx A 22| (A2}
220,000 = 12& 2,640
2)R010IALZ)| A BH(H2HHIL)
141,300& = 1CH =123 1,696
2)SESYELSI| AL
100,000 & «5CH = 12& 6,000
2)% 2= 33,000&*12& 396
NOA22EHE (L) 190,000 *215% 40,850
NYUAZLEHE(N) 340,000& «225% 76,500
ol HE &l 10,000,000 * 14! 10,000
1NANME AA2OH 2,000,000& * 14! 2,000
203 SR F&H| 3,550 1,200 2,350
03 AIHEZFAHRFEY| 3,550 1,200 2,350
NEESMHRFXHI 3,550,000& * 14! 3,550
405 XHAHESH] 11,100 400 10,700
01 X =SSFHSHI 11,100 400 10,700
1S A 204 4,000,000 =1CH 4,000
1N)SEEEIZU(AIZEMNCE)
4,400, 0002 *1CH 4,400




SN SIR0I AT
HH: QIRABTAY A T
ol DI (50 &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
458 SAFEIPH(ZLTHAE)
600, 0002 * 1 H 600
DEEBIEN 500,0002 * 1CH 500
AL 70} 400,0002 *2CH 800
NEHE S 204 800, 00024 +1CH 800
QAT YD 302,690 185, 124 117,566
201 Lpr2y| 295,440 145,440 150,000
01 Ar=aelt] 150,000 0 150,000
DAL PEE2MEH 75 223
150,000, 0002 * 1 150,000
0 B2 145,440 145,440 0
NSHEESHANZIS 144,600
DI ] 25021 12,6001 *122 37,800
2)SIISHE 1,75021%5,00021 122 105,000
IS RBE 15002410021+ 122 1,800
egsy 840
2)HE B HolFIH 70,0002 3% 43| 840
203 ARFXY| 6,250 6,100 150
08 AEFZALEY| 6,250 6, 100 150
DEEE TR 6,250, 00021 *14) 6,250
303 Za2 1,000 0 1,000
01 Za3 1,000 0 1,000
eI S5 RTBAY T4
200,000 +5% 1,000
IEBAY S22 AR 15,650 0 15,650
= 14,400
XA 1,250
201 Lpr2y| 8,000 0 8,000
=2 8,000
01 AtRZelt] 6,000 0 6,000
NISRHS=LR L8
1,000, 00024 *14} 1,000
2 1,000
DAREE(EU, ZAX S)70H
2,000,00024 +14} 2,000




A 0RO D
HH: QIRABTAY A T
ol DI (50 &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
= 2,000
1)BIR A AL Q14§ 3,000,0002! #14} 3,000
2 3,000
02 B2 2,000 0 2,000
)2%5 2322 2,000, 00021 *14} 2,000
2 2,000
203 REXY| 3,650 0 3,650
2 2,400
XA 1,250
CIEEEEETY 3,650 0 3,650
NIIEBASE ge= 3,650, 00024 +14} 3,650
2 2,400
XA 1,250
405 RrAHFSH] 4,000 0 4,000
2 4,000
01 HMUSEFSY] 4,000 0 4,000
1)=AD 7 4,000,0002! 14 4,000
2 4,000
Sq e 2,000 2,000 0
=2 el ¥ el 2,000 2,000 0
303 ZA3 2,000 2,000 0
01 Z&3 2,000 2,000 0
PEEET-EREIY 2,000
2ERLEN(T,S) 500, 0002 *27H 52 A 1,000
2)2ARN (T, E) 300, 0002 x27H 5 A 600
2)BALH(P,S) 20,0002 *27H 52 A 400
KA 99,015 98,245 770
2 1,250
AN 97,765
CABHYL 99,015 98,245 770
2 1,250
XA 97,765
201 LPr2y| 42,205 36,445 5,760
01 AFR2elt] 32, 160 26,400 5,760




S QIR0
Hal: ORAMTNY A T

ol YD (50 &2
_ _ MNuE o
SN EB -GS - MBAY - BES 0 & 24 e HRE2
IEEEEES T 300,000+ 122 3,600
DEEESS= T 7,0002 x202 *17% * 122 28,560
02 TT2YH| 10,045 10,045 0
)2ER3 812,50021 *12% 9,750
DAL HAZH S
40,9001 *12 %60% 295
202 OiHl 53,040 59,280 A6,240
01 =Uhord 53,040 59,280 16,240
NHALLEE Ol
20,0008 %172 * 132 #1224 53,040
203 Y= 3,770 2,520 1,250
= 1,250
XA 2,520
03 ANHZMAL=XY| 3,770 2,520 1,250
NEESALREAY) 3,770,0002 14! 3,770
2 1,250
DS 2,520
HHS ALY (AR 164,560 151,680 12,900
oIz 2| 4,980 5,040 AB0
22| 4,980 5,040 A60
203 Y= 4,980 5,040 A60
04 RASIYR =N 4,980 5,040 60
DEVE-EEE ] 415,00021 +12% 4,980
L 159,600 146,640 12,960
=23y 159,600 146,640 12,960
201 Ygr2g| 75,360 62,400 12,960
01 At 2el| 75,360 62,400 12,960
NeRARY 28 2,500,0002 122 30,000
DEEE IR 7,00021x202 +27% %122 45,360
202 OiHl 84,240 84,240 0
IEREE 84,240 84,240 0
DEEESINCE 20,0008 %272 » 132 #1224 84,240
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S RS
= ZosM RH2
Crol: mo|sA eiztaty (el @)
A BB O(B) - NEAY - BAS sy S RS2
Ol &
308 Zaz 4,000 4,000 0
01 Za3 4,000 4,000 0
NEAS MR s0tel Z&
3 Ea 2,000,000& 22| 4,000
Het M 72,600 36,800 35,800
MetHE 2¢9 72,600 36,800 35,800
201 B2 2,000 0 2,000
01 At=2teldl 2,000 0 2,000
DHeHEIIC 2 X 500, 000& *43] 2,000
203 YRFAY| 2,000 2,000 0
03 AIHEZFAHRFEH| 2,000 2,000 0
RLEOIHIO HRFZ 1,000,000& * 14! 1,000
N3N RFX 1,000, 0003 * 14 1,000
301 getEazg 30,000 10,000 20,000
12 JIEIBAZ 30,000 10,000 20,000
1) POIECIAAMIL Al (2AAL 30,000
2)3 4 2,000,000& 23X *23| 8,000
)24 1,000,000& x4H x23] 8,000
2)s & 500,000 6% *23| 6,000
2) & A 200,000& *10Y x23] 4,000
2) - A 100,000 20 *23] 4,000
308 EAaZ 38,600 24,800 13,800
01 Z&3 38,600 24,800 13,800
NS Het 29,000
2)3 4 2,000,000& *1H 23| 4,000
)24 1,000,000 x4H x23] 8,000
2)s 4 500,000 6% *23| 6,000
2)& e & 200,000& 15 x23] 6,000
2)- =& 100,000 *25F *23] 5,000
N3 85 &AL THERXE Al & 9,600
)4 200,000& 2 =12 4,800
2) &4t 100,000 *4H x 12 4,800




SN EOIE AT
Hal: Zojslpl PH2Y
chl: otolCiof e (el &2)
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 il b o HRs2
oroICIof el 5,000 0 5,000
D2 0HOICIOf MO =& 5,000 0 5,000
201 Lsre | 5,000 0 5,000
01 A2l 5,000 0 5,000
1)221 OtOICIOf HIXIOHY =
5,000, 00024 *14} 5,000
HHSAHL (HOIEH AT 73,800 91,120 A17,320
ol 2| 3,000 4,200 A1,200
olzt 2ot (&2 4D} 3,000 4,200 A1,200
203 REXY| 3,000 4,200 A1,200
04 SN=ZgREAY| 3,000 4,200 A1,200
1)1501 0152 Al 250,0002 *122 3,000
LT 70,800 86,920 A16, 120
LT 70,800 86,920 A16,120
201 L2yl 36,480 37,000 A520
01 AS2eldl 36,480 37,000 A520
NEM2Y +84) 1,500,0002 122 18,000
NREX S| 7,0002 *11x202 *122 18,480
202 OiHl 34,320 49,920 A15,600
01 =00l 34,320 49,920 15,600
DEEES IR 20,0002 112 %132 122 34,320




U2
OXE =2 =&
HHYBAAEY 29 (5l &2
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES oH Ol Ak O Blusz
! 3,150,446 2,991,915 158,531
= 72,095
XA 3,078,351
OXE =2 =& 3,052,646 2,922,795 29,851
=2 72,09
XA 2,980,551
HYBAAY 29 1,917,756 1,843,395 74,361
= 72,09
XA 1,845,661
BB ALY R e 487,981 424,632 63,349
201 syl 477,564 413,632 63,932
01 AfR2elt] 20,900 20,303 597
DESPNES=E-2t] 18,000
Q)TLHEHS) & SAUUTP)E AR2E
13,000, 0002 * 14! 13,000
2)NETEE ARE(EY,LLRT)
5,000, 00021 *14} 5,000
1AIOIBIZE R AA TS AASIR g
250,000% *3% *20 2 OF 1,500
NRUBSM 88 JEBIAN 42
100,000 %7% +25| 1,400
00 B2 456,664 393,329 63,335
1SS 2ol 1821+1,500,00021 27,000
NEFMI| L 2UFE KNS 256, 103
2)7 FEF &I (SUN12K) 263,857, 0002 8% 21,109
2) X2 & 2 At (RS6000) 59,546, 47021 +8% 4,764
2)HIS E8HE 2 A B (NCRA455)
69,516, 0002 *8% 5,562
2) S 88 Al A tH (DELL4400)
1,450, 0002 8% 916
2) = N 2r2l A tH (DELL4400)
11,950, 0002 8% 956
2)&H 0/ XI Mt (DL580) RI2CH, DB1CH
14,500, 0002 «8%+3CH+7/ 122 2,030
2) 22 52 A tH (GI-3000)
31,000, 00021 #8%+6/ 122 1,240
2)DBE Ot At (Inte!| SR-2400)
23,273, 00021 +8% 1,862




SN HGERED
Ha: OXE = =3
Ol ARFPAAY 2
5 A XNEH . Tt (S HEAYA - A2 A} OH dE T
2)ZHOIX A&, A (HP ML530)
11,000, 0002 8% 880
2)E M0l Xl ebook, SMS((HP ML530)
12,400, 0003 *8% 992
2) 2l Y A (ML370) 5,200,000 *8% 416
2) = R OIE k&5 =2 A (DELL2950)
9,000,000 *8% 720
2)AES/W 22l MH (Fujitsu RX200)
4,567,000 *8% 366
2)SMSA tH (HP DL320)
4,000,000& *8%*10/12& 267
)2 Seed 2| (M 350)
5,412,000& *8% 433
2)N 27 BSIIEHIBM P570 &)
698,445,000 *8% 55,876
2)N=Z? HYBEHE (X370 S)
523,441,300 *8% 41,876
2DNZ2RHEESESHE 0153 HAl0l(DF6
00) 54,862,420 *8% 4,389
2)2a= ClA30a0l, SAN Switch
128,480,000 *8% 10,279
)iy SstlA3a o d 019980
570,223,200 *8% 45,618
2) 0= I 2IE, HART-5060 33,000,000 *8% 2,640
2)D=T2IE, GPX-1150 29,360,000 *8% 2,349
) SE ™ SL500 89,705, 0002 *8% 7,177
2)A2SEE 12000 105,023,000 *8% 8,402
2)ANHE HEI2ZE(KW) 32,900, 000& *8% 2,632
2)RHENMEAER 3B 81,924,320 8% 6,554
2)8 2857 25 61,900,000 *8% 4,952
PIVTLEHI(AH, A3, £84)
137,377,000 & *8% 10,991
2)SAN(2CH) 48,180,000 *8% 3,855
2)EBAAEA 2HH|(H4A, ot2JtA
g S) 6,000,000 *14] 6,000
NZ=HAMIE SN L FRAAE RIE 57,559
2)7 =T A (SUN12K) @c2t2
33,000, 000& *12% 3,960
2)EHOIXNE 222 15,050, 000& *12% 1,806




AN JAE B
o (Mg -9 =A
CI9l: BMEMDAAY 2o (Ero): &)
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES 0] Ao '@,‘;OH Hl =2
2)RS6000 @2+t2(GIS M)
18,176,470 *12% 2,182
2)NSEEEAAE(NCRREHE)
15,200,000& *12% 1,824
2)GIS S/W(AZ DISKA)
46,789,610 *10% 4,679
2)GIS S/W(Arcinfo @) 58,128, 1403 *10% 5,813
2)BECtEZH 23,091,000& *10% 2,310
2)HAT B ILEA| AE 68,874,000 *12% 8,265
2) & XH2 THAl A & 136,648,990 *14% 19,131
2)EXZM ¥ EMHOIX OIS0 (JEUS)
63,240,000& *12% 7,589
1)EHO0IX AHEO HHIA OIE2
594 ,000& 1A 594
1NEHOIX SXNEL(=S0=X 21AHH])
4,337,000 x2H x12& 104,088
1)EHOIX &23d KB 11,320
2)EHO0IX 2 (FMHAX)
15,000, 000& *12% 1,800
2)EHOIXN SFH(Y20)
15,000, 000& *x12% 1,800
2)EMHOIX ==& (E-mail)
18,000, 0003 *12% 2,160
2)EHOIX &£F & (ebook 2FH)
23,000,000 *12% 2,760
2)EHO0I K £F4&(SMS)
16,000, 000& *12%* 10/ 12& 1,600
2)EHI0IK &2E ()
20,000,000 x12%+6/ 128 1,200
301 e AS 7,000 3,000 4,000
12 JIEIEAZ= 7,000 3,000 4,000
A0 &2 BEUE AlAS
7,000,000& x 14! 7,000
308 AHXIEHSO0IA 3,417 0 3,417
05 AXSHHZUHREES 3,417 0 3,417
NEEXNS2 AAEY SX 22|
3,417,000 * 1A 3,417
HBEAAE DBt &= 509,697 483,876 25,821
= 72,095
KEAI 437,602
201 LErEAH| 184,697 192,906 A8,209




S HAEED
HM: CXNE =2 =X
CHel: HAEMBAAH 2 (A2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
201 LErR2HH| = 72,095
KR 112,602
01 AtR22/H] 184,697 192,906 28,209
NZEJ|IBAIAY 2lAE 184,697,000 x1A! 184,697
= 72,095
KHA 112,602
405 KHAHE S 325,000 290,970 34,030
01 XHAMYESEFSH 325,000 290,970 34,030
NAEEAIAE DBt &= 325,000
2)DBE O FIHZED|EH, WEA2 AMH)
15,000,000 * 1Al 15,000
AN SE 24 1=
160,000,000 x1A! 160,000
2)AREE AT YO0l A
150,000, 0002 » 1A 150,000
HNESEMNY 8N 29 447,944 398,837 49,107
201 LEr2YH| 409,944 302,487 87,457
02 2229 409,944 322,487 87,457
NEBSENY 2 409,944
2)H23l8 SR 165,600,000 x 14! 165,600
SEMEH 3N SXES
4,946,000 122 59,352
DIHEEN BOAIAH KB4
2,916,000 122 34,992
2)IIZFENAIA ARt 12,500,000 * 122 150,000
401 AlSHILLCHY] 20,000 9,000 11,000
01 Al&H] 20,000 9,000 11,000
NXIIEAY 2132 7H| 20,000,000 * 14! 20,000
405 KHAHE S 18,000 67,350 A49,350
01 KLU SEFHEH 18,000 67,350 49,350
1)EoHSB =Dt K22l (1GB) 60,000 *300H 18,000
HE MARH B2 472,134 536,050 63,916
201 B2 H| 76,644 72,000 4,644
02 2229 76,644 72,000 4,644
NS AFRIID1 |SXI24(PC, PRT)
6,387,000 122 76,644




SN dAFEE DL
& COXNE & =&
Gl HEFZAIAE 2H (&2 &)
_ _ - NEc
2N -3 - c2(3H) - NEME - HES 0] AFCH loﬂ/l\_Fo” Hns
405 XH&HFESHI 395,490 464,050 A 68,560
01 T ESFHSHI 395,490 464,050 AB8,560
1021 AFRD1D| ReEZ 217,900
2) TS AMRIIDI(PC) S 845,000 *2000H 169,000
2)2LIE (LCD 199!XI) 300, 000& *30CH 9,000
2)2l 0l Z 2l & (A3) 750,000 *30CH 22,500
2)d 0l 4216 (A4) 580, 000& *30CH 17,400
NAZAZERN 2olMA 204 177,590
2)PCE HIOlHA BHAI 9,500& *1,800= 17,100
2)MS Office GA 200,000& 2002 40,000
2)MS SQL CAL 8,300,000& x5& 41,500
2)st=22007 LA 47,300& *1,300= 61,490
2)Symantec Ghost 35,000& 5002 17,500
N o dFFES F& 1,127,890 1,072,400 55,490
HE HES 23 170,180 155,000 15,180
201 829 H| 6,800 1,000 5,800
01 At22teldl 6,800 1,000 5,800
NEESIAIE 29 6,800
2)8BsErE9s £
100,000& *5H x4 3] 2,000
2)8 B2 AIY MotEIIRA ¢
100, 000& *7H *43] 2,800
2)2 2 HYg 0iele A R
500,000& *x2 Al 2t %23 2,000
203 YPRFZIH| 4,000 4,000 0
03 AMF=XHRFZAH| 4,000 4,000 0
NAEYELS 23 2= 4,000
2)¥BESEN 2HY R =&
1,600,000& 14! 1,600
)& EHR =X 2,400,000& * 14! 2,400
207  HAFIHEHI 159,380 150,000 9,380
02 & AR EHH| 159,380 150,000 9,380
1) & AR EHH| 159,380
)BEC N2, DIS210 SeAAY 2=
44,000,000 14 44,000




SN 8AEB

HM: CXNE =2 =X
Selr X% Y HEHLS FA (erelHE)
= - bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
2)KHADIX] BFAH HEHRSAZSEILE)
= 115,380,000 x 1Al 115,380
2 TS YLsHA =& 16,710 0 16,710
201 LErRYH| 16,710 0 16,710
01 AtR2telH| 16,710 0 16,710
NHEMAADEZ(OIRA, IIBE, SIEA) 2
o 26,0002 *300M E 7,800
NxeE ATEY N 204 8,910
2)MS Office 5,500 «300=2 1,650
2)0t2H st 2 24,200 3002 7,260
SEHNI A 41,000 7,400 33,600
201 B2 HH| 2,280 1,200 1,080
02 2229H| 2,280 1,200 1,080
NRHEAZ(POA 2 2,280
2)PDA E4I2 30,000 «3CH*12& 1,080
2)PDA SAI2 30,000 «4LH*62 720
2)WibroE4l 2 20,0002 *4CH x62 480
405 KHAHE S 38,720 6,200 32,520
01 KL SEFEH 38,720 6,200 32,520
N2 500171 = 11,720
2)PDA 930,000 *4CH 3,720
2)UMPC, EHEZ PC 2,000,000 *4CH 8,000
1N2HUA AR = 27,000
2) =X Zel Al AE 13,000,000 * 1Al 13,000
2)25 oA S22l A 14,000,000 * 1Al 14,000
HBEA J|EAIE &= 150,000 900,000 A750,000
401 AlSHIL20HY| 150,000 900,000 750,000
01 Al&H] 150,000 900,000 A750,000
1)ZESEH|(ONU) & g s
5,000, 0002 *300H 2 150,000
HEBESAAY DZ 35 100,000 0 100,000
405 KHAHE SH 100,000 0 100,000
01 XL ESEFEH 100,000 0 100,000




SN 8AEB

o (g =¥ =X
Sl X% Y WIS FX (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o Rz
IEEEEVESIEEN= 100,000
2IAOIHETH SXIME RS
100,000,000 141 100,000
OIE L ESH(IPT) 25 650,000 0 650,000
405 X+orE S| 650,000 0 650,000
01 KALSEFSH] 650,000 0 650,000
1) 1P &) 650,000, 0002 * 14! 650,000
SAHUZM 7,000 7,000 0
SHZ A2 7,000 7,000 0
201 L2yl 6,000 6,000 0
01 At 22l 6,000 6,000 0
NEAHSR 22t 30,0002 +200% 6,000
203 Y= 1,000 1,000 0
03 ANMEIYLEXY| 1,000 1,000 0
NEANLR =AY 1,000, 0002 * 14! 1,000
HHS YA (HABR D) 97,800 0 97,800
ol 2| 4,200 0 4,200
ol 2| 4,200 0 4,200
203 ARFXY| 4,200 0 4,200
04 SA=ZALEAY| 4,200 0 4,200
1)30210/5t SN2 350,0002 * 122 4,200
[T 93,600 0 93,600
=23t 93,600 93,600
201 Lsr2 | 40,560 40,560
01 AtR2tel| 40,560 40,560
NUULSU(HYAREE 7Y S)
1,000, 0002 122 12,000
NYLEX S| 7,00021 %202 172+ 122 28,560
202 Ofl 53,040 53,040
IENEE 53,040 53,040
1)=LH 01t 20,0002 132 #1724 ¥ 122 53,040




2A: MW
. WREHe 828 29
o = SRS e85 22| (Stel-&3)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & OﬁEOH Hns
M2 3t 415,830 414,466 1,364
MEHHS 2288 29 284,130 294,106 N9,976
=2 2o 2858 22 209,230 216,186 6,956
=-3% Moo 228 29 209,230 216,186 6,956
201 LEtEAY| 197,930 186,973 10,957
01 AR 22|l 37,620 37,620 0
NZEEIELES 15,000, 000& 14! 15,000
Ns5g+22 18,000,000& = 1Al 18,000
2102 35,0003 *x3Ct*8cm*1. 1x53] 4,620
02 =329l 160,310 149,353 10,957
1)MoHHHI Z2MEE 2 44,000,000 * 14| 44,000
NEXEEoIASHEEZ
114,500,000 & * 1 Al 114,500
NIHZAEZ222 WEESEES
10,000& * 145 1,450
NIHEZS2LE MELESEER
3,000& *120¥ 360
203 YRF&Y| 7,800 7,800 0
03 AMF=XAIFZRHI 7,800 7,800 0
N2 A2 2= 1,500,000& * 14! 1,500
NHEASHHEX 30,000& *10A 300
NHEZEN2FTQURFAH|
6,000,000& * 14| 6,000
401 AIEHIZL 2 0HYI 3,500 21,013 A17,513
01 Al&H]| 3,500 17,513 AN 14,013
NESMAZCI(EH, 8X)
3,500,000& * 1Al 3,500
SAS HAHR 29 31,300 15,320 15,980
He 2 2SS 2 31,300 15,320 15,980
201 LBt 30,300 14,320 15,980
01 AtR22id] 30,300 14,320 15,980
DNHLMAIRI RS £ 100,000& * 10 *4 3] 4,000
NHAZACIANALY 2H 700,000& x12& 8,400
DHUZIEEHIE2x=42 300,000& x12& 3,600
DAHSE & 2STUMMZ2 0 204
14,300,000& * 1Al 14,300
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2A: MW
A HE2FFGHI (W2 L)
Rl D123

M- M- SH2(3H) - NRAY - BHAES Of] AF R dd T
= 71 (2 . TAIE 23S H == (4] AFCH
201 829y 52,440 41,400
01 At222ldl 52,440 41,400
1)eetgH| 1,150,000& = 12& 13,800
1) 2 &bl 7,000 20 *23H «12& 38,640
202  O4Hl 71,760 71,760
01 =UWodl 71,760 71,760

)= Lo 20,0003 » 13223 x12& 71,760




AN NP EF
& ANSFHELS
chelr ZA7/9 84 X@ (S92l
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
At EHE 1t 680, 138 792,301 N 112,163
= 2,030
Al 46,320
AEAI 631,788
NEEMES S 276,304 400,116 N 123,812
= 2,030
Al 46,320
KEAI 227,954
2|1 4 K& 19,960 31,160 A 11,200
&35 29 X3 15,200 26,400 A 11,200
201 B2y 1,000 1,000 0
01 AtR22id] 1,000 1,000 0
1) Bt2H| 1,000,000& =14 1,000
203 YRFEH| 1,000 600 400
03 AMF=XAIFZAH| 1,000 600 400
NEARABE 29 250,000& *43| 1,000
307 2I2tolA 13,200 24,800 A 11,600
02 oIt AE X 13,200 24,800 A 11,600
1)AZ23] AR A 2Xt2 1,100,000& x12& 13,200
A0l =22d 4,760 4,760 0
201 B2 HH| 1,960 1,960 0
01 ArR2t2|t| 1,960 1,960 0
DAl &g 70,0002 x7% 43| 1,960
203 YRF&H| 2,800 2,800 0
03 ABMF=XAIFZRIHI 2,800 2,800 0
DAY W AN AREH
2,800,000& x 14! 2,800
ArsHE 10,000 10,000 0
28 dE K& 10,000 10,000 0
307 QI2tolA 10,000 0 10,000
02 QI2ztFAE X 10,000 0 10,000
N2 DSHAME A2
10,000,000& * 1A 10,000
Sel&H L THeHAIE 2435 19,400 247,457 N228,057




SN At EA D
& ANSFHELS
CHel: FR2XE L THeHAIR SA35 (A2
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
HR2IEH 2 9,600 8,700 900
201 LEr2HH| 7,000 6,100 900
03 EA2HI 7,000 6,100 900
1)SAIEHI (HALE AX )
7,000,000 x1A! 7,000
203 YR =ZFH| 2,600 2,600 0
03 AIME=XAD=ZY| 2,600 2,600 0
NR2IDHE ZEEH 22 2,600,000 x1A! 2,600
THEH Al Z &5t 9,800 230,800 A221,000
203 YR=ZFH 800 800 0
03 AIMZIAD=ZY| 800 800 0
DISHAIZRE LS =& 800,000 14l 800
401 AlSHILLCHY] 9,000 229,000 220,000
03 Al&=20iH| 9,000 0 9,000
DIHSHAIE SHE =EZSHA
9,000,000 x1A! 9,000
OLX &l AlDIAME |8t 2HEl 144,944 111,499 33,445
= 2,030
Al 46,320
HA 96,594
2orzel 29,938 28,425 1,513
101 Q14 25,498 23,985 1,513
10 JIZH22XUHEES 25,498 23,985 1,513
NENZLIEHS Q1A
32,0002 x6 % x202 x6 23,040
2oz az 23,040,000 *4. 5% 1,037
N20AUBERLY2 23,040, 0002 *2 . 54% 586
NI BERSS 23,040,000 *3.622% 835
201 LEr2YH| 1,700 1,700 0
01 AtR22IH] 1,700 1,700 0
NS 2d9 £&
70,0002 x5 %23 700
NeIMEI(EEE ) 1,000,000 x1A! 1,000
203 HUR=ZH| 400 400 0
03 AIMZ=RAR=ZY| 400 400 0




SA
X XH .
(=

chel:

At EHE 0t
NS B HEA S
OIMEl ADIME P =g M)
SA-HH O (SIH) - NEAY - BaS Aol e 2t
1222 400,000& x 14! 400
301 LBt A= 2,340 2,340 0
12 JIEIE A2 2,340 2,340 0
NIIEHE AN MgoIE25s 2L
7,800& * 1500l A~ *23] 2,340
Xl2el 5,300 6,184 N 884
= 2,030
Al 1,210
KEAI 2,060
201 LErEAH| 1,200 1,300 A 100
2 480
Al 360
KEA 360
01 ArR2t2|bl 1,200 1,300 A 100
NsXaefes 29 1,200,000& * 14 1,200
= 480
Al 360
KEA 360
206 M =4l 700 700 0
01 =4l 700 700 0
NEL=sH2AME 2L 700,000& x 14! 700
307 QIZ2tol A 3,400 4,184 NT784
= 1,550
Al 850
DS 1,000
02 OI2tFAE X 3,400 4,184 ANT784
DRI g2 2,400,0002! * 14! 2,400
= 750
Al 750
KEXI 900
1)A3| & HI2XH 1,000,000& 1A 1,000
= 800
Al 100
KEXI 100
EMREAL NEEA 3,520 3,520 0




S AEA D
Za: XSRS st
ol OIEE AIQIME Dl EHE (B9l &)
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
201 Yoyl 1,000 1,000 0
01 Ar2Ealt] 1,000 1,000 0
DEIEES=Y] 1,000,0002 * 14! 1,000
203 Y=Yl 720 720 0
03 ARZ=ZALEZIY] 720 720 0
NEM L RSAR =3 60,0002 *123] 720
01 YsRAD 1,800 1,800 0
12 JIEEA2 1,800 1,800 0
NEMSEY S LAY BELSES
30,0002 *4 *153] 1,800
ObEYeAY 15,964 6,290 9,674
201 Yoyl 7,340 2,940 4,400
01 ARzl 7,340 2,940 4,400
PE=EN=PN 245,0002 * 122 2,940
NAXHENSE L2 3,000 *600kg 1,800
AR AIRE 600,000 *33] 1,800
N2s S 2l 800,0002 14! 800
203 Y=Yl 1,500 0 1,500
03 ANRF=AL=ZIY] 1,500 0 1,500
DBIEE=PNE=ES 1,500,0002 14! 1,500
206 Mzl 4,624 3,350 1,274
EEE] 4,624 3,350 1,274
NZAL oY FA 4E
1,800 *2,0005 *30%+23] 2,160
N2 SHE 7R %=
1, 1002 *1,5002 +25] *30% 990
2 COHHY 2R %=
5002 *1,5002 x23| %30% 450
1)IIEE AE TR 5128+2,0005 1,024
302 OIFUNHBAS 2,500 0 2,500
02 PIZHATHEHZAD 2,500 0 2,500
NAXEINIE 243 10,0002 x2505 2,500
SIISS 2 90,222 67,080 23,142
Al 45,110
A 45,112




SA: A
& NHRE A S
ol OIEE AIQIME Dl EHE (erel: @)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
201 Yoyl 24,932 5,380 19,552
Al 12,465
R 12,467
SEREEDE 24,932 5,380 19,552
NESS=M A &HI(21HI],IIS2 2]
s=310) 24,932,0002 * 14! 24,932
Al 12,465
TR 12,467
307 212+0| 65,290 61,700 3,590
Al 32,645
R 32,645
05 olztgiez 65,290 61,700 3,590
NRIsES g 2 90,0002 *5145 46,260
Al 23,130
TR 23,130
1)2 D20l TNR Xl2lH| 10,0002+ 1735 19,080
Al 9,515
R 9,515
MUK & XpRpe 82,000 0 82,000
P IEPVIEE 82,000 0 82,000
203 YULEAY] 1,000 0 1,000
CEREEEEESS 1,000 0 1,000
1) &I A4 Ol LI K| & S A 2 & 2500002 x43] 1,000
401 Al&HIZL 20 81,000 0 81,000
01 A&t 81,000 0 81,000
NeROFSAECS 2AFXE
81,000,0002 14! 81,000
sAEs 113,294 113,405 A1
EET 78,496 80,448 A1,952
WHRGD YL 46,197 57,408 A11,211
101 o121 19,896 18,766 1,130
10 JRAM2ZNER 19,896 18,766 1,130
NAES FALR 32,0002 +102 302 *23] 19,200
DinE=Y L= 19,200,002 3.622% 696
201 Yuredy] 15,312 33,838 A 18,526




S A HEADL
Mo BAPS
ol BYE S AL (649l &2
_ _ HE T
SN B OR(B) - NRAY - BYS Ofl & o il i~ o Rz
01 At 2teld| 15,312 27,59 A 12,284
NIXAN SK 40,0002 %908t A #23] 7,200
1)DXIAN O] 2621120, 00004 <23 6,240
1)ZAE oIt 392 4, 0000 156
)ZRIE £ JIE2IX 7Y 858,0008 23 1,716
203 YR=TY| 3,000 2,400 600
03 NHEIYL=XY| 3,000 2,400 600
DEETEESS 2500002 *12% 3,000
303 EA3 7,989 2,404 5,585
01 Za3 7,989 2,404 5,565
DHEES TA2 185 101,416,0002 * 1% 1,015
DHEES TA3 247 79,031,000 *3% 2,371
DHEES TH2 3% 014
92,043,860 *5% 4,603
Bue=asyD 6,670 5,760 910
201 greg| 5,030 4,120 910
03 A2 5,030 4,120 910
IR E 500, 000! *2CH 23] 2,000
EEE 1,0002 *90% 23] 180
DEIE=3=] 5,000% +00% *23| 900
DY S 150,0002! *14] 150
1) R 2t 5,0002 180 900
DES=SIPOY 5,000% *90% *23| 900
203 Y= 640 640 0
03 NEZJGL=| 640 640 0
NEUS=MHADN 29 320,000 +25] 640
301 LB 1,000 1,000 0
12 JlE2as 1,000 1,000 0
NBEUSSMSADA BAZ
100,0002! ¥5 x23] 1,000
ZR/BACHY BIDY 4,730 3,780 950
201 er2g| 3,730 2,780 950

03 A2 3,730 2,780 950
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S A HEADL
2
o

Ha: #2325
ool B#AES B (e9: @8l
= o MuE o
SN EHH L OR(BH) - HRAY - BYS Ofl & o il i~ o B2
01 AtRZelt] 3,960 3,510 450
NMDHSSTY ARE 33000024 *12% 3,960
02 ZZ2Y| 3,870 2,190 1,680
NHBRSH L 2L 26000021 *12% 3,120
NEF| ALZE S
500, 00024 *3CH *50% 750
BHEOHA B2 A 6,248 10,536 A4,288
201 er2g| 6,248 10,536 ~4,288
01 AtRZelt] 5,748 9,086 3,308
NOIMUl (AB AA, 222)
5,000, 0002 14! 5,000
NIZRE EU HEAX PY 1870002 43| 748
02 Tzl 500 1,480 980
NISEEI| >/l 500,002 *13] 500
HHBSHLAE 29 5,700 5,580 120
203 YREXY| 300 300 0
03 AEFZALFHY| 300 300 0
DABISHEH 2 150,000 %23 300
301 YstPAS 5,400 4,800 600
12 JlErEAE 5,400 4,800 600
NYUBBLAEG BS 253
30,0002 602 33| 5,400
BHEItA &2 7,500 8,408 908
201 er2g| 5,200 6,608 A1,408
01 AFR2elb] 5,200 6,608 A1,408
228 a4 50,0002 *4JH 200
EE8 BA=FID| ARE 7Y
5,000, 0002 14! 5,000
203 ARE=FY| 2,300 1,800 500
08 AFZAREXY| 2,300 1,800 500
DASIHSOIA B2 o o
230,002 *103] 2,300
AUZIIE 22 5,380 0 5,380
201 ero| 5,380 0 5,380
01 AFRarelt] 4,060 0 4,060
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B SEOS
ool BAEs e (649l &2
_ _ _ Muo
SA - EE L SR(E) - MRAY - HAS 0 & o4 e HIRZE2
NEZELHLIE 58 4228 2¢
500, 000& »2CH 1,000
NeZied g8 1,280,000& *23] 2,560
NOISAIEE ML S 500, 000& 14! 500
02 =294l 1,320 0 1,320
niJegdaT JL0188 S
110,000& =12 1,320
HY2IHU (AHEF ) 290,540 278,780 11,760
ol 2HH| 4,200 4,260 A60
olE2A| 4,200 4,260 A60
203 HRF&H 4,200 4,260 A60
04 EN2IYRFLAYI 4,200 4,260 A 60
NEAd2IgFZ 350,000& *12& 4,200
Jl23| 286,340 274,520 11,820
Jle=3| 286,340 274,520 11,820
201 L3 191,860 177,800 14,060
01 At 2eld] 71,860 63,800 8,060
N2 (AT oM L JII2HIAMR
=1=) 1,450,000& x12& 17,400
NERHEAA 23 lHy|
5,740,000& »14] 5,740
NERFTZ 2 7,000 x20 29H = 12& 48,720
02 =294l 120,000 114,000 6,000
Na3=s2=2 2 HMA 10,000,000 x12& 120,000
202 Oddl 90,480 96,720 6,240
01 =3LUAbI 90,480 96,720 26,240
NER=E A 20,0003 x 132 x29H « 12 90,480
405 XHAHFESHI 4,000 0 4,000
01 XM EFHSHI 4,000 0 4,000
NSAD & SAXESI] UM 2L
4,000,000 =14 4,000




FA 10
M Yo oHEE &8
@ XA &= (&2 &)
_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH @mou BlusSZ
41t 616,723 613,201 3,522
HIgol ot =ty 461,323 471,241 19,918
XAl &4 398,400 430,982 A32,582
ANTA Z 2 398,400 430,982 A32,582
201 LBt Y 357,000 414,260 A57,260
01 AtR22IH] 97,000 76,760 20,240
NDXAN & AME HE20H
54,000,000 x 14l 54,000
NIXA =22 L 22 33,000,000 * 1Al 33,000
NEINE=+=2(=LSX20)
2,000 5, 0000H 10,000
02 2229 260,000 337,500 AT77,500
1) YoiE 23 2502 *900, 000A 225,000
1) SJIeHE 22 1,750 %20,0004 35,000
203 L= 5,700 2,400 3,300
03 AIME=RAD=ZY| 5,700 2,400 3,300
1) NEAHEEESdH £ MeEXES =l 5,700
303 HAZ 35,700 14,322 21,378
01 Zaz= 35,700 14,322 21,378
1) A WEE HYE S ZAS
35,700,000 * 1Al 35,700
@l &% 62,923 40,259 22,664
H@l3=e &% 62,923 40,259 22,664
203 AU =ZH 4,100 1,200 2,900
03 A= HD=ZH 4,100 1,200 2,900
NHQIE=LR 8= FEIH| 4,100,000 %14l 4,100
303 ZAZ 58,823 39,059 19,764
01 Za= 58,823 39,059 19,764
NUEE Mol d4s Zo3
58,823,000 x 14l 58,823
HESAZH| (A1) 155,400 141,960 13,440
ol 29| 4,200 4,200 0
ol 29| 4,200 4,200 0
203 HUR=ZH| 4,200 4,200 0
04 BA2IH2FIH 4,200 4,200 0




FA 0
Yo AZ2HZH(I+
Eel: 015 2| (Sl X2
_ o HEC
FA R CA(EA) - NFAY - BYES O &k o4 Ol AF o8 BlusZ
NEA2ILRFA 350,000 «12& 4,200
Jl=2&tl 151,200 137,760 13,440
Jl=&tl 151,200 137,760 13,440
201 Ler2gy 63,840 50,400 13,440
01 Ar=2teldl 63,840 50,400 13,440
1) &et=EHl 1,400,000% »122 16,800
1) Megdszasgtl
7,000 x202 »28E 122 47,040
202 Obl 87,360 87,360 0
01 =LHOIH 87,360 87,360 0

1) gRF& 0 20,0002 » 13228 x12& 87,360




.

LMol SN e
R

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Hn=2
. o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
784,406 858,442 AT4,036
Mol e &t5 569, 066 656,842 NB7,776
Kl 2 Al = 1t 498,550 514,682 AN 16,132
INR= o ) 498,550 514,682 A16,132
201 L3 488,750 484,480 4,270
01 AtE2teldl 75,000 47,480 27,520
negse 3,500
2)XRA AoARS =
70,0002 10 *33] 2,100
2)ILMIEOL AoRAg ¢
70,0003 x 10 23| 1,400
NIAXAN & 2E CIME 71,500
2)5LE S5 2 MAoIH
49,000, 0002 * 14! 49,000
2NN 2E DXAM 45,0003 x5008 A 22,500
02 =329l 413,750 437,000 A23,250
N3323 & MAl 413,750
upmz 2502 *1,200,000A4 300,000
2)8l|RER 1,750& *65,00024 113,750
203 YRFL&H| 9,800 3,600 6,200
03 AIMZFAAHS =LY 9,800 3,600 6,200
NHREAL & AJAY 980,000& * 102l 9,800
EEEPEEE 70,516 142, 160 AT1,644
g =it 238 70,516 142,160 AT1,644
101 el | 11,375 26,000 A 14,625
10 JI2ZHH22sSEs 11,375 26,000 A 14,625
NLAIAIS 012 2] 11,375
2)HE =S A} 35,000& x5H 45 7,875
2)HE =T A 35,000& »1Z %100 3,500
201 Lsr2 | 53,608 106,216 A52,608
01 AtER2teldl 50,708 99,616 A48,908
1=y 43,988,000 =14 43,988
nedgs¢ 2,520
)RS 4 It A3 70,0003 x9H x4 3| 2,520




2 20
. Mo oA EHY

Sl JHEFEIIAA T (S5l &2
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
I EEESEFEETERT
7,0002 %202 +4% 62 3,360
1)IHEESIIAS AT AN TGES 2004 )
7,000 *43 +302 840
2 BT2YH) 2,900 6,600 A3,700
2222 % MAl 2,900
2EESLWE P50%1+0,5005 * 18] 2,375
DEPIESI= 1, 7502 %3005 * 18] 505
202 oft 1,920 2,204 ~374
01 =LHolb 1,920 2,204 A374
DB EEEEINEEES L]
20, 00021 42 x242 1,920
405 RAFESH) 3,613 7,650 £4,037
01 KMUUSEBFHSY] 3,613 7,650 ~4,037
DR L SEHS 3,613
2)2 FE 955, 000! +3CH 2,865
2)ZRIE] 748,00021 #1CH 748
HHSAZH (L) 215,340 201,600 13,740
ol 2| 4,740 4,800 A60
ol 2| 4,740 4,800 A60
203 YREIY] 4,740 4,800 260
04 SNSILRFAY| 4,740 4,800 60
DEVETEES S 395,0002 +122 4,740
Jl= 2| 210,600 196,800 13,800
2 210,600 196,800 13,800
201 sty 88,920 72,000 16,920
01 AR el 83,920 72,000 16,920
DREEEESSE R
7,000 +202 %39% + 122 65,520
DEIEES=1 1,950, 0002 122 23,400
202 oft 121,680 124,800 £3,120
01 =UHolb 121,680 124,800 £3,120
DEEESSVE] 20,0002+ 132 #3924 122 121,680




SN XD
o NNYPO SBN 29
B9 NNIBL FESAY (S5l &2
_ _ SIEN
SN -3H - S2A(2AH) - NRAY - BE= Ofl At ot HusZ
e 319,063 324,238 A5,175
NR#Po 58X 29 148,063 157,558 £9,495
X2 YA 42,719 9,745 £54,026
AT LAY Dot 23 42,719 96.745 54,026
201 Yeregy) 39,719 61,485 ~21,766
01 ARl 39,719 61,485 A21,766
NYOFES YT Ha 300, 0002 #5021 15,000
NP RASUHE st HAED)
320, 00021 %3821 2,160
NEZIES &3 84,0009 +20 3,680
1)XI= 2 A= bl 483,000% #1021 4,880
EREHAREY (23, 8X S)
1,766,600 141 1,767
NESEHLII| SN2l
62,0002 *30H* 122 2,232
203 YREIH] 3,000 960 2,040
03 AIZENYRFAH| 3.000 960 2,040
NANMZYES 25T 3,000,002 * 14! 3,000
EXIIAETA L OB H 92,844 57,313 36,531
Zae X012 AL A L OHZOIA BT 92,844 39,913 52,931
201 Ysr2gy) 87,804 34,153 53,651
01 AR 2l 87,804 34,153 53,651
DHEBAIXOL BBEL42
19,267, 00024 #141 19,267
1) AlE Z IS A 1,436,000 14! 1,436
PEE-BIC RN 70,0002 % 10% *63] 4,200
E2E RN 24t 1,921,000 14! 1,921
E2E A22H(232,8X S)
3,580,000 * 14! 3,580
DXDFEASBAIASTE 10,000,008 14! 10,000
N2AZIIL L HLUISLFR 442
17,400, 0002 *141 17,400
1S () R 30,0002 1,000 30,000
202 o1t 1,680 3,360 A1,680
01 =LHolb 1,680 3,360 ~1,680
1)XIJFE A =201t 20,0002 +72 #1224 1,680
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Zu: NNHF 58X 29
EH9l: EXIJIAZAL 2 HE0|oE 2R (Er9): & 2)
_ _ SIEN
SA-BH - OA(B) - HRAY - BE2 O] &b o4 Sl e S[imE=Fh
203 HEF=4H 3,360 2,400 960
03 AHFAHRFAH 3,360 2,400 960
DXIILZAL - A HREX 3,360,000 x 14! 3,360
SSUNUM VHE 2 12,500 3,500 9,000
EXHUHHE N 2 L FSHEHYL 242 12,500 3,500 9,000
201 LEHREH| 7,000 0 7,000
01 AtR&cldl 7,000 0 7,000
RS ZeHTOI(UT) M
7,000,000 * 14! 7,000
203 HERF4&H 3,000 1,000 2,000
03 NEE=ZG=E=a| 3,000 7,000 2,000
NESAHAN LRFA 3,000, 000& »14] 3,000
301 utEa=s 2,500 2,500 0
12 JIEt2 43 2,500 2,500 0
NEARABAD ZAZ 500,000& »5A 2,500
HY2IZHI (K= 171,000 166,680 4,320
o122 gy 4,200 4,200 0
eI 2| 4,200 4,200 0
203 YR=&dl 4,200 4,200 0
04 BEA2ILRFEH 4,200 4,200 0
NeEASIYRFAH 350,000&~12& 4,200
Jl=2dH| 166,800 162,480 4,320
Jl=&d| 166,800 162,480 4,320
201 LEr=23H] 82,560 72,000 10,560
01 AtR2teld 82,560 72,000 10,560
1) et=2H] 3,100,000& 123 37,200
DEE==1]] 7,000 =202 27+ 128 45,360
202 Oddl 84,240 90,480 N6,240
NENEEL 84,240 90,480 6,240
NEIAZ UL 20,0003 x 132 +27&x12& 84,240




ME T 2T
MET A MHIARE Bt
MEXE NHIA 2= (e19: @8
. _ o HEG =
ZM . ERA(ZA) - NFAY - BES Aol Ofl At ot HwsZ
2t 1,755,050 2,605,628 A850,578
= 257,526
Al 446,123
XA 1,051,401
TR MHIASE 84 1,608,350 2,473,628 865,278
= 257,526
Al 446,123
XA 904,701
4ETI MHIA P 97,200 675,612 A578,412
Al 30,870
XA 66,330
OIME A HIA &4l 20,000 8,400 1,600
201 Ygreg| 10,000 4,400 5,600
NEETEIT 10,000 4,400 5,600
1)Z0IME MY A SEOHIA HIE
1,0002 %3000 3,000
XISGAEIS T IRt AlSHE T R
20,0002 ¥1002 2,000
1=X20F SSBIIN R
2,500, 00024 *14} 2,500
1)2009 224X AAIH & 2K R X
2,500, 0002 *14} 2,500
203 ARFXY| 10,000 4,000 6,000
038 AMZZ 2=y 10,000 4,000 6,000
NENSY ARF 1,000, 0002 14! 1,000
NZEIMEXE AREFY| 250,000 * 122 3,000
ZEQIMETA=R AREZY|
6,000, 0002 14! 6,000
1AL = X CH B 15,460 15,500 A40
201 L2yl 3,360 3,400 A4
NEETEIT 3,360 3,400 A0
e A =SXI0E T3S R
60,0002 *6H 360
DAIBI=X HMERs X 22 S
3,000, 0002 14! 3,000
203 Ryl 10,000 10,000 0
038 AEFZALFY| 10,000 10,000 0
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S FEOIMER R D
Hal: FOIMBRR NUASE 4
S BHRIA HXSZ CEEED
_ _ _ N E
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K ‘Oﬁ,‘\jg‘; HwsZ
NHAS 2MR24 92
20,0002 *1,8007} 71433 108,000
ZOIMEAHIA o1 BS 1,188,538 1,577,500 388,962
=2 232,985
Al 415,253
XA 540,300
BIZEAHIA TR BRAY 7,330 6,830 500
201 gr2g| 850 350 500
01 At 2tel| 850 350 500
NI HESUD T3S MR
50,0002 *7JH 350
SR ZAMEE MZ S 500,002 14 500
203 Y=Y 6,480 6,480 0
03 NHEZML=| 6,480 6,480 0
IS HELUIIAIY 29
480,00021 *14] 480
SRR 2B0H A 1,000,000 *14} 1,000
1)QI2EMBIA A 22
5,000, 0002 14! 5,000
X=X AHIA &8RS 166,800 85,470 18,670
= 83,400
Al 41,700
XA 41,700
307 QI2H0IF 166,800 85,470 18,670
= 83,400
Al 41,700
XA 41,700
05 CI2SEs 166,800 185,470 18,670
1)0FSOIXI S SFaMtIA
166,800, 00021 *14] 166,800
2 83,400
Al 41,700
A 41,700
ANBIZTAIY 29 97,480 100,500 A3,020
201 gr2g| 7,480 10,500 A3,020
01 At 22l 6, 180 9,200 A3,020
DAEISTAE 29 6. 180




AN =M A D
Hu: ZOIMETA NHIASE B4
Chol: ZOIMEBAHIA O BE (9l &2)
CHH L ER(EA) - NRAY - BAS Aro B =2
0l &
)N EXAE NS Atelld g2t
2,000,000& *14! 2,000
NEEZE BSIAHAN =E
200,000& *16JH0 J| 2t 1 3,200
doRIRs 24 ¢ 70,0003 +7 & *23| 980
=234l 1,300 1,300 0
HEEAM =X 2 SHHNERES
650,000& 23| 1,300
2H0I & 90,000 90,000 0
HBNBXR 90,000 90,000 0
AL 2 (SR, 83
45,000, 000& 204 A 90,000
AMEI=TAE JIs2F 498,900 684,700 2 185,800
Al 249,450
AHA 249,450
A= 01 & 498,900 684,700 A 185,800
Al 249,450
A 249,450
ZHCH & AR I 498,900 684,700 A 185,800
=X JlsE2l 498,900,000 » 14! 498,900
Al 249,450
A 249,450
XX & A 299,170 532,000 A 232,830
= 149,585
Al 74,793
DS 74,792
dotE Az 299,170 532,000 A 232,830
= 149,585
Al 74,793
A 74,792
IBEH6S 299,170 532,000 A 232,830
N2A==sXX 299,170,000& » 14! 299,170
= 149,585
Al 74,793
AL 74,792
= W 22 29 118,858 68,000 50,858
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Hal: FOMBRR NUASE 4
CHelr FOIMBAHIA O BE (£ &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol Ak O BlusZ
ZoO W3 22l 2Y Al 49,310
XA 69,548
101 Q14| 46,438 46,200 238
Al 22,530
XA 23,908
10 JIZH22NELS 46,438 46,200 238
1)ZS0r2 eIty 19,290,000 2% 38,580
Al 19,290
R 19,290
NEAMR SR+ 135, 00024 283 * 128 3,240
Al 3,240
o3 223 S 4,618,000 *14! 4,618
201 ereg| 20,800 19,000 1,800
01 At 22l 4,000 4,000 0
LT 4,000,0002 14! 4,000
02 B2 16,800 15,000 1,800
=223 15,000
AP E=T= 180, 0002 %23 360
2)H 523 90,0002 *20H * 122 2,160
MBI LTS 90,0002 122 1,080
2)&IIRa 950,0002! *12% 11,400
1)ESORL AlE ZHl S
1,800,00021 *14} 1,800
203 YR 1,300 1,300 0
03 ANRZ=AL=ZIY] 1,300 1,300 0
ESO 29 1,300,0002 *14} 1,300
307 QI2t0IF 50,320 0 50,320
Al 26,780
XA 23,540
05 0IZt9IErZ 50,320 0 50,320
1)IIZZSHI(FH B3 50,320
2) 0121 19,290, 0002 2% 38,580
Al 19,290
A 19,290
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M ZOIMETR NUIASE &4
et ZOIMENHIA o1 BE (9l &2)
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
DEEE 4,250, 00024 *2JH 2 8,500
Al 4,250
XA 4,250
)= X ag 135,000 %224 *122 3,240
Al 3,240
SBIA ZRMEIA 13,880 13,880 0
STNHAK SEEA 13,880 13,880 0
201 L2yl 12,880 12,880 0
01 AFR2elb] 12,880 12,880 0
SXHAR S8 EA 12,880
2)SXIZOIMEA oI
3024 %10,0000H 112 3,300
D)SEIAL AT 22t 5,002 +8002 4,000
2SN HAT HLYNHIA
30250021 *122 180
DAY BLNS AAE
300, 0002 23| 600
)RBLEU L SN
400,000 1CH* 122 4,800
203 AREXy| 1,000 1,000 0
CIEEEEETY 1,000 1,000 0
NESZAN DS L A3 1,000, 0002 14! 1,000
e =A ES 185,032 111,316 73,716
= 24,541
XA 160,491
NASA 2% a5 75,102 68, 136 6,966
= 24,541
XA 50,561
101 Q12| 30,472 29,894 578
= 15,236
XA 15,236
10 JIAHIZ2HSES 30,472 29,894 578
)RR ZA ZOUIOIE T<00 212yl
30,472, 0002 *14] 30,472
2 15,236
XA 15,236
201 L2yl 42,210 31,642 10,568
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Ha: FOIMEXE NUIASE &4
©°: A3 SAL &S (&2 &)
- _ . NE
S HH O (3H) - NBAY - B2 Of) &F o8 e H D=2
201 829y = 9,305
AEAI 32,905
01 AtR2teldl 23,600 10,520 13,080
DAY SAF 22 243 23,600
2)NASA SEHMI 22t
8,000,000& * 1Al 8,000
2)XNSEN 2HAY LS
70,000& x20H *23| 2,800
)N S AITNE W X A=
5,000& 200 23| 2,000
)N SAIUNE LAE M
1,000,000& *23| 2,000
2)NBASAUE =2 SHE
6,000& *200H *23| 2,400
)X ZEAK =& HIE 1,600& 4,000 6,400
02 =32&H| 18,610 21,122 N2,512
DA S AL AollEE 18,610,000& * 1 Al 18,610
= 9,305
KEA 9,305
203 HRF=ZXH| 2,420 6,600 4,180
03 AMF=XHIFZAH| 2,420 6,600 AN4,180
1N E ALK 2HE 3 2,000,000& * 14| 2,000
NS AIHE 2HE 3] 420,000& * 1A 420
A2sSAMeEs N3 103,680 37,180 66,500
201 B2 9| 32,060 22,760 9,300
01 At2teldl 8,560 7,560 1,000
DAASAHET 29H| X3
30,000& *21H A% 12& 7,560
NASSAIHE ASIIHE HE &
1,000,000& 14! 1,000
03 SAI2SEHI 23,500 15,200 8,300
1)XH& S AF 8 A 21,500
2)AEIE JH E 7,000,000& * 14! 7,000
Q)NIASMNESEE FY S
7,000,000& * 14! 7,000
)Mo g2 1,000,000 *23| 2,000
2)K S ALTHEE SHA} 250,000& *23| 500
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o FOIMBNE MUlASE B4
ol JHE BA BE (Ero: &8
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
2)XAZAX HIt 213l
5,000,0002 14} 5,000
1ToIaS| A 1,000, 000! *23] 2,000
301 YprEAZ 71,620 14,420 57,200
07 BI2HOI=QI07H| 20,000 0 20,000
DXHRZ AR o201 1,000, 0002 x20% 20,000
12 JEtR A3 51,620 14,420 37,200
DRASA 25 51,620
DHSUSLANE 200,0002! *103] 2,000
DUTOEE SY LAE 400, 0008 *13] 400
NAZA S 400, 0008 *23] 800
DNAZAE BAS(RDE =)
400,000 7% +23] 5,600
DK ZAHE 2AIR (L)
200,000 558 x23| 2,000
AT EE SAH| 5,000 1002 x43] 2,000
MBI L AXA AARIA S
70,0002 *6% 420
DA ZAR SAI 5,0002! +40% + 1202 24,000
2N ZAK DS 3,000% *40% * 120 14,400
IAHE ZOI0lS ZAES 6,250 6,000 250
201 Yer2gy| 2,500 4,000 A 1,500
01 At=R2t2IH| 2,500 4,000 A 1,500
IAHE SAZSESE 7 500, 0008 *53] 2,500
301 YsrEAZ 3,750 2,000 1,750
12 JIERaa 3,750 2,000 1,750
1TAHE RRSAR S4H]
5,0002! ¥50% +53] 34! 3,750
BHE AR (FUMST A D) 146,700 132,000 14,700
ol ol 7,500 7,200 300
olzte | 7,500 7,200 300
203 YRETH 7,500 7,200 300
01 JIASIYRETY| 3,300 3,000 300
2L EN 3,300,0002 14} 3,300
04 SASIYIETY| 4,200 4,200 0
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AN A2 =X

e SO (BIH]) - MEAY - B A= Ao gggf; HRS2
69,545,974 72,041,983 AN2,496,009
= 40,596,909
Al 19,204,352
AEAI 9,744,713
68,920, 126 71,445,275 N2,525,149
= 40,532,250
Al 19,109,322
KEAI 9,278,554
= ! 61,535,747 63,245,660 A 1,709,913
= 36,592,751
Al 17,157,622
KEAI 7,785,374
60,998,947 62,712,180 N 1,713,233
= 36,592,751
Al 17,077,622
KEAI 7,328,574
1,000 1,000 0
1,000 1,000 0
1,000, 000& * 14 1,000
60,959,947 62,676,180 N1,716,233
= 36,569,951
Al 17,066,982
KEA 7,323,014
IEEPARS 60,959,947 62,676,180 N1,716,233
HZ2O 45,117,849,000& x 1Al 45,117,849
= 27,070,709
Al 12,632,998
KEXI 5,414,142
12,483,705,000& 14! 12,483,705
= 7,490,223
Al 3,495,438
KEHI 1,498,044
1,712,956,000& 14! 1,712,956
= 1,027,774
Al 479,628




AN A2 =X

Hu: YASS MY X8
©ell HASES MK 2 FNS0 XS (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
XA 205,564
1)3H & ZHIZ0f 178,425, 00024 #141 178,425
2 107,085
Al 49,959
XA 21,411
DAAANSSIHOANY 60,168,008 14 60, 168
2 30,084
Al 15,042
XA 15,042
DESCEIST] 1,406,844
AELIBESS=EY 1,318,500, 00024141 1,318,500
2 791,100
Al 369, 180
XA 158,220
D)TIAS HOhAY THAX
88,344,0002 *14] 83,344
2 53,006
Al 24,737
XA 10,601
402 PIZEXHEOIH 38,000 35,000 3,000
2 22,800
Al 10,640
XA 4,560
02 DIZHTHE AFRlH] 38,000 35,000 3,000
NEH(HSZNLS FL2lAY
38,000,0002! +141 38,000
2 22,800
Al 10,640
XA 4,560
24T AX YR 9L 456,800 453,480 3,320
01 YL 456,800 453,480 3,320
01 AEEFEATZ 456,800 453,480 3,320
NHASHA(ZLIIZLST) IR
20,0002 %11,42074 7 23] 456,800
RN ML LBX ALY 80,000 80,000 0
Al 80,000
203 YREIY] 80,000 80,000 0




AN A2 =X

Hu: YASS MY X8
©ell HASES MK 2 FNS0 XS (5l &2
SH-EH . C(BH) - NRAY - BES Off &F oA gggf; bRz
203 YREIY) Al 80,000
CIEEEEEESST 80,000 80,000 0
NYSEXAHIA ST AL
80,000,0002! #141 80,000
Al 80,000
MBIFENE RESS M 6,943,576 7,771,102 £827,526
2 3,939,499
Al 1,932,393
XA 1,071,684
NAREHEH 29 637,420 582,786 54,634
2 295,053
Al 187,090
XA 155,277
201 Yeregy) 5,350 5,350 0
01 A= 2ell 5,350 5,350 0
1) X2 AR T 2t 5,350, 00024 * 14! 5,350
203 YREIH] 2,400 2,400 0
CIEEREEETY 2,400 2,400 0
DREESEEESS 200, 0002 * 12 2,400
307 2120l 629,670 575,036 54,634
2 295,053
Al 187,090
XA 147,527
05 QIIES 629,670 575,036 54,634
DRSNS 629,670
2)ENE (1H4), EEH (2H4) 2l
535, 1070002 *141 535, 107
2 267,554
Al 133,776
XA 133,777
D)-HEHAUNS XA S|
54,999,000 17§ & 54,999
2 27,499
Al 3,750
XA 3,750
2INATEME BAK SX4E
39,564,00021 +141 39,564




22
J2

20
B
2

Al

39,564

W

Al
AHA

1,112,120

556,060
278,030
278,030

1,144,000

H

Al
AEAI

1,112,120

556,060
278,030
278,030

1,144,000

n
oy

40

s
0F
H

1,112,120,000& * 14|

H

Al
KA

1,112,120

1,112,120

556,060
278,030
278,030

1,144,000

10,720

10,720

6,720

6,720

DXGASIEXNEAM ARS =&

70,0003 62| x 16

6,720

6,720

6,720

4,000

4,000

[

EER-EE

4,000,000& *14]

4,000

4,000

4,000

H

Al
D]

391,942
235,165
109,744

47,033

447,568

e
c
HL
0>
i

H

Al
AHA

391,942
235,165
109,744

47,033

447,568

391,942,000 =14

H

AHA

391,942
391,942

235,165
109,744
47,033

447,568




A

=

OH
i

=1

R
J2H

W

Al
AHA

4,732,691
2,837,491
1,324,162

571,038

5,536,440

1,540

1,680

=

70,0003 11 23]

1,540

1,540

1,680

2,000

2,000

500,000& 4]

2,000

2,000

2,000

W

Al
NS

—_

,962,771

—_

, 177,663
549,576
235,532

2,766,380

1,962,771,000& = 14!

H

Al
KA

1,962,771

1,962,771
1,177,663
549,576
235,532

2,766,380

H

Al
AHA

2,766,380

—

,659,828
774,586
331,966

2,766,380

[m]
rJ
T
1
oy

[

o
K
40
o

r
m
]

2,766,380,000& *14]

H

AHA

2,766,380

2,766,380

1,659,828
774,586
331,966

2,766,380

ton
14
0lo
18]
og
H0
02

W

Al
NSl

29,883
15,730
13,207

946

28,255

29,883

28,255




ASIFSEAS XH&tsE M3 (S &)
K- E3 .S (3H) - MBAY - B Ofl A o4 gggf; HRS2
307 QIZ2+tol A = 15,730

Al 13,207
KEAI 946
05 QIZIFE= 29,883 28,255 1,628
NAlsIEgaz )y 29 29,883
Q)M EsE2 )8 29|
5,500,000 * 100 A *x4& D| 22,000
= 11,000
Al 11,000
QA EST2 8 EFH A Al
7,883,000& x 14! 7,883
= 4,730
Al 2,207
KEXI 946
HAZSALALS 28,800 21,333 7,467
Al 20, 160
KEAI 8,640
307 QIZtolA 28,800 21,333 7,467
Al 20,160
DS 8,640
05 0I2te&3 28,800 21,333 7,467
1) XIS = AbAFES 28,800,00021 14! 28,800
Al 20,160
KEXI 8,640
MAAT AL A2 =S 428,077 414,610 13,467
Al 19,307
KEAI 408,770
222 Al 398,170 399,010 A\ 840
101 Q14| 396,530 396,530 0
10 JIZHZ22XNsEES 396,530 396,530 0

396,530,000& *14] 396,530
201 ZEr=3H] 840 1,680 A 840
01 AtR2teld 840 1,680 B840
nNeIgs =g 70,0003 «3H »43] 840

203 YR=&H| 800 800 0




2AM: AtRIS X0
By YASES MY X

Crel: BEAAT ASIST FE (2588
_ _ poIE =
SA D ERI(EH) - MEAY - BAS 0 &t g HDE2
CEEEEEETT 800 800 0
CEEER 200,002 +43] 800
PEY 70 PN B 19,907 15,600 4,307
Al 19,307
XA 600
101 o124 19,307 15,000 4,307
Al 19,307
ESIEI EE == 19,307 15,000 7,307
DHYAEA I23 15,000, 0002 14! 15,000
Al 15,000
N4 2 eEE 4,307,002 %14 4,307
Al 4,307
201 wereey) 600 600 0
01 ASzab 600 600 0
DETUHAMT =22 208142, 50021+ 122 600
wE Heeesl W 10,000 0 10,000
201 wsrey) 9,000 0 9,000
RCEET] 3,000 0 3,000
DEEEEEIEEE 9,000,002 14! 9,000
208 YRz 1,000 0 1,000
CEEEEEEST 7,000 0 7,000
DHesEs geENY 1,000,0002 +14! 1,000
NAsE 2= 12,726 13,903 ATATT
HASEFEHET 3t 12,726 13,903 ATATT
05 HASS 12,726 13,903 ISR,
01 BNZS 12,726 13,903 177
DHASHHMXZSTE 22 c4LEa
7,070,002 14! 7,070
DHASHHMXZENE 01X c4LH
7,070,000 x20%+4 5,656
Hojel =X =& 483,648 466,508 17,140
= 64,659
Al 95,030
XA 323,950




SH: ARSI XD
Hal: Zojol =X EX

2l HOHQIALEI & 0013 (el &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ZOHCIALSI & O D13 179,285 137,781 41,504
Al 41,294
AN 137,991
ZOHe AR HEHARE 82,588 80,084 2,504
Al 41,294
AN 41,294
101 oldt| 30,000 30,000 0
Al 15,000
AL 15,000
10 JIZtHZ2Z2NSEs 30,000 30,000 0

625,000& »4H 128 30,000
Al 15,000
AN 15,000
201 LEHREH| 52,588 50,084 2,504
Al 26,294
AHA 26,294
01 At22t2iH 17,542 18,068 A526
NEFEY SAUI(EXE, SZE FHl)
151,200 *500H A 7,560
Al 3,780
AHA 3,780
NEMHAHAEHA LBtEH| 7,102
2)Y ==&l 3,111,000& »2CH 6,222
Al 3,1
A 3,1
2)EEE cEA 2203 *4,000% 880
Al 440
AHA 440
1)=& 60,0002 x4 =122 2,880
Al 1,440
KHA 1,440
02 3323l 35,046 32,016 3,030
1) 2 1,100, 000& »2CH 123 26,400
Al 13,200

A 13,200




SH: ARSI XD
Hal: Zojol =X EX

el ZOHAALRI EH I3 (el &)
_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
1)S4Y 40,000 =20 =122 960
Al 480
S| 480
Neg=z 2,643,000 *2CH 5,286
Al 2,643
A 2,643
1) Al Xt 100,000 «2CH 12 2,400
Al 1,200
A 1,200
ZOHQIALS &S X & 96,697 57,697 39,000
201 LEHR | 54,741 49,897 4,844
01 AR 2&cldl 5,740 5,740 0
NI ER 7 750& =4, 0000H 3,000

70,000 x8H »43] 2,240
NZEHUEIAIE D 2A=
100,000& +53] 500
02 3323l 1,401 1,147 254
NgRENY A= 1,822 +600L* 1 1,094
NYLEXNY XSAHA 93,000& 1= 93
NERENY MUBES 214,000& =14 214
03 A2 47,600 43,010 4,590
Nasclads 3,000,000 * 14! 3,000
NEOHIY IS & A 12,000,000& 14| 12,000
1) A& ZHOH Q1 3 At 3,000,000 * 14! 3,000
1) ZOH QI & A} 27,000,000 » 14! 27,000
WO R S Z5HEH A
2,600,000& »14] 2,600
301 LetEA= 9,000 7,800 1,200
01 AMal2HEH*6= 9,000 7,800 1,200
NEHUMEAL L 22A4 HE AR22
9,000,000 * 14! 9,000
307 QI2toId 32,956 0 32,956
02 QlzrAAEx 32,956 0 32,956
DA AR 2SI 32,956




SM: AEI= XD
HE: ool =X S
cHl: AOHOI ALl & 01013

SN C(BH) - NRAY - HES Aro e 2

2)ZelHl(Megd) 950,000& * 123 11,400
2)2&elul (A= Z2tHAL) 850,000& »12& 10,200
2)33L2 25,0003 *12& 300
2)R 1Al 88,000& ~12& 1,056
)8 2s2d 5,584,000& * 14! 5,584
2)8IE 27244l 4,416,000 *14] 4,416

ORI AIE X2 ALY 304,363 328,727 AN24,364
= 64,659
Al 53,736
AL 185,968

HOHCIEHOIAI S X & ME XA 30,700 24,480 6,220
Al 15,350
DS 15,350

307 21201 H 30,700 24,480 6,220
Al 15,350
AHA 15,350

02 BIZHEANE X 30,700 24,480 6,220

DXMEOHCIEHAA LK AME 2EH K&

30,700,000& =14 30,700
Al 15,350
DS 15,350

H0H0ts AH=0IAE K& 29,954 28,250 1,704

307 2IZ2t0lA 29,954 28,250 1,704

05 QIZIRIE 3 29,954 28,250 1,704
1N0ISHE 2¢Y 29,954
)24l 9,222
MANREE LUl S 154,000 123 1,848
RYE=FAT=2°-K:] 813,500& *4Z J| 3,254
38322 £ WA 110,000& * 123 1,320
NAMMEERZ 2,200,000& 14 2,200
A=y (HLEl) 50,000& *12& 600
2)e121t| 20,732
=3 725,0003 x 19 =122 8,700




SH: ARSI XD
Hal: Zojol =X EX

CHl: FOHOIAIS X 8 AHY (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
O EEEEENCEEE
12,032,0002 1 12,082
Zojel LX2l Abel 141,430 133,300 8,130
= 64,659
Al 38,386
XA 38,385
401 AlEHIL 20| 141,430 133,300 8,130
= 64,659
Al 38,386
XA 38,385
01 AldH] 141,430 133,300 8,130
1)ZOHQI =S XL K2IA Q1 21H|
28,000,000 14! 28,000
2 8,400
Al 9,800
XA 9,800
DENTIESEP IR
2,280,000 14! 2,280
2 684
Al 798
XA 798
1)Z=0IMEf SR OIAH Q1 24H|
111,150,000 * 14! 111,150
2 55,575
Al 27,768
XA 27,787
ZOHQI0ISH E4 MHIA A 98,279 142,697 A44,418
307 eIztolH 98,279 142,697 £44,418
EIEIET RS 98,279 142,697 A44,418
1)ZOHQI0ISHIAA LK ZME 2SSl N
98,279,000 14! 98,279
MBISTIAE XIS, B 4,000 0 4,000
201 L2yl 4,000 0 4,000
01 AtR2elt] 4,000 0 4,000
DAIBISXIAIS NS, B2 SASHA 5
200,000 %202 4,000
™2 YA (AE =X D) 142,200 130,200 12,000
oz 2y 4,200 4,200 0




2AM: AtRIS X0
B SR 2o (ASI= D)
Crol: olei2 oy (£r9): & 2
_ _ _ Muo
SA - BE - BA(EA) - NRAY - BES 0] & 08 i HRE2
ol 2EH| 4,200 4,200 0
203 HRF&H 4,200 4,200 0
04 RM2IHRFLH 4,200 4,200 0
NEAHIFE 350,000& 122 4,200
Jl23| 138,000 126,000 12,000
Jl=3| 138,000 126,000 12,000
201 et 60,000 48,000 12,000
01 At 2eldl 60,000 48,000 12,000
12E o4 Y NPE2EY S
1,500, 000& 123 18,000
DEEL] 7,000 x20L *25H x 12 42,000
202 O4Hl 78,000 78,000 0
01 =2LUAbI 78,000 78,000 0

1)= Lo 20,0003 » 13 +25& x12& 78,000




M JMESX L
B F 200 B4 L 0j&l ABIZOl IO
cHel: EFAXS (E49: & 2)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
JHE =R 103,298,645 84,740,601 18,558,044
= 40,077,368
Al 34,128,296
AHA 29,092,981
.70t 4 2 4o AIEAH JIN 51,801,329 45,211,422 6,589,907
= 10,767,562
Al 23,003,918
AHA 18,029,849
ESASXA 51,080,669 44,847,612 6,233,057
= 10,746,292
Al 22,896,853
AHA 17,437,524
SALRE Q124d| 5,801,173 5,690,777 110,396
= 1,740,352
Al 2,842,575
KHA 1,218,246
307 QIZ2t0IA 5,801,173 5,690,777 110,396
= 1,740,352
Al 2,842,575
DS 1,218,246
05 BIZtREZ 5,801,173 5,690,777 110,396
NESAIE SALAL 14|
5,801, 173,000& 14 5,801,173
= 1,740,352
Al 2,842,575
DS 1,218,246
MY Bmiea] 389,337 349,653 39,684
= 116,801
Al 190,775
AHA 81,761
307 QI2t0IA 389,337 349,653 39,684
= 116,801
Al 190,775
XHA 81,761
05 QIZtREZ 389,337 349,653 39,684




M JMESX L
B o900 B4 L 018 MBIFO Il
cHel: EFAXS (649l &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
NOZ2FAIE W w =] 389,337,000& 14! 389,337
= 116,801
Al 190,775
AN 81,761
g 249l 4,400 16,133 211,733
= 1,320
Al 2,156
AHA 924
307 QI2t0IA 4,400 16,133 A11,733
= 1,320
Al 2,156
| 924
05 QIZtRE 3 4,400 16,133 211,733
Nxg 244 2,200,000& 204 A 4,400
= 1,320
Al 2,156
THA 924
MHAsE HsE=s8 N2 22,625,580 10,737,617 11,887,963
= 6,787,674
Al 11,086,534
DS 4,751,372
307 QI2toId 22,625,580 10,737,617 11,887,963
= 6,787,674
Al 11,086,534
AHA 4,751,372
05 GIZtREZ 22,625,580 10,737,617 11,887,963
NHASE NHSESE
22,625,580,000& 14! 22,625,580
= 6,787,674
Al 11,086,534
A 4,751,372
g5NI0F R B2 1,407,970 1,661,280 A253,310
= 422,391
Al 689,905
DS 205,674
307 QIZ2t0IA 1,407,970 1,661,280 A 253,310




A JHE=X10

M 4. R0t 4 E 642 MIEAH JIH
el ESARIR (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0IA = 422,391
Al 689,905
AHA 295,674
05 QIZtREZ 1,407,970 1,661,280 A 253,310
1)25HI0L R4EsE X
1,407,970,000& » 14! 1,407,970
= 422,391
Al 689,905
A 295,674
0ot R EF2 1,229,153 1,057,320 171,833
= 368,746
Al 602,285
AN 258,122
307 glzZtold 1,229,153 1,057,320 171,833
= 368,746
Al 602,285
AHA 258,122
05 CIZtREZ 1,229,153 1,057,320 171,833
NEOF LAEERE X
1,229, 153,000 * 14! 1,229,153
= 368,746
Al 602,285
AN 258,122
SHEA BN 1,709,377 2,320,880 A611,503
= 512,813
Al 837,595
DS 358,969
307 gQiz2tol™ 1,709,377 2,320,880 A611,503
= 512,813
Al 837,595
DS 358,969
05 QIZtREZ 1,709,377 2,320,880 A611,503
NEAEHA B2 K&
1,709,377,0003 » 14! 1,709,377
= 512,813
Al 837,595
DS 358,969




M JMESX L
M 4. R0t 4 E 642 MIEAH JIH
el ESARIR (9l &2
SN S(B) - NRAY - B2 O] &k o8 Bl =2
0l &
AM&EDI0IE0ts 2= 1,177,200 0 1,177,200
= 353,160
Al 576,828
DS 247,212
307 glzZtold 1,177,200 0 1,177,200
= 353,160
Al 576,828
A 247,212
05 GIZtREZ 1,177,200 0 1,177,200
NAIE DI0I8 Ot s
1,177,200,000& 14! 1,177,200
= 353,160
Al 576,828
DS 247,212
ESFUA E10=FH| 52,017 42,373 9,644
= 15,605
Al 25,488
KHA 10,924
307 QIZt0IA 52,017 42,373 9,644
= 15,605
Al 25,488
DS 10,924
05 GIZtREZ 52,017 42,373 9,644
NESAESAMI B0
52,017,000& * 14! 52,017
= 15,605
Al 25,488
DS 10,924
A4 &5 ¢ i 2,777,344 708,350 2,068,994
= 427,430
Al 213,714
XHA 2,136,200
401 AIEHIZLROY| 2,715,344 616,350 2,098,994
= 396,430
Al 198,214
XHA 2,120,700




SH: OFESTD
B o 20t S48 L 018 ASIE0 o
el ERATIR (9l &2
i _ . rSJEL== -
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
01 AlZH] 2,712,344 559,380 2,152,964
NESAE dF 2,712,344
2)31H2S ORIOIE ME
972,039, 000& * 14! 972,039
= 198,215
Al 99, 107
A 674,717
2)AHBE ORIOIE MF
297,322,000 * 14 297,322
= 198,215
Al 99, 107
2)AH5E OfRI0IE EXASHAL LAl
= 1,442,983,000& * 14! 1,442,983
03 AlZ=0Hd] 3,000 56,970 A53,970
)AHSS ORIO0IE EX ZEBII44E
3,000,000 14! 3,000
402 QIAXE0IH 62,000 92,000 30,000
= 31,000
Al 15,500
DS 15,500
02 CIZ2HCHH AL HI 62,000 92,000 A 30,000
NESAE&Zd 62,000
2)ERAIL NS (=8 R0 o 2
JMA) 60,000,000 *14] 60,000
= 30,000
Al 15,000
AN 15,000
2)ESAIE FHILI(ZS2S 0IRI01)
2,000,000& * 104 A& 2,000
= 1,000
Al 500
A 500
BAE 2 (AHIEX) 11,441,576 9,404,882 2,036,694
Al 5,720,788
DS 5,720,788
307 gl2told 11,441,576 9,404,882 2,036,694
Al 5,720,788
AHA 5,720,788




A JHE=X10
B o900 B4 L 018 MBIFO Il
&t ESAISEXA (el =
SN B SRA(SIH) - MBAY - BAS 0l & 24 e HRE2
05 GIZtREZ 11,441,576 9,404,882 2,036,694
NESAE 22X 8,846,886
DTUBIT HRE X
282,268,000 » 14! 282,268
Al 141,134
A 141,134
2)AIE 29 2,051,400
3)goter 29| 1,952,658,000& * 14! 1,952,658
Al 976,329
A 976,329
EF WA SAHI 79,208,000& * 14! 79,208
Al 39,604
A 39,604
JNExWE A 19,534,000& * 14! 19,534
Al 9,767
THA 9,767
2)B AL 2124 H] 3,985,018
NAAR2 AE FHAR
132,540, 000& »14] 132,540
Al 66,270
AL 66,270
3)HIAZ WAt 71,382,000& 14! 71,382
Al 35,691
AN 35,691
)i el 418,462,000 * 14! 418,462
Al 209,231
AN 209,231
)M Ayl 3,142,864,000& * 14 3,142,864
Al 1,571,432
AN 1,571,432
NAIAAE 2R 213,282,000& 14 213,282
Al 106,641
AN 106,641
3)ZWAIE QY| 6,488,000 14 6,488
Al 3,244
AL 3,244
2)HIE Y WA} 140,400, 000& * 14 140,400




M JMESX L
M 4. R0t 4 E 642 MIEAH JIH
el ESARIR (sl &
SN C(BH) - NRAY - HES Aro e 2
Al 70,200
AN 70,200
2QIMEE oEoly 3¢
1,960,000, 000 * 14! 1,960,000
Al 980,000
AN 980,000
2)gtutE 22| 400,200, 000& * 14! 400,200
Al 200,100
DS 200, 100
2)24E WAL MM
27,600, 000& * 1A 27,600
Al 13,800
DS 13,800
NZHo S& E=AIL 85,680
2)Z0H0F 1 IH 2 72 H| 20,160, 000& * 1A 20,160
Al 10,080
AL 10,080
2)XIZ A 1 24H] 65,520,000& 14 65,520
Al 32,760
AN 32,760
NOXAE JIE R0t XA 2,509,010
2)2 Bt ATHOL 014 BEEE
1,268,076,000& » 14! 1,268,076
Al 634,038
KA 634,038
)UK JIF gdR0t ds2Y
1,240,934,000 3 » 14 1,240,934
Al 620,467
KEA 620,467
EFANE JIsBL(AMHIER) 70,450 25,000 45,450
Al 35,225
AL 35,225
402 BIZ2HA =0l 70,450 25,000 45,450
Al 35,225
DS 35,225
02 QIZHCHEAIE HI 70,450 25,000 45,450
&0t SEAME &Xbl 30,000,000& * 14 30,000
Al 15,000




M HR=EX D
& 4 K0t 4 L 42 MIEEH JIN
CHel: ES AU (982
- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao @Eiﬁ Hl =2
KHA 15,000
NESZHI0IE AXH 40,450,000 1Al 40,450
Al 20,225
KHA 20,225
SRESHEH(IR0LZ LA 295,462 277,935 17,527
Al 72,985
HR 222 477
307 gQI2t0|A 293,462 127,935 165,527
Al 72,985
HA 220,477
05 BQI2tEt2 293,462 127,935 165,527
1)E AR Q1 24H| 217,148
)ME AR ERSM2R2Y
69,656,000 * 14! 69,656
Al 34,828
A 34,828
BERMERR 1,590,000 x3%H « 122 57,240
RARIR=F =) 40,000 «20 U «2H « 122 19,200
)AL EX 450,000 122 5,400
RDSEE=s 548,200 x55 « 122 32,892
2)EIE Mgz 229,000 x5 « 122 13,740
2)ABIEE 227,000 x5% « 122 13,620
2)JIE} SAHAH 75,0002 x6H 122 5,400
1)22H| 76,314
2)2%Hl L ALHI 76,314,000 x 14l 76,314
Al 38, 157
KHA 38, 157
402 QIZHXH=0|H 2,000 150,000 A 148,000
02 OI2HCHEH ALRIH] 2,000 150,000 A 148,000
Nls 22 2,000,000 x1A! 2,000
BSAL 29 2 JHH 1,917,000 1,593,950 323,050
201 LEHRHH 9,800 7,000 2,800
02 2229 9,800 7,000 2,800
NEZINERHS 4,000,0002 23] 8,000




SA
X XH .
(=

chel:

_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
NAHSE 20l 2222 200,000 »9& 1,800
307 gQI2t0|A 1,877,200 1,556,950 320,250
05 QI2tQIELZ 1,877,200 1,556,950 320,250
NRHRFH(REH2I01E)
1,500,000 3104 A 46,500
NEK0IS 2talt] 9102 4,000 25 » 122 1,092,000
NESDAEL S MY
50,000 1,200 122 720,000
NYE BSDA 22|SMY|
30,0008 x20% « 122 7,200
Nau 2J1&8 =3yl 750,000 8 A 6,000
1)EHH ORI0I& A2 5,500,000 x 14! 5,500
402 QIZtXH=0|® 30,000 30,000 0
02 OI2CHEH ALRIH] 30,000 30,000 0
NIZAHEI0IE ARE B2 ZAHEIENH
018 5) 10,000, 000 34 A 30,000
SBSAIE A 45,860 43,700 2,160
201 LEr=2YH| 29, 100 29,100 0
01 AtR22IH] 2,100 2,100 0
NeEKAs 294 70,0002 x 10 33 2,100
03 BA2ZHI 27,000 27,000 0
NES0IS S0tS MSUa (7, el
) 9,000, 0002 33| 27,000
203 AP =ZH 11,000 11,000 0
03 AIM=RAD=ZY| 11,000 11,000 0
NESAE SALK H=(F8, 002t I0HA)
3,000,0002 *33] 9,000
NESIg gRF3 500,000 *43] 2,000
301 LBtEA3 5,760 3,600 2,160
12 JIEtBA=2 5,760 3,600 2,160
1NESIA EJ|NS A2
30,000 *3Al 2t*2 10t 2+203] 3,600
NoAES DLIEHRS S|
30,000 x5« 12 2,160
o2 =2X35 2 136,770 204,770 268,000
201 LEr2HH| 770 770 0




A JHE=X10
B o900 B4 L 018 MBIFO Il
cHel: EFAXS (649l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 Atf2teld 770 770 0
NSA0te EX3& s0lH 22
40,0003 *385m" x5/100 770
307 glz2told 136,000 204,000 A68,000
05 BIZtREZ 136,000 204,000 268,000
notS2=sExs2 2Zul(EH,ES) 136,000
2)el i 2,500,000 »4H 122 120,000
2)23Hl 8,000, 0003 *2JH 2~ 16,000
HedZ3MLA J|gt2= 720,660 363,810 356,850
= 21,270
Al 107,065
AHA 592,325
e K& 18,620 16,680 1,940
201 LEHRHH| 7,200 7,200 0
01 AR 2&cldl 7,200 7,200 0
)70 L 24 500,000& 63! 3,000
NHALIRS =< 70,0003 10 »63] 4,200
203 HEF=4H 6,400 6,960 A 560
03 AEFAHRFAH 6,400 6,960 A560
NHEZH 2 500,000& 23| 1,000
NHESMXE X 32 2,200,000& x22 4,400
NOHMSH SAES X2l
1,000,000& * 14! 1,000
301 ptsazg 5,020 2,520 2,500
12 JIEIE& 3 5,020 2,520 2,500
neldy e s 50,000& x50 2,500
NYEE T SAA Al
5,000& «4H +63|+211 S 2,520
LEHBESWE HEF2UHA 18,560 13,800 4,760
201 LEHREH| 10,600 10,600 0
01 AR 2cldl 600 600 0
NYLBESNS AL T 200, 000& 32 600
03 #At2EH| 10,000 10,000 0
1) 01 & =23 AL 10,000,000& 14 10,000




2= (S5 & 2)
B . ol (5 ” - HEAC =
.S (2AH) - MBAY - BES Off &F K Ofl At ot Hws2
2,560 2,000 560

F&y| 2,560 2,000 560

SEX 23
2,560,002 *14! 2,560
5,400 1,200 4,200
5,400 1,200 4,200
S ns 2NE
45,0002 ¥120%] 5,400
13,880 11,450 2,430
5,180 3,150 2,030
180 150 30
may| 60,0002 *33] 180
5,000 3,000 2,000
o200y 2y
2,500,002 *23] 5,000
400 0 400
03 ANEZ=ZALEZIY] 400 0 400
B AHRI B | 200,0002 23] 400
8,300 8,300 0
EE) 6,800 6,800 0
U ARSI HOL P
10,0002 16024 x23| 3,200
MEOLY X2
100,000 *3% * 122 3,600
1,500 1,500 0

D2 28 JA=

4500 ,000& *33 1,500
330,000 206,000 124,000
5,000 5,000 0
5,000 5,000 0

(Chs0I2tE 22, BHQ

2,500, 000& *22] 5,000

325,000 201,000 124,000

+=ol= 325,000 201,000 124,000
= N& 325,000

100,000& *1,800& 180,000




A JHE=X10

B G S0 24 U 0j&9l ABIZO IO
ol GIAFNMYUN J|BRE (649l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
2) AU I ot 300,000& »400H 120,000
2)9 WOt ol A 500, 000& x50 25,000
FHNEEXNHEH 29 104,200 104,200 0
307 glz2told 104,200 104,200 0
05 QIZtREZ 104,200 104,200 0
NEAINE=EXHH 29 104,200
2)el i 1,650,000 *4H 123 79,200
2)2gH] 25,000,000& 14! 25,000
AZNE XN HEH 22 (0t0l =201 X&) 235,400 0 235,400
= 21,270
Al 107,065
KHAI 107,065
307 QIZ2t0IA 235,400 0 235,400
= 21,270
Al 107,065
DS 107,065
05 BIZtREZ 235,400 0 235,400
N2 8 K& dH 29 164,500
2)el i 1,919,000 x5H 12 115,140
Al 57,570
A 57,570
2)2gt] 49,360,000 *14] 49,360
Al 24,680
AN 24,680
1)otol =20l K& 70,900
)80l =¢ 146,250 x20H x 123 35,100
= 10,530
Al 12,285
Y 12,285
2) W sH| 200, 000& 20 4,000
= 1,200
Al 1,400
A 1,400
2)2gH 31,800,000& » 14! 31,800




2AM: Ot Xl
. 9 .20t
of ZH

cHel: 08 & Bk (crol &2
A(B) - HEAS - BES &y e
= 9,540
Al 11,130
LA 11,130
46,762,458
= 28,849,806
Al 9,355,113
AHA 8,557,539
Y olmeinE 46,762,458
= 28,849,806
Al 9,355,113
AHA 8,557,539
cel=sE 261,918
= 130,959
Al 65,480
AHA 65,479
AP A 261,918
= 130,959
Al 65,480
AHAI 65,479
261,918
261,918,000 * 14 261,918
= 130,959
Al 65,480
N 65,479
299,610
= 149,805
Al 74,903
AHA 74,902
AP R AD 299,610
= 149,805
Al 74,903
AHA 74,902
299,610
299,610
273,600




SA

X{ ZH -
S =

JHE =X B
=9l =X
el Lol=XEA g

SN HB G (BH) - MRAY - BES 0l & B Hlm= 2
Oil &k o8
J)SHLOl MERALA
600,000 36 %H *12& 259,200
= 129,600
Al 64,800
A 64,800
)SHEQ MElA 22X
1,200,000& *1H 123 14,400
= 7,200
Al 3,600
A 3,600
)23l 26,010
)=S0l MEZL| A 685,000 *36Y 24,660
= 12,330
Al 6,165
KA 6,165
=L MUlA H2l X
1,350,000& x15 1,350
= 675
Al 338
AN 337
=gz 39,744,550 26,622,052 13,122,498
= 27,819,120
Al 5,961,240
AHA 5,964,190
201 Letd| 2,000 3,702 A1,702
01 At 2eld] 2,000 3,702 A1,702
NI=LEAZ MEM HE S
2,000,000 * 14! 2,000
203 YRFLH| 950 950 0
03 AIMFAAR =LY 950 950 0
NIz=L8H2 HRFA 950,000& * 14! 950
301 YEtEa= 39,741,600 26,591,400 13,150,200
= 27,819,120
Al 5,961,240
AL 5,961,240
01 A22HEE=2063 39,741,600 26,591,400 13, 150,200
P EE=R= 39,741,600,000& » 14! 39,741,600




SA
X XH .
(=

chel:

hE =X B
ol =X =X
COI= A U Ol

IH
o
4
i

= O

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 27,819,120
Al 5,961,240
AV 5,961,240
LoldXtel At 2,706,860 1,842,121 864,739
= 749,922
Al 874,909
DS 1,082,029
201 BH2IH] 5,520 2,520 3,000
01 AtER2teldl 5,520 2,520 3,000
NI=HI(AISI SAHE S &Hl)
2,520,000& * 14! 2,520
NeoldXtelAmgy 20 28 2¢
3,000,000& * 14! 3,000
301 Lptsazg 201,600 201,600 0
12 JIEI2 &3 201,600 201,600 0
NOZA ABIZARSE
5,000 x20H »82| x21 S+ 12& 201,600
307 QI2t0IA 2,499,740 1,638,001 861,739
= 749,922
Al 874,909
AHA 874,909
05 QIZtRE 3 2,499,740 1,638,001 861,739
Nl U el At 2,499,740
2)Ard 2,394,440,000& 1Al 2,394,440
= 718,332
Al 838,054
AL 838,054
)iz oAy 105,300, 000& 1Al 105,300
= 31,590
Al 36,855
AN 36,855
LolALRC 5,500 6,452 A952
Al 5,100
AHA 400
203 HRF&H 400 362 38
03 AIMZFAAR =Y 400 362 38




SN =D
M Lol =X =&

o9l LCOISXIEA o olEaRE (el @)
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
1)OIAUZFIE (HAXE 2HA b
400,000& »14] 400
301 LErEA= 5,100 6,090 A 990
Al 5,100
01 A2 A =363 5,100 6,090 A 990
NI AH AR 5,100,000 x 14! 5,100
Al 5,100
IR =01 MY 353,840 396,548 242,708
Al 353,840
201 LEHRHH| 1,500 1,700 A 200
Al 1,500
01 Atf2teld 1,500 1,700 2200
NI R0 2G4 50,0003 26 1,300
Al 1,300
NEAX JIEEHI 100,000& »2&H 200
Al 200
203 HRF=4&H 2,080 1,800 280
Al 2,080
03 AIMFAHR =LY 2,080 1,800 280
1)2t e 3 520,000& 43| 2,080
Al 2,080
301 etEA= 350,260 393,048 N42,788
Al 350,260
12 JIEt2 43 350,260 392,748 AN42,488
NtEE<0l 23 350,000,000& *14] 350,000
Al 350,000
I8 &= <0| XM saEy 10,0003 26 260
Al 260
Lol It EXNAE K& 1,522,109 1,297,048 225,061
Al 552,830
| 969,279
201 LEHREH| 44,000 34,050 9,950
01 AR 2&cldl 10,400 4,050 6,350
NI A& 200,000& »2701 2~ 5,400




SN ObE =X D
s Lol 2% S

Sl LOIZXIEA Y QHRRE (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
IEEEECEER 5,000,000 14! 5,000
02 B2 33,600 30,000 3,600
NZ2Y 2222 L MAl
2,800,0002 *122 33,600
01 YuBAZ 1,139,423 1,151,998 A12,575
Al 552,830
XA 586,593
01 MEEZEAH2 1,115,423 1,127,998 ~12,575
Nd2Y 29 2x3 1,090,923
2)2 | 258, 7552 #2450} A #1221 760,740
Al 524,790
XA 235,950
2)LHerg] 146, 8552 x387 A 62 33,483
Al 16,040
A 17,443
2) ey 100,000 %27H 2 2,700
2) R Al 100,0002 +2457} 4 122 294,000
NF2Y E 9L 50,0002 x2457H £ %23 24,500
12 JlErEAE 24,000 24,000 0
f)eolmal X2 200,0002 * 1074 £ * 122 24,000
Al 12,000
A 12,000
307 IztolH 13,686 0 13,686
05 OIASIED 13,686 0 13,686
DAY &3 T2 B2AX WX 13,686
2)0I24H] 1,000,0002 122 12,000
)28 2 12,000,0002 *4.042% 486
)2l ¥ S| 100,000 * 122 1,200
401 AlSHIL 20| 115,000 111,000 4,000
01 Al&H] 115,000 111,000 4,000
)28 ARY SABAH 60,000,000 14! 60,000
o1& B2 B4l 15,000, 00021 #14] 15,000
NF2Y S2UIMA ALY 228 YY)
40,000, 0002 *17H A 40,000




SA: JFEEX D
M Lol =X S
ol -OISXISY Y OITRRE &)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES &hoh Ol AF o8 Hws2
405 THarE S 210,000 0 210,000
01 TAUSZFSH| 210,000 0 210,000
NZEY HogE 1Y 200,000
2)LCD TV 950, 000! %2204 £ +1CH 20,900
2)0il 0 24 1,000, 0002 *457H £ *2CH 90,000
2)di=D 770, 00024 *307H A * 1CH 23,100
o)caly Il S 1,000, 0002 *667H £ +1CH 66,000
NZ2Y SSUAA AY 2EPY 10,000
) HETV 2,300,000 %2CH*1JH 2 4,600
2)m2 2,000,000 *1CH*1JH A 2,000
2) Abet 1,000, 00021 *1CH* 14 A 1,000
2)0VD Za010f 400,00021CH*1JH & 400
2)S 8 E | 2,000,000 *1CH*1JH 2 2,000
22AY 29 904,480 781,788 122,692
Al 694,880
XA 209,600
301 LerEAZ 904,480 781,788 122,692
Al 694,880
Rt 209,600
NIEEEEEEE 904,480 781,788 122,692
NZzAY 2o 904,480
2)Braly] 2,500% *1,060% x262 * 122 826,800
Al 670,800
A 156,000
2)Salt| 4,00021,060% 73| 29,680
Al 24,080
A 5,600
2)2 | 400,000 * 1074 A * 122 48,000
ol ALAMHRE 771,931 531,072 240,859
Al 771,931
301 LerEA 771,931 531,072 240,859
Al 771,931
01 ABIEEEAGS 771,931 531,072 240,859




SA
X XH .
(=

chel:

JHE =X B
ol =X =7
COISXEA W oHRRE

_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
DHAS THIH=O! AlAHHE 771,931
2)Al AU 615,087
3)2Bralt] 2, 50021 654 *3652! 596,775
Al 596,775
3)S Al 4,000% 654 +73] 18,312
Al 18,312
2)eera 156,844
3)2Braly| 3,000 *452% +523 +23] 141,024
Al 141,024
3)SAltl 5,000 %452 +73] 15,820
Al 15,820
COIMEAL 2A3 9,980 229,644 ~219,664
203 PR=EXY 1,200 1,200 0
CINEEREEESST 1,200 1,200 0
1A SALR 2tEt3] 600,0002! *23] 1,200
01 Yerea3 8,780 8,600 180
TIREEEEESE 8,780 8,600 180
DEQIAE QAT 918 10,0002 %439 *23] 8,780
COIBAL X1 36,940 27,740 9,200
201 Y2yl 5,700 4,300 1,400
01 ARzl 5,700 4,300 1,400
el & BRI 7Y S 80,0002 *50% 4,000
NE=X0I2 2ARs & 2
70,0002 *5% 23] 700
NIZYAN E22 7Y S 500,0002! 23] 1,000
203 PREXY 31,240 23,440 7,800
CIREEREEEST 31,240 23,440 7,800
DB & #AH X 28,800,00021 * 14! 28,800
NZEYA LRETY| 2,440,000 *14! 2,440
201D MY BDE 7,800 6,375 1,425
201 pr2oy| 7,800 6,375 1,425
01 ARzl 7,800 6,375 1,425
NPSDALL BN 7,800,000% 14} 7,800




A=A
g Lol =X &2
€l ColsXgd 2 elde R (Sl &

_ _ HE T
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ol Ak O Blus
Lologt IR0y 2 59,440 0 59,440
307 QI2tolA 59,440 0 59,440
02 PIHAMEE 59,440 0 59,440
NBRYas SO0 ANE2Y
55,440,000 « 14! 55,440
1)-olotnt 2 He 4,000,000 *14! 4,000
Aty 77,500 0 77,500
201 Yere gl 8,000 0 8,000
01 At=222[H] 8,000 0 8,000
NEAE S 222 M= 1,000,0008! *43] 4,000
NZeY AR S 1,000, 0008 *43] 4,000
203 PREXY| 1,000 0 1,000
CIREEECESSE 1,000 0 1,000
1)&lt ot et 2bets] | 1,000, 0008 *14! 1,000
301 YsrEAZ 48,500 0 48,500
11tz - 2eSRSEYE 44,000 0 44,000
1)EHE Atelbl 500, 0008 * 102 5,000
1) e Ar2 I 300,000 25 » 102 6,000
DELINETE 200, 0008 122 « 102 24,000
DEE=E] 200,0008 * 102 2,000
etEne o 2508 I
2,500,002 14} 2,500
DIEERE] 300,0002! * 152 4,500
12 JE2AE 4,500 0 4,500
NZSEH ST AL 1,000, 0008 *43] 4,000
DAFER AAE Ab2i ] 100, 0008 *52 500
405 RHaHE S| 20,000 0 20,000
01 AU SEFSH] 20,000 0 20,000
Eg, ¥TS Bt 20,000, 000! *14! 20,000
=PNERCTR-E Y 4,455,458 2,144,010 2,311,448
= 460,000
Al 1,769,265
Rt 2,226,193




A
M XH: X
o= oS

chel:

HE =X

SA - EE S (3H) ey - By gggf; HRS2
Ols.3A4W e84 & 25 4,455,458 2,144,010 2,311,448
= 460,000
Al 1,769,265
DS ,226,193
Z2A0ls 34 1,987,465 1,800,000 187,465
Al 1,057,465
NP 930,000
301 LBt A= 1,987,465 1,800,000 187,465
Al 1,057,465
KEAI 930,000
01 AIIEEE 0= ,987,465 1,800,000 187,465
1NZA0IE SAH|(XAA Bists S Al)
1,860,000, 0003 *14] ,860,000
Al 930,000
XEA 930,000
1)ZA0ls SAH(EBE2S4AH|)
127,465,000 14! 127,465
Al 127,465
=8 344 23 38 MdE ,094,074 0 2,094,074
= 428,000
Al 690,000
KEAI 976,074
401 AIEHIZL 204 ,094,074 0 2,094,074
= 428,000
Al 690,000
KEAI 976,074
01 Al&H| ,094,074 0 2,094,074
1NBEHAYE SoldBHEH HEH
2,094,074,000& * 14! ,094,074
= 428,000
Al 690,000
KEA 976,074
HAa4 &H 106,000 104,000 2,000
= 32,000
KEAI 74,000
307 QI2tolA 106,000 104,000 2,000
= 32,000




A JHE=X10

M AW 25 Y 8K
&2l Ols.84d HASH & 25 (el =
_ _ MNuE o
SN CR(EH) - NRAY - BES 0 & 24 e HRE2
307 glz2told AHA 74,000
05 BIZtREZS 106,000 104,000 2,000
NELE dH 23] 106,000, 000& =14l 106,000
= 32,000
A 74,000
d2E ERY 108,984 92,839 16, 145
Al 3,300
AHA 105,684
307 QI2told 105,984 89,839 16, 145
Al 3,300
AHA 102,684
05 GIZtREZ 105,984 89,839 16,145
Nales 32 249 99, 384
2)el i 2,353,830 x3F 122 84,738
)28 = 397,380& »3H 12 14,306
2)g 2l 10,0003 34! 340
NaNes 2 A& HI(0k2H)
6,600, 0003 »14] 6,600
Al 3,300
KHA 3,300
402 2IHX=01M 3,000 3,000 0
02 QIZtCHEH AL I 3,000 3,000 0
Nales 32 sXel
3,000,000 *1JH & 3,000
NAZRY 48,701 38,817 9,884
101 el2iH] 24,101 22,417 1,684
10 JIZAHN22ASE* 24,101 22,417 1,684
NEABE Y2 (43,45, 47055 24,101
2)ARE X oAy 30,0003 360 x2H 21,600
2 AUEE = 104,170 28 x12& 2,501
201 ZEH2IH] 24,600 16,400 8,200
01 AR 2&cldl 6,600 4,400 2,200
)XY BRY AREE 7Y
1,200, 000% *3H 2 3,600

1,000, 0003 *3H 2= 3,000
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2)211 0] &4~26 0] 8F
1,365, 62021 x28% * 128 458,849
2)26 0] Af~ 1,453,002 122+ 122 209,238
I 1,653,694
2)llgay 614,664
3)011 01 &t~614 0] OF
1,628, 0802 *45% *50%+43] 146,508
3)61 01 &t~ 1111 0] 2t
1,687, 57021 423 +50%+43] 141,756




2AM: AN
mu: WSS (HAUED)
chl: QA2 A
S E O (EH) - MRAY - B s e
- o= ° I T ° - (= (=3 =5 0:”/.:"%
3)11H 0l A~16= 0] 2F
1,770,360& *5% *50%+*4 3] 17,704
3)16 0l &t~21H 0 2F
1,850, 3303 *41H x50%*4 3] 151,728
3)21H 0] &t~26H 0] 2F
1,935,620 x28H *50%*4 3] 108,395
3)26H 0] & ~ 2,023,040& x 12 *50%*4 3] 48,553
2)82+Y 270,701
3)0 0l &~6H 0] 2F
1,628, 080& *459H x25%*23| 36,632
3)6H 0l A ~11H 0| 2F
1,687,570& 42 % x50%*23] 70,878
3) 110l A~16E 0] B¢
1,770, 3603 x5% «50%*23] 8,852
3)16E 0l &f~21H 0| 2
1,850, 330& *41H x50%*22] 75,864
3)21= 0l &~26H 0] 2F
1,935,620 28X *50%*23] 54,198
3)26H 0] & ~ 2,023,040& 12 x50%*23] 24,277
)Mzl 768,329
3)0E 0l A~6H 0] CF
1,628,080 45 % *50%*53] 183,159
3)6EH 0l &f~11H 0|t
1,687,570 42 % x50%*53] 177,195
3)11E 0l A~16E 0] 2
1,770,360& *5% *50%*53] 22,130
3)16 0l aH~21H 0 2F
1,850, 3303 41 x50%*53] 189,659
3)214 0l &~26H 0] 2F
1,935,620 x28 % *50%*53] 135,494
3)26H 0] & ~ 2,023,0402 * 12 *50%*53] 60,692
NE K 476,650
) E¢ 144,490
3) i 2 Xt 40,0003 *173H 12 83,040
NEH 20,0003 * 173G+ 12& 0.4 16,608
)bl = 20,0003 173" 122 *1.08 44,842
2)S+gR2aY 90,000 x173F = 12& 186,840
Q)X ALY 70,0003 173+ 12 145,320
BT s] 851,160




SN BASMAD
M HHSAAH (HAHFDY)
el ol dY|
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] At oH @E%
2)H M Z Al 160,000 173 « 122 332,160
2)WEB X 140,000 173 « 122 290,640
2)JH B XH| 110,000 x173H 122 228,360
1EE S| 368,800
2)0E 0l Af~62 0| 2t
1,628,080 *45% x60%*23)] 87,917
2)6E 0l a~11& 0| Bt
1,687,570 %42 +60%*2 3] 85,054
2)11E 0l Af~16 0] 8¢
1,770,360 x52 «60%*23] 10,623
2)16E= 0l at~21 0] 2+
1,850,330 %41 x60%*23] 91,037
2)213 0| At~26 0| B+
1,935,620 %282 +60%*2 3] 65,037
2)263 0| & ~ 2,023, 0402 x 12 «60%*23] 29,132
NEN2LLY 1,721,206
2)N2Q 2R2g 521,782
3)0E 0l &f~6= O] Bt
(1,628,080 /226 Al 2})*1.5%20 Al 2H+45% %12
= 116,704
3) 6E0lA~11 0] Bt
(1,687,570 /226 Al 2t)*1.5%20 Al 2+ <42 %12
= 112,903
3)115 0] At~16= 0] B¢
(1,770,360 /226 Al 2t)*1.5%«20A| 2t 5&H %12
= 14,101
3)16E 0] AF~21 0] ¢
(1,850,330 /226 Al 2)*1.5%20 Al 2+ 412 %12
= 120,845
3)21H 0| AH~26H 0| ¢
(1,935,620 /226 Al 2t)*1.5%20 Al 2++28 2 %12
2 86,333
3)26E 0| AF ~
(2,023,040 /226 Al 2t)*1.5%20 Al 2422 %12
= 70,896
2)0F2t 224 183,585
3)0 0l &f~6= 0] 8t
(1,628,080 /226 Al 2t)*0.5%1 Al 2t 453 %270
] 43,764
3) 60| A~112 0|2t
(1,687,570 /226 Al 2) 0.5+ 1Al 2t %42 %270
]| 42,339




2 A
M HNSAAH|(HAHE D)
el ol dY|
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] At oH @E%
3)11 0l AF~16= 0 B¢
(1,770,360 /226 Al 2H) 0. 5% 1Al 2tx 53 %270
]| 5,288
3)16 0] Ab~212 0| 2t
(1,850,330 /226 Al 2) 0. 5% 1Al 2t %412 %270
2 45,317
3)21E 0| At~26H 0] B+
(1,935,620 /226 Al 2t) 0. 5% 1Al 2t %28 %270
el 32,375
3)26E 0] A ~
(2,023,040 /226 Al 2) 0. 5% 1Al 2t%12H %270
el 14,502
2)542245 783,288
3)0 0] A~6H 0] BF
(1,628,080 /226 Al 2) % 1.5%8 Al 2t x4 x45H
*128 186,725
3) 6E0lA~11E 0|8t
(1,687,570 /226 Al 2t) xBAI 2t #1554 L +42H
*12% 180,645
3)11E 0] &~16E 0] ¢
(1,770,360 /226 Al 2F) xBAI 2+ #1554« 5
*12% 22,561
3)16E 0] At~21H 0] ¢
(1,850,330 /226 Al 2H) xBAl 2bx1 534 L x41H
*128 193,352
3)21H 0] Ab~262 0| 2
(1,935,620 /226 Al 2H) xBAI 2+*1 . 554U «28H
*128 138,132
3)26E 0l A ~
(2,023,040 /226 Al 2t) xBAI 2t *1 554U+ 12H
*128 61,873
)RR 25t 232,551
3)0E 0l &f~6= 0] 8t
(1,628,080 /226 Al 2)*BAl 2t %45 517 44,088
3) 60l A~11E 0] Bt
(1,687,570 /226 Al 2t) *BA| 2F*42H 19 47,671
3)11E 0l Af~16 0] B+
(1,770,360 /226 Al 2 ) *BAl 2% 5H %22 6,894
3)16E 0] AH~212 0| 2t
(1,850,330 /226 Al 2t) *BAl 2t %41 #24 64,451
3)21H 0| At~26 0] ¢
(1,935,620 /226 Al 2H) *BA| 2Hx28 2 %252 47,963
3)26E 0| AF ~
(2,023,040 /226 Al 24 ) *BAl 2t %12 x25 L 21,484
NXEEH x4 70,461




2AM: AN
B MES A (HAME D)
chl: QA2 A
S E O (EH) - MRAY - B &k ot e
- o= T ° - (= (=3 =5 0:”/.:"%
2)=8tu 62,4003 *173H x20%*4 3] 8,637
2) 1 E&HH 446, 7003 x173% +20%+*4 3 61,824
NE=A3 3,730,000 15 *23E » 150% 1,930,275
NEHENSZ2 300,000&*11H 3,300
NEMSHRELE23 SMSXIYI 857,800
)22 oY A 20,000& 1734 3,460
2)FHAA (Y, F4A)
20,000 & *173Y x23] 6,920
2)oll 2 A4S (Al) 2,000,000& 14 2,000
2)EtZ OIS N=&8s A
10,0003 *173H »23] 3,460
2)2tB 0| Mg
10,000& *173H 13| 1,730
lead=g 150,000 *173H x 12 311,400
2)tM W4 180,000& *173E x12& 373,680
QB ANSI 2T 155,150
NB2ESEUE
1,000& 173G +650L QI E 112,450
J2DEHIEQE 25,400
4)0= 0l &F~6H O]
1,000 *45F *5E «10L 21 E 2,250
4)6E 0] A~11H 0] 2
1,000 »42H « 1010 I E 4,200
4)11E 0| at~16H 0] OF
1,000 *5H+15E«10EL 21 E 750
4)16E 0l &f~21A 0 BF
1,000 x41H +20E «10L 21 E 8,200
4)214 0] &~26H 0| 2+
1,000 x28H «25 10 QI E 7,000
4)261E 0] &~
1,000& x12H 25« 10EL 21 E 3,000
)R KELQIE
1,000& *173E+ 1002 I E 17,300
NeAzRY43S 831,116
2)=30H32Re=
3,600,000 *173F x12& x4 . 5% 336,312
SELIEENEE T
3,600,000 *173H «12& *2 . 54% 189,830
Q)RLEER
3,600,000 x173F x 12& *2 . 54%+*4 . 05% 7,689




S HABED
Hal: HNSAAY (HAHID)
chel: oz 2yl (£ &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
BFEEEE]
3,600, 0002 1738 « 122 *1. 75% 130,788
DM B A EE R
1600, 0002 %173+ 122 *1.87% 139,757
2)& el & Al 3,600,000 82 *30% 8,640
2)A LTt 10,0002 +173% *13] 17,300
2)RTHHB 2 AIL 2 100, 0002 %224 43| 800
oIzl 2=l (R A) 6,420 6,420 0
203 Y=Yl 6,420 6,420 0
04 SN2YAL=AL] 6,420 6,420 0
NEASYYREAY| 535,00021 *12% 6,420
=22l 333,700 307,100 26,600
p/ET] 333,700 307,100 26,600
201 gr2g| 130,900 99,800 31,100
01 A2zl 130,900 99,800 31,100
1) 2AREEY 500,0002 *122 6,000
1) AR 600,0002! +12% 7,200
DEHJISHISE XA =
60,0002 x65% 23| 7,800
Ny =4 s 22 50,0008 %2 +72! 700
DEET 7,0002! %202 %652 * 122 109,200
202 OiHl 202,800 202,800 0
01 =UIoit] 202,800 202,800 0
)01 bl 20,0002 * 132 +65% * 122 202,800




S =S
& RS TAIZ T4
Ehol FEael (EH & 3)
_ = HET
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
&40 1,783,290 940,660 842,630
HEE TAlS2 =4 1,647,390 821,020 826,370
FE 1,019,830 782,430 237,400
SSFHael & N2 1,019,830 782,430 237,400
201 Ler2gy 7,430 6,630 800
01 Ars2telbl 7,430 6,630 800
NSSFHEY =8 & A& 423
=g 70,0003 «3& *32 630
NYFNUES 2SUS DY
3,0002*2,000% 6,000
NYFXUESIC SA+E
200,000 »2&E »22 800
203 ER =AY 9,400 9,000 400
03 AHFYEIFXY 9,400 9,000 400
NasFe2A2 MY GRFN
200,000 *123] 2,400
NSSFE g =X 1,000,000 *14| 1,000
NeAlzel=s Feeue =
6,000,000 *14] 6,000
301 2eEHS 3,000 1,800 1,200
12 JIet24=s 3,000 1,800 1,200
N SSFE 8y A
250,000 »2E *62 3,000
402 QI2tXt=01d 1,000,000 765,000 235,000
01 Q222X 1,000,000 765,000 235,000
N3SFE 22l A At
1,000,000,0003 *14] 1,000,000
FEIALY 624,960 35,000 589,960
MHAFAIES Se 22018 2@A =d 624,960 35,000 589,960
201 LetEgll 8,960 35,000 226,040
01 Ar=2eldl 3,960 0 3,960
1Ot E| 2L S 0l = S X =
2,000,000 *14] 2,000
NSSFE 20t 4oz =4
70,0003 7 43| 1,960
03 &A=& 5,000 35,000 230,000
1)Z20ILOHIHE SHatsl Izl
5,000,000 *14] 5,000




SN FED
HE: B CTAZ2 £
©Hel: FEAY (9 &)
_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
203 EF=&d| 1,000 0 1,000
03 AIRFIHIFAY| 1,000 0 1,000
NELTARARSE HRFN
1,000,000& » 14! 1,000
401 Al&ZHIZROHYI 615,000 0 615,000
01 Al&HI 615,000 0 615,000
DUAEZU AN+ ES
615,000,000& * 14! 615,000
F=EEH 2,600 3,590 A990
Folotd=E oy =L 2 i 2,600 3,590 ~A990
203 EE=&d| 2,600 2,600 0
03 AIRFIH2FAY| 2,600 2,600 0
NRoAS0 e 2,600,000 *14! 2,600
HE2HZH| (1) 135,900 119,640 16,260
ols 2 7,500 7,200 300
QlARHH|(FE) 7,500 7,200 300
203 HR=&H| 7,500 7,200 300
01 J22dd2F2a| 3,300 3,000 300
NEAZe 2 22 3,300,000& » 14! 3,300
04 RAN2SELRF2H 4,200 4,200 0
Nl 2A2S 350,000& 12 4,200
Jl=2&Hl 128,400 112,440 15,960
Jl=2ZHI(=81) 128,400 112,440 15,960
201 LEtE=gH| 56,640 43,800 12,840
01 AtR2tciHl 56,640 43,800 12,840
1) et==2t] 1,500,000& 128 18,000
1)=& 7,0003 202 »23H 123 38,640
202 O 71,760 68,640 3,120
01 =2UWnbl 71,760 68,640 3,120
1)= Lo 20,0003 x 13«23~ 12 71,760




M SAIJHE D
3 SAHE

ol S A2 (B9 @)
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
S AIJH &t 352,383 427,663 AT75,280
S AOHE 225,783 307,783 A 82,000
SAAE 191,263 291,263 A 100,000
SAAHERRAE 2Y 10,500 10,500 0
201 LEHREH| 10,500 10,500 0
01 AtR2&cldl 10,500 10,500 0
negse 70,000& x 15 102! 10,500
SAAHESR =T 20,763 20,763 0
201 ZEH2IH] 17,763 17,763 0
01 Atf2teld 17,763 17,763 0
(RS E==ani= 38,5003 x3EH+8emx2& 2+ X| x82] 14,784
nNEgH £ =72 2,979,000 14! 2,979
203 YRF=&d| 3,000 3,000 0
03 AIM=AHI2 =] 3,000 3,000 0
NEAAE dRFX 2,000, 0003 *14] 2,000
NXREe JREX 1,000, 000& *14] 1,000
NRHLIAHE HEH 22 160,000 260,000 100,000
207  SAOHEH| 160,000 260,000 100,000
01 A&l 160,000 260,000 A 100,000
DAHNTS TSNS £ L HHY
160,000, 000& 1Al 160,000
KHOH & 800 800 0
MOHE A =& 800 800 0
203 HRF&H 800 800 0
03 AIMFAARFAH 800 800 0
DHHEAY dRFZ 800, 000& 1Al 800
=E=2 33,720 15,720 18,000
MHEHI ST ALY 33,720 15,720 18,000
201 LEHRHH| 10,000 0 10,000
01 AtR2cldl 10,000 0 10,000
NEE2FT 82 M 10,000, 000& *14] 10,000
203 YRF&d| 5,720 5,720 0
03 AIM=AHI2 =Y 5,720 5,720 0




SA
X XH .
(=

chel:

S AIOHE 2t
SAIDHE

SE2

_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
REIR ALY 2= 5,720,0002! *14! 5,720
401 ANEHIL2OY] 18,000 10,000 8,000
03 Al&=CHY 18,000 10,000 8,000
DUEHSAN U A—ALES Hb|
18,000,0008! *14! 18,000
HH2YFHI (SAHL D) 126,600 119,880 6,720
JEELR] 4,200 4,200 0
oIS (TAIHL D) 4,200 4,200 0
203 YR 4,200 4,200 0
04 SEN2YYREXY| 4,200 4,200 0
NEASgYREXY| 350,000 * 122 4,200
EET 122,400 115,680 6,720
2B (SAHL D) 122,400 115,680 6,720
201 Ygr2gy| 50,640 40,800 9,840
01 Atz 50,640 40,800 9,840
1) Bt 1,000,000 * 122 12,000
DEELI 7,0002 +202 * 128 «23% 38,640
202 o1l 71,760 74,880 A3,120
01 =2UHoIbl 71,760 74,880 A3,120
1) REX 0] 20,0002 * 132 x23% + 122 71,760




oM
’J
oF
uJ

e

n0

KIo

] pmi

A7,479
10,121

10,121

8,921

8,921
8,921

1,200
1,200
1,200

A27,600

LH3r
m<l
Rk

185,988
40,188
15,000

15,000

12,600
12,600

2,400
2,400

25,188

25,188

25,188
25,188

145,800

4,200

4,200
4,200
4,200

=
o

s

<J

168,509
50,309
15,000

15,000

12,600
12,600

12,600

2,400
2,400

2,400

35,309

34,109

34,109
34,109
4,351

29,758
1,200
1,200
1,200

1,200

118,200

4,200

4,200
4,200
4,200

&

b

24
&

[}

.

<0
00
KE)
<

@

Iy

0l
i
™

n

3

[l

2 *18H+10

70,000

3+
30
0B
)
[gd]
OF
K
Y

2,400,000& *14]

KJ
K
ok
oD
R0
0
i

Y

.

)
KJ
oJ
Ot
el

-

JJ

ak
i

-

~J

1 x2H %102

=

o

217,535

F

I

12 JIEt

301

-

00
<+

oM

A0
il
uir

o)
oF
I}
0
0K
L
&l
fal

ok

[und

#1104

e

270,525

KJ
Kk
ok

=zl

XH
28

03 Al

Al
o

=)
=

2| 1

1,200,000

KJ
Kk
ok
ol

Ho
R
30

S A

30
OH

oJ

KJ
Kk
ok
ol
30
0H
z

I+

3,600
3,600

A 27,600
A27,600

141,600
141,600
48,000
48,000

4,200
114,000
114,000

51,600
51,600
18,000
33,600

1 x 123

=

350,000& 122

1,500,000
7,0002 *202 x20% 122




SA
X XH .
(=

chel:

ral—y,

CEEEETE

Jl=&Hl

S BB SR(SH) - HRAY - BAS arey S

= B - Rl (312H) - MR ALY & 01l &t o
202 O4Hl 62,400 93,600
01 =LHAHI 62,400 93,600

DESE=IG]:] 20,0003 #1320 128

62,400




SN ZAICIA 2t

M HE DAl

Sl SAICIXOIE A (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
S AICIROI Bt 1,660,535 146,608 1,513,927
WHE CATA 1,538,374 142,408 1,395,966
CAICIROI & 1,351,930 24,440 1,327,490
SACR 2 14,088 24,440 £10,352
201 L2yl 9,408 21,440 ~12,082
01 AtR2elt] 9,408 21,440 A12,082
N-RARCXQRIAS AVEA LY
70,0002 %16 * 122 +0.7 9,408
203 ARFXY| 4,680 3,000 1,680
038 AMEZAREY| 4,680 3,000 1,680
1)CIRHQl @ =& bl 3,000, 00021 #14} 3,000
-7 COXeIRes 29 gexa
10,0002 *20% * 122 0.7 1,680
XE MA YL 2Y 50,000 0 50,000
401 Al&HI L= O] 50,000 0 50,000
01 Al&H] 50,000 0 50,000
22 (Wall) SX, A4S ®A L A
ZNY 2Y 50,000, 0002 * 14! 50,000
CIXtI M EH2l LAY 1,267,842 0 1,267,842
201 L2yl 5,000 0 5,000
01 AFR2elt] 5,000 0 5,000
NE2s M® 5,000, 00021 *14} 5,000
203 ARFXY| 1,500 0 1,500
038 AMFEXAREAY| 1,500 0 1,500
NOXAASHE B JLEX
10,0002 15% *103] 1,500
401 AlSHIL O] 831,342 0 831,342
01 Al 822,200 0 822,200
N=RABOTANSHE EL S A
822,200,000% * 14! 822,200
02 el 420 0 420
NeAZORNAMNSH ZLBA 22l
420,000 14! 420
03 A&l 8,722 0 8,722
NeAZORAMNSHE ZLBA L0
8,722,00024 *14) 8,722




SN ZAICIA 2t

M HE DAl

ol TAICIRQIEA CEERED
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
403 XXISHSKHZO0IH 430,000 0 430,000
02 ZIIZSHCHE A 430,000 0 430,000
NeABOXNUMEHE BEXEB AL
430,000,00021 *14! 430,000
SEd B GHE E4 20,000 0 20,000
401 ASHLLHY 20,000 0 20,000
01 A&H] 20,000 0 20,000
NEEE B0 B8 ¥ X4 O 8
o 20,000,000 *14} 20,000
zne e 61,894 12,705 49,189
2020 22 10,544 12,705 A2, 161
201 gr2g| 9,783 11,505 A1,717
01 At 22l 9,788 11,505 A1T7
2B MIARY 4T 9, 184
2)B0E (2) 49 70,0002 6% *83| 3,360
2)ZnS(2)a2l 70,0002 x22 %523/ %0.8 5,824
NZDSAHFBRIE ALY
150, 97021 x22 x23] 604
203 Y= 756 1,200 ~4a4
03 ANHZMYL=XY| 756 1,200 A4aa
NSABDS NAANE SHALETY|
10,0002 *9% 128 %0.7 756
2hmol OlECreNel A4 51,350 0 51,350
203 Y= 1,350 0 1,350
03 AHEYREXY| 1,350 0 1,350
NOTINEHE ABHLSIRE 252
o 10,0008 * 158§ x0 2 1,350
307 QI2HO0IF 50,000 0 50,000
02 SIAHFMBE 50,000 0 50,000
NCIRQINENHE] ABHAL LSBT
1,000, 000! *507H A 50,000
SY2IS Y S 124,550 105,263 19,287
SYZIS IH S 124,550 93,263 31,287
201 Y2yl 7,850 1,470 6,380
01 At el 7,850 1,470 6,380

NEYZINE S20HAHI 7,000& +502| x8& 2,800




SN ZAICIA 2t

g3 N TAIXY

cel: 2HBIE Il S (Sl e g)
- o ME
SH-EFHHA(FA) - NIRAE - BES O AFH @}\_FO” Hlws2
ESEREFEEED 62,5002 * 122 750
nzD2B2l Bl 3,000,002 * 14 3,000
DEYUBDSNY HHSEH 50,0008 14 500
NEHZIE Y 0=y 100,000 82 800
208 @SETY) 1,200 1,200 0
CINEETEEEST 7,200 7,200 0
NEEZDE geNY 1,200,0002+ 14 1,200
01 YerEa 25,000 0 25,000
2 JIEEas 25,000 0 25,000
NEE HOX S 40 a2
50,0002 452+ 102 * 10} S 25,000
07 S0 90,500 90,593 793
EECEE 90,500 90,59 ~93
NEg 1= 202 FHey
50,000,002 » 1 50,000
NEY 8= 202 Fie9y
36.000,0002 14 36,000
IPSTEPCIS I 4,500,000 *14] 4,500
S22 (SAICITHOI D) 122, 161 4,200 117,961
EETT] 4,200 4,200 0
oIzt 2 (SAICIXIQ D) 4,200 4,200 0
208 @SEIY) 4,200 4,200 0
VRN EESY 2,200 7,200 0
DR RN E TR
30,0002 * 122 4,200
J1= 2| 117,961 0 117,961
5|22 117,961 0 117,961
201 s 53,600 0 53,600
ST 53,600 0 53,600
nae 7,000 4202 +202 » 122 33,600
Neera 2| 20,000,0002 14 20,000
202 01t 62,400 0 62,400
01 =Uh0it] 62,400 0 62,400
DEWLE 20,000 <132 %202 » 122 62,400
205 TS| 1,961 0 1,961




S A S AICI AR B}
Mz HYESHHHI(ZAICIARI D)
S J|=2&d

01 XNH=SSFHSHI 1,961
NSI1EEI] <04 492,000 = 1CH 492
NOXIE3t0et o (2Es) 496,000 = 1CH 496
NOXIEStdet RM(sEE) 278,000 »2CH 556

12 AEE I (FAX) 200 417,000 = 1CH 417
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B
2




SN BRSD
Hal: T2 AR
ool SAZY 22U (£ @8
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
ZA=X D 8,764,774 3,989,853 4,774,921
= 405,581
Al 113,856
XA 8,245,337
Z2C AR 8,120,523 3,822,453 4,298,070
= 405,581
Al 113,856
XA 7,601,086
SAZY 222y 1,135,601 390,000 745,601
AAO0EI0IBYE ELAY 1,135,601 300,000 835,601
203 Y=Y 1,000 0 1,000
03 ANHMEYLEXY| 1,000 0 1,000
JAMORIOIBH X8 AY F3
1,000, 00024 *14} 1,000
401 AN&HIL2HY 1,134,601 300,000 834,601
01 A& 1,134,601 300,000 834,601
NAA02I01BE ZLAY S
1,134,601,0002! %14} 1,134,601
SAZE I 3,135,886 1,930,343 1,205,543
2z |xz 456,927 317,770 139,157
101 Q124H] 237,500 139,005 98,495
10 JIZHIZNS2+ 237,500 139,005 98,495
2B A2l JIAKIEN =Y
2 4EEE 237,500, 0002 * 14! 237,500
201 Lsr2 | 186,927 149,765 37,162
01 At 2el| 47,500 28,000 19,500
D=L EEIPN T 3,000,000% 122 36,000
NI Uxz 400,00024*103] 4,000
=0lA&E SXIBA 248
300, 0002 #2574 4 7,500
02 TT2Y| 139,427 121,765 17,662
NEZ2ZLHA 131,427
2)28 M2 300, 00021 #2574 2 * 1224 90,000
)2 Mtz 80,0002 x2CH* 122 1,920
2)B MEEE2 100,00021 *257} 2 * 1284 30,000




SN BE=XD
M Z2C AR
ool TAZE FH| Rk
_ _ HE T
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
O IPEEEEPIEEES
100,000 %1021 1,000
2)EEE QEHI0 B 50,0002 #2CH 300
2)zRBEL BN 100, 0002 %2574 2 2,500
2)BYl Y FHITE A2y
1,83621%10 £ %202 +122 4,407
2)BRA=EINY B 1,000, 00021 *1CH 1,000
2)BAEEIY NEXA 300, 00024 #1CH 300
1)ALE Z IS A 8,000
2)BAANLES TM U P
200, 0002 #2574 2 %23] %30% 3,000
2)BHIRXHI (421 S) 5,000,008 *14 5,000
203 YREIY) 6,000 4,000 2,000
08 AEEDARFAIY| 6,000 4,000 2,000
3R =X 22 YRFZ
6,000, 00021 #14} 6,000
206 MEHI 6,500 5,000 1,500
01 W&l 6,500 5,000 1,500
DEEEEN 30021 800Kkg *257H 4 ¥50% 3,000
N2AE +2 o 238 2|
7,00021 %500 3,500
401 AlEHIL2 0] 20,000 20,000 0
03 Al&=CH] 20,000 20,000 0
1)BR=X FUIAL O CHet 2oyl
20,000,002 14! 20,000
22T FHIAY 969,000 600,000 369,000
401 AlEHIL =20 969,000 600,000 369,000
01 AI&H] 969,000 600,000 369,000
22ZY LSAES FY S
600,000, 0002 * 14! 600,000
NEADVZY W A2 L WAL
bl 20,000, 00021 *14] 20,000
)82 2B ASAE FHl S
100,000, 0002 *14] 100,000
ISR 2SS AL
57,000,002 14! 57,000
NeH2RIBRA-FZOSXAS 2 &5
150,000, 00021 *14] 150,000




SA
X XH .
(=

chel:

%

N

02 =
O =T
ZEE AR
C A2
NS

Al

2 &l

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
NAHZ2Z2A HSAH Ay
42,000,000 * 14 42,000
=ZAM M otE =3 Y M=EHMM 35,000 35,000 0
401 AIEHIZL204H] 35,000 35,000 0
01 Al&H] 35,000 35,000 0
1)ol&5=s & MsEINE S
35,000,000 x 14! 35,000
Helols& EHIAFY 175,000 259,005 A 84,005
401 AlZHIZLE204b] 175,000 100,000 75,000
01 Al&H] 175,000 100,000 75,000
1NHEI0I 2 S AIE2 FH|
90,000,000 1Al 90,000
1N=2202012 MIAIE FHdl
5,000,000& * 14! 5,000
1N2HWAH & 0I2E MHEL
50,000,000 14! 50,000
)32 20l 22 MEAIE HHl S
30,000,000 * 1Al 30,000
ok~E AH| 39,200 67,200 28,000
201 LErEAH| 7,200 7,200 0
02 22294 7,200 7,200 0
NH=SH(24H) SX2el
600,000& x12& 7,200
401 Al&EHIZLL204H] 32,000 60,000 A 28,000
01 Al&H] 32,000 60,000 A 28,000
)Xot 23 3,000,000& x9H A~ 27,000
1)J1EF L=AlE A 5,000,000& =14 5,000
S S HUlAY 100,000 100,000 0
401 AIEHIL204H] 100,000 100,000 0
01 Al&bI 100,000 100,000 0
1N28S 2,500,000& x20& 50,000
DNEIANEESE(FE, X, &8 )| &)
25,000,000 * 14! 25,000
NeEMZ WA 25,000& *1,000m’ 25,000
Helol2d |22 404,759 225,368 179,391
101 214 d| 137,500 0 137,500
10 JI2ZtHIZ2E2XNSEx 137,500 0 137,500




SN BRSD
Hal: T2 AR
ool TAIBS Hl (£ @8
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
IEENEEENEEIENEEERIER
ICET] 137,500, 00094 %141 137,500
201 er2g| 257,207 218,000 39,207
01 AtR2t2l| 55,300 20,000 35,300
BB A2F 7Y 2,000,000% 128 24,000
1) M exte 400,00024 *103] 4,000
1)=0lAlE SXIZA 222
300,00024 %9174 £ 27,300
02 2T 201,907 198,000 3,907
NEZ2ZLHAl 191,447
2)BA MTIEE 23
100,00021 +917 4 * 1284 109,200
)22 ®Ile3 70,0008 %917 A %122 76,440
2)B AR JIVURLS
100,0002! %1024 1,000
2)BA =28 LEH0 28
100,000 *4CH 400
2)%Hl S 2| 1,836 %10 ¢ x202 +122 4,407
1) Al & = YIS X ) 10,460
D)BANES TM U Ba
200, 00024 *917H 2 +30% 5,460
2)HHIS NI (S2/H S) 5,000,008 *14] 5,000
206 MRl 10,052 7,368 2,684
01 M=zl 10,052 7,368 2,684
1EI22 300! %800Kkg *917H 2 «30% 6,552
2AS +2 2518 PYH 7,008 5002 3,500
o201 B stz 126,000 126,000 0
307 QI2H0IF 126,000 126,000 0
05 SIARIEZ 126,000 126,000 0
DEEN R
250,000 #4274 2 * 128 126,000
SARBE R 30,000 0 30,000
206 2l 10,000 0 10,000
EETI 10,000 0 10,000
NEARAZEL ALES L DHE SH
S AR PO 10,000, 00024 %14} 10,000




=X
EZAIIHRDI
ANS& FHl

o el . . MU ~
M- F= - S2(3H) - MRAY - BES Arol e HlnE2
401 Al HIZ 20| 20,000 0 20,000
01 Al&HI 20,000 0 20,000
2t SA2 2 24 oS &
Xl 20,000,000& » 14! 20,000
S22 S3 ZHIAMY 500,000 0 500,000
401 Al&HIZ =204 500,000 0 500,000
01 Al&HI 500,000 0 500,000
NeZE HUAE HH S 300,000,000 14! 300,000
nNotsAAOIE HH L FCIATH
200,000,000 14! 200,000
SAECIS ANEE2AS 210,000 0 210,000
401 Al&HIZ =204 210,000 0 210,000
01 Al&HI 210,000 0 210,000
1)CCTV &Hl, ¥x&8=2 =¥ FHHl S
210,000,000& » 14! 210,000
ehab 2FFH FUIAY 90,000 0 90,000
401 AIEHILROY| 90,000 0 90,000
01 A&l 90,000 0 90,000
12l S2ABSHZ GAEH F|
90,000,000& 14! 90,000
MEA ZE =XN=3 ,074,127 541,771 1,532,356
2 & SXH SAZel A 185,677 205,531 219,854
101 Q24| 137,500 159,005 221,505
10 JIZAH22ANASES 137,500 159,005 A21,505
NItIEa2X2el JI2HH 224 212
137,500, 000& 1Al 137,500
201 BH2EH] 27,390 26,290 1,100
02 23244l 27,390 26,290 1,100
NEla MHASBH JA2ES(OIZ2S)
500, 000& *1024 5,000
NiE=sxi B+ 2 &M
100, 000& 27 A %23 5,400
NEax=tl x2e 40,0003 x 122 «5I4 A& 2,400
NIIHE, =2 S &dl=2lbl
100, 000& = 15CH 1,500
NIIAHEH |24 1,836& 5 £ 100150 4,590
NIIAHZH 2R 10,000& *10CH* 102 1,000




_ _ HET
N Z3 . CA(ZAH) - MPAY - BES e @ﬁOH Hos
NIIES=AE SEH 22Xt
250,0002! *10CH*33] 7,500
206 MEH| 20,787 20,236 551
01 MEHI 20,787 20,236 551
=X 2ERY 140,0002 * 123 1,680
1NJt24 S 1,000 * 14, 190 *30% 4,257
420 SXze 10024 %112,000 m %30% 3,360
N=8 SXe 1,000& *12,000m" *30% 3,600
NSXI0 SXze 2,570,0002 14! 2,570
NAE=X | 5,320,000& * 14! 5,320
28 =X 22 AMHALS 80,000 80,000 0
401 AEHI L] 80,000 80,000 0
01 Al&H]| 80,000 80,000 0
1NZ QAT 80,000,0002! *14! 80,000
20/3H2 AXIAY 30,000 30,000 0
401 AlEHIZL R0 30,000 30,000 0
01 Al&HI 30,000 30,000 0
NZ20lse &X 30,000,000 x 14 30,000
28 Stet XA ALY 95,000 45,000 50,000
401 AlEHIZL R0 95,000 45,000 50,000
01 A&l 95,000 45,000 50,000
NZEFS 48X 95,000,000& 14! 95,000
g3 22 24 2 |X2el 218,450 71,240 147,210
101 o124t 150,450 0 150,450
10 JIZH22USE% 150,450 0 150,450
NN Z2ASE B L 4UHEE
150,450,000 x 14| 150,450
201 L2l 8,000 11,240 3,240
01 At 2teld] 7,000 0 7,000
)& ¥ 22| 7,000,0002! * 14! 7,000
02 232 1,000 11,240 A 10,240
NUH=I, 22I] S RFUH
1,000,0002! 14! 1,000
401 AlEHIZL R0 60,000 60,000 0
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Jov
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- _ _ ME
SN HABIH) - NRAY - BES kol Ofl At ot HluSZ
01 Al&HI 60,000 60,000 0
NSEd 22248 ¥ SN2l A
60,000,000& * 14| 60,000
S818 238 TdAY 250,000 0 250,000
401 AlZHI KR 250,000 0 250,000
01 Al&HI 250,000 0 250,000
1) 3 Akl 230,000,000 * 14 230,000
A A& AL 20,000,000 *14] 20,000
SH4is =SS ZEAMY 400,000 0 400,000
401 AlZHI X R HHI 400,000 0 400,000
01 Al&HI 400,000 0 400,000
DELR:] 400,000,000 * 14 400,000
aHos Ot 2dAY 415,000 0 415,000
401 AlZHI RO 415,000 0 415,000
01 AI&HI 415,000 0 415,000
Natdes Otes ZEMY
415,000,000 *14] 415,000
SEU MEAME= 400,000 0 400,000
401 AEHIE S0 400,000 0 400,000
01 Al&HI 400,000 0 400,000
N3EU HSALE EH
400,000,000& % 14] 400,000
SE=X0 Ehl 861,083 322,381 538,702
S30dE 29 215,513 222,381 6,868
101 QA 158,764 161,545 ~2,781
10 JIZH22NSEF 158,764 161,545 N2,781
NS ICME 2% o2y U 40 28
158,764 ,0003 14 158,764
201 2Et=g| 41,749 50,836 9,087
01 ArR2teltl 40,000 50,000 210,000
1)ek=ZH] 40,000,000 14 40,000
02 3323l 1,749 836 913
NSMIA 2= 1,749,000& » 14| 1,749
206 M= Hl 15,000 10,000 5,000
01 M=ZHl 15,000 10,000 5,000




SN BRSKD
Ha: T2 AR
ool BR=X0 Zl (e19: @8
_ _ SIEN
N Z3 . CA(ZAH) - MPAY - BES e Ol AF o8 HwsZ
NEZA MME TAR 15,000,000 * 14} 15,000
228 - OI20IZ FHHIALY 304,800 70,000 234,800
201 Y2yl 22,800 9,000 13,800
02 ===l 22,800 9,000 13,800
N2 ®II2 200,002 *87H A *122 19,200
)I2BR A5taca
100, 0002 67} A 128 %1/2 3,600
401 AEZHI L2 282,000 61,000 221,000
01 A& 282,000 61,000 221,000
1)OFS0IE JRST AIME S
1,000,0002 *607H A 60,000
1)EHSS 90-37 01201Y BHE TAAH
= 75,000,002 *14} 75,000
NEHNES 107-8 OHS0HY SIS X4 Al
o 80,000,0002 *14} 80,000
HAKHEE 2HE0SOIEY 25717 £
17,000,000 %14} 17,000
A0S OHS0tY MEHSAL &3 S
15,000,000 %141 15,000
SOIE. INR2E Z& AALHBAY
35,000,0002 * 14! 35,000
24 MBI LA 50,000 0 50,000
401 A&HILLHH 50,000 0 50,000
01 AZHb] 50,000 0 50,000
25T, P55 H| 500,0002 * 100% 50,000
ZTAEZ SHTAAL 73,770 0 73,770
401 AEZHIL L0 73,770 0 73,770
01 AlZH] 73,770 0 73,770
NEHARN S 54 30,0002 x2, 459 73,770
4 2ZDH A 217,000 0 217,000
401 A&HLLHY 217,000 0 217,000
01 AZH] 217,000 0 217,000
1EHIS 200-1-321-11 BE GRS 24
imbs] 55,000,0002 * 14! 55,000
1)EH2S ZOHAH 2 (1S ) 3te) 7~& 80}t
E) 24 43 A 162,000,0002 *14! 162,000
MERE 913,826 637,958 275,868




fAN: SE=X1
M ZEG AR
el NI ME S E CRE-E)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
NHAMEHE & = 405,581
Al 113,856
AHA 394,389
LHSRAI 2 =ItRI] AL 24,000 19,720 4,280
203 PREXY| 2,000 1,920 80
03 AIM=AHI =LY 2,000 1,920 80
1)=0lAls SHA 1,600,000& * 14! 1,600
)= R0 A 400,000 *14] 400
206 = Hl 22,000 17,800 4,200
01 MZHl 22,000 17,800 4,200
NURAD| S8AE =572
20,000& *1,000= 20,000
NASSA 2 HIITI| AR SERY
10, 000& 200& 2,000
== HH 35,000 35,000 0
401 AIEHIL=2OY| 35,000 35,000 0
01 A&l 35,000 35,000 0
NeIE+S UM 35,000,000& 14! 35,000
AEUW RIgAIE=E FHI 50,000 50,000 0
401 AIEHIZL =0 50,000 50,000 0
01 Al&HI 50,000 50,000 0
NS AEAEES ZHIAMY
50,000,000 *14] 50,000
sEdl s 2l 672,549 329,707 342,842
= 347,800
Al 97,735
AN 227,014
101 el H] 180,000 150,400 29,600
= 90,000
Al 27,000
AHA 63,000
10 JIZtH2=AsSE=+ 180,000 150,400 29,600
NAZEHBLR 02 L 4HLER
180,000, 000& * 14! 180,000
= 90,000
Al 27,000




SN DS
M ZEG AR
&Rl NHMEHEE (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
KHA 63,000
201 Lt 23,000 15,000 8,000
= 11,500
Al 3,450
DS 8,050
01 AtR2teld 9,750 0 9,750
NEHNYE 222 U A5
200,000& »15H 3,000
= 1,500
Al 450
AL 1,050
NEis oz ¢ 2H Sl
5,000 x 15«50 3,750
= 1,875
Al 563
DS 1,312
NEs &g A28 2
3,000,000& * 14! 3,000
= 1,500
Al 450
AN 1,050
02 2323l 13,250 15,000 21,750
NYHNXE 25 2 85 7Y
13,250,000 14! 13,250
= 6,625
Al 1,987
AL 4,638
206 THZ=Hl 45,000 30,000 15,000
= 22,500
Al 6,750
KHA 15,750
01 M=ZHl 45,000 30,000 15,000
Natgdais2 Mg AM7Y
45,000,000& * 14! 45,000
= 22,500
Al 6,750
AN 15,750
401 Al&HIZ 204 419,549 130,307 289,242
= 221,300




=X
EZAIIHRDI

HMEEE

M- B SR(B) - HRAY - BE S Ak Soe s
401 Al HIZ 20| Al 59,785
A 138,464
01 Al&HI 419,549 130,307 289,242
NSNS SHAS 419,549,000& » 14! 419,549
= 221,300
Al 59,785
A 138,464
405 Kt SHI 5,000 4,000 1,000
= 2,500
Al 750
DS 1,750
01 XA ESESHSHI 5,000 4,000 1,000
NUHNSLH HSEE JIHS 7L
1,000, 000& *5CH 5,000
= 2,500
Al 750
AN 1,750
MELNUEE =X 45,660 112,670 267,010
= 18,264
Al 8,219
AHA 19,177
101 eld| 33,840 39,480 A5,640
= 13,536
Al 6,091
AHA 14,213
10 JIZHNZ2Z2NSEx 33,840 39,480 25,640
NMSHBUHLESH o2 L JUHEES
47,0003 x6F «120 33,840
= 13,536
Al 6,091
A 14,213
201 LAY 11,420 13,090 21,670
= 4,568
Al 2,056
DS 4,79
01 At 2eld] 5,250 0 5,250




SA
X XH .
(=

chel:

_ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
NAEEAL 22 200,000 15 3,000
= 1,200
Al 540
KHA 1,260
NAEXS S Al 5,000 «450H 2,250
= 900
Al 405
KHA 945
02 2229 6,170 13,090 26,920
NHQIR S &H 2 AR SERH
61,700 «100& 6,170
= 2,468
Al 1,111
KHA 2,591
202 O] 400 600 A 200
= 160
Al 72
HA 168
01 =2LHodyl 400 600 A 200
NSRS S=H| 20,000 x20H 400
= 160
Al 72
KHA 168
NS 22 20,755 20,016 739
201 LEr2YH| 10,755 10,016 739
02 2229 10,755 10,016 739
NS SHH 2X2
3,000, 0002 * 1Al 3,000
BEFSPIESE] 50,000 x220H*1/2 550
NZ2EHMO0IZ2 S| 350,000 *4CH 1,400
NIZ”E =A SXZ2AH(ER)
1,836 %200 £ 92 3,305
NsX&e =4 B4 2,500,000 x 14! 2,500
307 QI2tolA 10,000 10,000 0
05 QI2tRIEZ 10,000 10,000 0
NIHLHE RS EHAIEE =
10,000, 000! * 1Al 10,000




SN BE=XD
M Z2C AR
ol X ME| 2 E (St5: & 2)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
MBS YBALY 65,862 70,845 ~4,983
= 39,517
Al 7,902
XA 18,443
101 Q12| 61,738 67,430 A5,692
= 37,043
Al 7,408
XA 17,287
10 JIAH22NSE+ 61,733 67,430 A5,692
NAYBSABAIY L A-MHIA E20)
olgel £ 61,733,000% 14! 61,733
2 37,043
Al 7,408
XA 17,287
201 sty 1,272 3,415 A2,143
= 763
Al 152
XA 357
01 A2l 1,272 0 1,272
NAYBSASAIY L AYMHIA E20)
A Erets 1,272,0002 14! 1,272
2 763
Al 152
XA 357
202 OFl 2,852 0 2,852
= 1,711
Al 342
XA 799
01 =LHolbl 2,852 0 2,852
NAYBSASAIY L AYAHHIA EL0)
o1t 2,852,0002! *14) 2,852
2 1,711
Al 342
XA 799
HHS AL (BESK D) 196,840 167,400 29,440
o1z 2| 4,440 4,200 240




SN BRSKD
HE: HNSAAY (BRASKD)
chel: oz 2yl (£ &)
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
ozt 2 | 4,440 4,200 240
203 ARE=FY| 4,440 4,200 240
04 SASYAL=Y| 4,440 4,200 240
NEASgHREAY) 370,000 +122 4,440
p[EEL] 192,400 163,200 29,200
[CEE] 192,400 163,200 29,200
201 er2g| 73,200 54,000 19,200
01 At 22l 73,200 54,000 19,200
DEIEES=Y] 1,200,000 * 122 14,400
DEEESSEE 7,00021x202 +35% * 122 58,800
202 OiHl 109,200 109,200 0
01 =Uioit] 109,200 109,200 0
DEEESINCE] 20,0008 * 132 x35% *122 109,200
405 XhorE S| 10,000 0 10,000
01 XMUSEHSH 10,000 0 10,000
1)2¢2HCIXI 2 =801 (CHA) 10,000,0002 *14] 10,000
WSS (A=K 447,411 0 447,411
TESE DI 447,411 0 447,411
DISAEICIS ¥ o4 2R HSAL ey 447,411 0 447,411
309 BIIGBMHED 447,411 0 447,411
02 ZA-BUBYHES 447 411 0 447 411
NHSAL Sisey 447,411,00021 %14 447,411




SN HMALRD Sl
o N2 SET 5/2E2 X4
NI

CHol: LRIo| THA SRS JbX B (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
HMAIH D= C 42,000 289,600 N 247,600
N2 SE2 dBE=2 =4 4,800 254,800 A 250,000
LRo XA BEeHE DX &at 4,800 254,800 A 250,000

HIAISE D& =X 4,800 254,800 A 250,000
203 HRF=EY| 4,800 4,800 0
03 AIMF=RHRF=EH| 4,800 4,800 0

NECHE FHALEE NE2T S
300,000& x12& 3,600
NES2FHSAIEE 0|X 2t S
300, 000& x4 3] 1,200
HYSHAH (HAIE D2 37,200 34,800 2,400
ol 2HH| 1,200 1,200 0

OIHASHY(HMAIE D &) 1,200 1,200 0
203 YRF&Y| 1,200 1,200 0
04 ENSHLRFZAHI 1,200 1,200 0

NEASIEE LA 100,000& x12& 1,200
JlE2&Hh| 36,000 33,600 2,400

J2ZH(HMAIE D& H) 36,000 33,600 2,400
201 LB IH| 20,400 18,000 2,400
01 ArR2t2|bl 20,400 18,000 2,400

1) B4 24] 1,000,000& x12& 12,000
DEEL=EES =
7,000 20 x5« 12& 8,400
202 O] 15,600 15,600 0
01 =2UWdHI 15,600 15,600 0
1)% 222X 0| 20,0002+ 132 +58 * 122 15,600
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2)2ets ®I|e=a 175,500, 000& 14 175,500
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2)2dE 6,670,000 =14 6,670
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)0 520 KAl 10,000
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2)8AI| IS 7,000,000& *1A! 7,000
HMSAAH(E=SD) 132,400 123,200 9,200
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01 =2WAbl 71,760 78,000 26,240
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NEIANRRE 30,0002 =150 450
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SN HB SR (BIH) - A - B S 0l &b S D=2
206 M=l 2,170 2,070 100
01 M=ZHl 2,170 2,070 100
NEZXE tHE S 1035
2,170,000& * 14! 2,170
Xlot= S X2l 64,310 59,275 5,035
201 ZEH2IH] 64,170 56,939 7,231
01 At 2eld] 3,200 3,200 0
et~ 3,200,000& =14 3,200
02 232944l 60,970 53,739 7,231
Na3e= 2 MA 42,860
)Xot ETERZ 21,7303+ 123 261
Q)BRXNJAULAS AL E
51,6513 +123 620
)& - DIEG Aot ESEII=
3,100,650& «12& 37,208
2)BHNAR 20 XNot=E&I =
110,682& «12& 1,329
2)XIStHHE+M 822 3| H
344,200& 102 3,442
NAIE EHI KX 18,110
2)XIot=2=E 2B4-H] 1,245,000 x50 2 6,225
2)KIotHH & Al & =& 1,035,000& *571 2 5,175
)8 2R AH A Z Al 24|
460,000 * 14! 460
Q)B2XN LIS AL AAZ2E
1,250,000 14! 1,250
2)EAS XotiiEs dseE wil
5,000, 000& *14] 5,000
206 M=l 140 2,336 A2,196
01 MZ 4l 140 2,336 22,196
Xlst=2el HEHl 140
)Y +AHABAIEIH Y 2]
140,000& = 18f A 140
ot=% ztel 1,921,984 1,642,309 279,675
ot=Ald - ZHl | X2 190,584 171,829 18,755
201 LEH23H] 39,726 33,090 6,636

01 AtR2cidl 9,000 9,000 0
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1) LBt 2| 9,000,000 x 14! 9,000
02 ZZ=29H] 30,726 24,090 6,636
N2Z22=2 2 HMA 14,489
2)AMED M2 98,880 x 122 1,187
)XIHED & - 5I:ER 69,770 x63 419
)XMED TAHAZ 93,030 122 1,117
2) XS XAl 69,0702 23 139
)EHD| EoltiARE S
1,242,000 6 X * 13 7,452
2)UEXE BB 537,650 = 1CH 538
s eg=a 65,0208 x23 131
2)8H2 A - Gt &3/ 350,000 *13] 350
2)EDEOAIAE AIRZ 263,000 122 3,156
1Al ZHI S XIH 16,237
2)=HD| X2 1,800,000 *3CH*1/2 2,700
2)=4J|8 A2 1,69921 %8 4 * 150 *3LH 6,117
MESY 01T S AR
2,50024 %100 £ 250
2)HESE 019t & KRFHI
1,609 %36 £ 122 734
2)2HEH SFH] 1,699 %36 £ *12& 734
2)23CE AEI| KFH
71,6992 %36 £ *12& 734
2)HESH0I2} HED| £2lH]
383,720 »20H 768
2)CCTVS Xl 22l 15,000, 000! * 1 CH *8% 1,200
)88 U ADEH| 3,000,000 14! 3,000
203 H2=ZH 960 960 0
03 AIM=XAD=ZY| 960 960 0
NoSAAES HFEEA J2FX
960,000 1Al 960
206 X2l 145,980 133,861 12,119
01 XZ4 145,980 133,861 12,119
Not2AAE2 E2X HEH 145,980
)8 9 7E 79, 180 *5002 39,590
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2)HESA L gE 220,000& *100= 22,000
2)0tAR 9 1E 14,4002 +800 11,520
2)A200lY F2 o 2
50,0003 »400H 20,000
2)NHE 3,433& +3,5001 12,016
2)elol= 59,5223 x350m’ 20,833
2) 2l Kt 29,680& 310’ 9,201
) A A 30,4503 * 104 305
2)etgr= 15,500 1074 155
2)8l 280l 2 H 2 XID] 35,4403 2504 8,860
2)J1Et ETHZH 1,500,000& 14 1,500
301 Lptsazg 1,500 1,500 0
12 JIEIEH3 1,500 1,500 0
NasiEa3a 300, 000& *54! 1,500
401 AIEHIZROY| 2,418 2,418 0
03 A& =0 2,418 2,418 0
NAIZ20b] 2,418
)E>E 70,900% *20E X 1,418
2)8A Sl 1,000,000& * 14! 1,000
ot=AlE2E SAt 578,950 536,480 42,470
401 Al&HIZL =20 578,950 536,480 42,470
01 AlI&HI 578,950 536,480 42,470
1)ot=AlE2 S A 578,950
2Q)MELIR B4 1,935,000 *507H 2 96,750
2)8l=¢g0l AX 518,000 *200H 2~ 103,600
2)ot=2t I 581,000& *600m 348,600
2)0l2 & HIIS2Hel 30,000,000& 14! 30,000
ot=% E&IA 502,450 534,000 231,550
401 AIEHIZLROY| 502,450 534,000 A31,550
01 Al&HI 502,450 534,000 A31,550
Not=& &4 S A 502,450
2)gdE4 140,000 *1,300m* 182,000
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2)HNES 322,500& *300m 96,750
)= 119,000& *1,000m* 119,000
2)HJIE ™ 34,900 3,000 104,700
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01 AlI&HI 150,000 0 150,000
ot d 150,000,000 %14 150,000
ZHAET 242 HHIBA 500,000 0 500,000
401 AIEHIZ SO 500,000 0 500,000
01 Al&HI 500,000 0 500,000
nesz2 24 500,000, 000& =14 500,000
GR=dIR=Y 24,700 24,700 0
ot E 22 11,100 11,100 0
201 et 10,000 10,000 0
01 AR 2cldl 10,000 10,000 0
1)et=&H| 7,000, 0003 * 14! 7,000
N A2 S I 3,000
2SR EHEA XA 2,000, 000& *12 2,000
2)otM A &Yl |l 1,000,000& x13] 1,000
203 YR =& 1,100 1,100 0
03 AHFIH2FAH 1,100 1,100 0
NidiesEs 2= 500,000 * 14! 500
D2 qRFX 600,000& 14! 600
E2E 2% 13,600 13,600 0
201 LEr23H] 8,500 8,500 0
01 AtR2teld 2,800 2,800 0
nNegs< 2,800
)M NE2R Y BEALY
70,000% x20H »23| 2,800
03 A2 5,700 5,700 0
NEI0 MBS A 475,000& x122] 5,700
203 YREAY| 500 500 0
03 AIMFAHRFAH 500 500 0
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CHol TH Ol (69 &8
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 Hws2

IEEEEREEEEIEEE 500,000 *14] 500
206 T2l 4,600 4,600 0
01 Mz 4,600 4,600 0
NONSHSS (MBS HY)
46,0002/ %1007+ 7 4,600
HHSAAH (XISL D) 154,560 134, 120 20,440
olzte oyl 4,200 4,200 0
ole 2oyl 4,200 4,200 0
203 YRFAY 4,200 4,200 0
04 BANSILREXY| 4,200 4,200 0
NENSY =X 350,0008 * 128 4,200
pIEE-L] 150,360 129,920 20,440
pEE-L] 150,360 129,920 20,440
201 ety 62,360 48,200 14,160
01 A= 22lt] 62,360 48,200 14,160
DEEIER=2] 17,000,0002! * 14! 17,000
DECESSEEE] 7,0002! x202 x27% * 122 45,360
202 o1t 84,240 81,120 3,120
01 =LHoiH 84,240 81,120 3,120
1)5 22 2 =X 04|
20,0009 * 132 %27 H* 128 84,240
405 XtabFE S 3,760 600 3,160
01 XaY2EFSH] 3,760 600 3,160
NzetmelE o 3,760,000 *1CH 3,760
RS (X2 H D) 277,526 0 277,506
VESIENE 277,526 0 277,526
WerEe 2 ME3 277,526 0 277,506
702 JI2TES 277,526 0 277,506
01 JIZ2NE3 277,506 259,940 17,586
D ze2 &3 277,526,0002 14} 277,506
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229 Mt 6,623,541 6,235,602 387,849
Al 28,560
XA 6,504,981
TOUBARIM +F B4 169,985 192,720 £22,735
Al 28,560
XA 141,425
P4 HeaL 124,046 135,250 A11,204
Al 28,560
XA 95,486
A A 25,790 33,530 AT,740
201 syl 5,000 7,000 A2,000
02 ZZ=2ZY| 5,000 7,000 2,000
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201 L2yl 8,360 5,840 2,520
01 At2tel| 8,360 5,840 2,520
1)1 AAL QI 5,700, 00024 +14} 5,700
DEX ot 2K P 2,000,0002! *14} 2,000
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165, 00021 %22 +23| 660
203 ARFXY| 7,760 1,760 6,000
03 NHEZMHL=X| 7,760 1,760 6,000
NASR2 LRFFY 1,760,00021 *14] 1,760
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1)2UA22 2 Hl
5,000& *20H 21 x12& 25,200
Zo22e8 EX0
1,800 x20H x21 L x12& x50% 4,536
P A 22| 3,500 3,500 0
SEHAAL 22| 3,500 3,500 0
201 LBt AH| 1,500 1,500 0
01 AFR222|4| 1,500 1,500 0
)22 AAL oI 1,500,000 14! 1,500
202 0| 400 400 0
01 =2Woib] 400 400 0
NAZEAMAA P2 DA S O]
20,000 x 1™ x203] 400
203 YR2=&8d| 1,600 1,600 0
03 AHMFRAD=F 1,600 1,600 0
NAZAM A Hl 1,600, 000& 14! 1,600
S22 19,435 29,130 A9,695
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.S (2AH) - MBAY - BES

r

2
J2

=1

R
J2H

A Bas

800,000& *14]

800

800

800

0%
0
HO

6,453,556

6,042,972

410,584

6,198,426

5,778,913

419,513

6,198,426

5,778,913

419,513

5,953, 166

5,545,203

407,963

66,082,000&«1H +1.0152

2,961,300 x4 128
2,534,500 x18H « 122
2,132,700& »47& «12&
1,669,800 x12F 123

1,085,200 x8F 12

2,223,100 x3F 122
1,948,900 x7E + 122
1,650,500 x3H « 122

2,540,228,000& *1/12%0.96

9,796& 4B 57 Al 2tx 123
8,312 «18H»57 Al 2H+ 12
7,457 3«47 B +57 N 2+ 128
6,682 <12 »57 Al 2+ 123

5,993 «8H «57 Al 2tx 12

7,457 3 x3H 57 Al 2tx 123

2,810,534
67,087
67,087

2,540,228

2,237,070

142,143
547,452
1,202,843
240,452
104,180
303, 158
80,032
163,708
59,418
203,219
973,891
516,102
456,508
26,802
102,338
239,728
54,846
32,794
59,594

15,302

2,652,691

881,517

157,843

92,374




SN A M
B HESAAY (2N )
chl: QA2 A
SA BB CR(SH) - NRAY - A S Ol o e
0 4 o
3)82 6,682 «7H+57 Al 2tx 123 31,994
3)9= 5,993 x3H x57 A| 2+x 128 12,298
DEIEES= 77,094
2) = Xt 40,0003 103 +0.78+12& 38,564
2)EH 20,000& 103 +0.4x12& 9,888
2)dI=
(20,0003 103 +30,000& 5% )*1.08* 12& 28,642
NAESEIEERSS 32,492
)88 62,400 x103H 0. 19%43] 4,885
2)nSst 446, 7003 103 »0. 15%43] 27,607
NEZSEIHM3 121,680
2)25E 0] & 130,000 «30H x 123 46,800
2)20E 0] &t254 0| 2 110,000& +33F « 122 43,560
2)15= 0l &t20& 0l et 80,0003 x17H«12& 16,320
2)10E 0l &t 154 0] 2 60,000 15H = 12& 10,800
2)54 0l &H10= Ol F 50,0003 »7H«12& 4,200
Negze4 54,960
2)28E 50,000 x46H «12& 27,600
)28 40,0003 57"« 128 27,360
N4
2,540,228,000& *0.49*4 . 8% 59,747
NRg2f24 50,0003 x1H«12& 600
NEx=gR4 75,216
2)0|=dRaY 5,760
=< 4,320
4)53 0| & 50,0003 x1H«12& 600
4)6,7= 30,0003 9% x12& 3,240
4)8,92 20,0003 »2H «12& 480
3)IHat3 1,440
4)J|AH2 30,0003 »2H «12& 720
4)J| At22 20,0003 3 «12& 720
2)ozg2ag 54,456




SM: 2ASIMI
B HESAAY| (2AAMD)
£9: o1z o] (el @l
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
34 909,000& »2H 128 21,816
a4 70,0003 x5 122 4,200
3)As=d 50,0002 x36& «12& 21,600
o=o=x4d 50,000& x10&E * 122 6,000
3= =4 70,0003 x1H~ 122 840
) PNR=PN RS R 40,0003 «6H ~12& 2,880
2)plEg R 30,0003 x4« 122 1,440
2)BAXA 222 70,000 x 12+ 123 10,080
)M Re 50,0003 x1H« 122 600
NSO+ 500,000 »6H «12& 36,000
03 EHZAH 160,680 148,200 12,480
A AZ A 130,000& 103 « 12 160,680
04 WS=2XH| 156,000 145,560 10,440
NWsSE Xyl 156,000
2)52 140,000 4 x12& 6,720
2)6~72 130,000 ~68& 128 106,080
2)8~10=2 120,000 «30H x 123 43,200
05 ZFESIH 254,023 239,513 14,510
NEEF Ot 2,540,228,000& 1/12%120% 254,023
06 JHAHXIZbI 424,219 399,986 24,233
1) AKX 2 8] 2,540,228,000& *16.7% 424,219
07 HII2 4| 107,688 74,516 33,172
NEsEH 67,087,000 *0.66%1/12%1/30% 15! 1,845
DEEL] 2,540,228,000& *1/12%1/30% 15 105,843
08 JIEtAE= 1,066, 131 1,003,220 62,911
1) A 2= 1,066, 131
2)¢E 720,255
3)ot3 66,082,000& 12 +1.0152 67,087
3)ot= 62,264,000& 6 x1.0152 379,263
U= 44,737,000& x3H x1.0152 136,252
3)0t= 33,898,000& 4H=1.0152 137,653




SN A M
M HEHAH (AL M)
ol olz 2| (crel: &2
_ _ - MEg
SAN-ZH-SA(FA) - NFAY - BES Of &K Ol & o8 HnE2
)= 254,188
xR
720,255,000 #1/12%70%*0.5%1.5/226+57 Al
2H+123 95,371
3IIE=Y 10,604
4) B Xt 40,0003 x 14 «0.78«12& 5,242
4)E=X 20,0003 * 14 +0. 40+ 122 1,344
4HHl=
(20,0003 *142H+30,000& *1H )*1.08* 12 4,018
P IER=GL =N = 4,417
4)8st W 62,400 x 14 x0. 19%43] 664
4) NS850 446, 7003 14 x0. 15%43] 3,753
e zgdRag 143,796
4)013 1,300,000& *7E = 12& 109,200
4)Lt= 961,000& *3H x12& 34,596
2) N 3BT 47,640
3)ot=2 400,000& x7E«12& 33,600
U3 250,000& 3 x 12 9,000
3)0t= 105,000 4 x 122 5,040
2) M Z Al 130,000 * 14 x12& 21,840
2) DL B At
720,255,000 & *0.66+1/12%1/30% 15 19,808
2)tHol & =HI(0t=2) 50,000& x4H »12& 2,400
203 YRFLAH| 11,980 11,470 510
01 JI22gYRFL8Y| 3,300 3,000 300
NEAHLHE 3,300,000& 14 3,300
02 FJAIHRFEY| 4,480 4,270 210
NEAIMH R F Y|
40,000 »100¥4 +30,000& *16H 4,480
04 RBEN2IYRFLYI 4,200 4,200 0
NEA2IL2FTY| 350,000& *12& 4,200
204 HP28AY] 233,280 202,240 11,040
01 HAéZHARAHAH 9,600 8,400 1,200
NEMZ YR FZYI 9,600




SN 2ARIMI
HE: HNSAAY (SASIMD])
el ol 2| (£ &)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
2)42 400,00021 * 12 122 4,800
2)58 100, 00024 *423 x 128 4,800
SRS 172,080 159,240 12,840
=ELES 172,080
2)43 400,0002 #1234 x 122 4,800
2)53 250,000 *4% *12% 12,000
2)63 55,0002 182 * 122 33,480
2)72 140, 00024 50 * 122 84,000
2)8-93 105,00024 30 * 122 37,800
SHYL+HB Y| 51,600 54,600 3,000
WRIEES 50,0002 +86 % * 1224 51,600
255,130 264,059 £8,929
=y 255,130 264,059 £8,929
bt A bl 153,110 132,230 20,880
NEETEN 73,690 61,450 12,240
Y NPSE L AR4HE 23 7Y
1,200,000 * 122 14,400
NYREF 32| 7,000%1 %28 +202 #1224 47,040
ANy, YRPY
(50,0002 *2& * 1102 )+(50, 0002 *12§ x252) 12,250
Z2=29y) 79,420 70,780 8,640
NEAS 22 1,500,000 * 122 18,000
2222 % MAl 61,420
2)BTR2 YL A ZU2
2,500, 0002 * 128 30,000
2MBIE NUH 242 100,008 122 1,200
TSI, BEE S 5,620,000 11 5,620
2)Xe REU L XA
1,500,000 * 122 18,000
2)o|2H IS Helul 50,0002 *12% 6,600
01t 87,360 90,480 A3,120
ENTI 87,360 90,480 A3,120
DEEESINCE 20,0002 x28% * 132 122 87,360
405 XtarE S| 14,660 41,349 126,689
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F: ZEAEY 2HO BAASNEIA MB

ool DX (ct9): A
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
o@D 5,309,623 5,149,970 159,653
= 1,302,656
Al 1,593,590
A 2,413,377
NYoYY YO BASHHIA HB 5,103,343 4,969,990 133,353
= 1,302,656
Al 1,593,590
A 2,207,097
2R 1,052,945 1,347,437 294,492
= 363,885
Al 329, 181
A 359,879
MFHST2 ) 112,000 92,944 19,056
= 33,600
Al 39,200
A 39,200
307 SI2t0lH 100,000 76,944 23,056
= 30,000
Al 35,000
Rt 35,000
NEEEEEET 100,000 76,944 23,056
1)2 Ak ot Y| 100,000, 0002 14} 100,000
=2 30,000
Al 35,000
| 35,000
403 TEXISHHSAHEO0IH 12,000 0 12,000
= 3,600
Al 4,200
A 4,200
02 BIIZSOICHEICHE AL b 12,000 0 12,000
1) 2 K& RI= 12,000,000 * 14! 12,000
= 3,600
Al 4,200
A 4,200
M2 A0 S0/ X8 259,250 335,665 AT76,415




A NG2A 0
al

I ZE0L dE2 BAAsNHIA MBS

ool 2XEA (9 &el)
_ _ SIEN
SH-EFHHA(FA) - NIRAE - BES O AFH 'oﬂ/'\_WH Hons2
AR AMOF £20| X = 129,625
Al 64,813
XA 64,812
307 ©I20IH 259,250 335,665 AT6,415
= 129,625
Al 64,813
XA 64,812
TBEEEEEL] 259,250 24,728 234,522
1)ER0IMHIAKZ 259,250,000 14! 259,250
= 129,625
Al 64,813
XA 64,812
ALDY 2 6,900 6,250 650
201 gty 6,400 6,250 150
03 &A=l 6,400 6,250 150
NAAR 150, 0002 *26% 3,900
1) 8 ALKl 2| 2,500,000 * 14! 2,500
203 AREFY| 500 0 500
IEEREEES 500 0 500
RS2 298 S 500, 0002 * 14! 500
It HAARSH 8,000 9,724 ~1,724
= 4,000
Al 2,000
XA 2,000
201 gty 7,500 9,724 A2, 224
= 3,750
Al 1,875
XA 1,875
01 At=RZell 1,000 9,724 N8,724
222 MY 1,000,0002! 14! 1,000
= 500
Al 250
XA 250
03 A2 | 6,500 0 6,500




SA

M ZEMYR 2EO BAYSMHIA HE
el RXEA (£l &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
NI o A2BE ALY
6,500,000& * 14! 6,500
= 3,250
Al 1,625
A 1,625
203 YRFLAH| 500 0 500
= 250
Al 125
A 125
03 AIMZFAAS =LY 500 0 500
NS HALSTAS 500, 000& 1Al 500
2 250
Al 125
AV 125
HEE HAOIAZ AL & 2022 129,414 147,766 A 18,352
= 38,962
Al 45,226
DS 45,226
307 gQiz2tol™ 129,414 147,766 218,352
= 38,962
Al 45,226
DS 45,226
01 Az 2= H| 129,414 147,766 A 18,352
1)CHAFOI & & AL 112,602,000& » 14! 112,602
= 34,122
Al 39,240
AN 39,240
1)&tor2tel 16,812,000& * 14! 16,812
2 4,840
Al 5,986
AN 5,986
Ol=0t ¥ AXMHO0IA0t o= XA 166,324 147,266 19,058
= 49,920
Al 58,202
KHA 58,202
307 QIZt0IA 166,324 147,266 19,058




FAM: NSE2AL
DB NHYY el FAATHHIA HB
CHel: X EA =NE=t=)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told = 49,920
Al 58,202
XHA 58,202
01 S22+ =2l 166,324 147,266 19,058
nelzgl X 166,324,000 * 14 166,324
= 49,920
Al 58,202
A 58,202
SEYRR N 314,578 589,594 A275,016
= 94,468
Al 110,055
AHA 110,055
101 el H] 15,000 15,000 0
= 4,500
Al 5,250
| 5,250
10 JIZHNZ2Z2NSE s 15,000 15,000 0
NEYLEXA 15,000,000& * 14! 15,000
= 4,500
Al 5,250
THA 5,250
307 glz2told 299,578 574,594 A275,016
= 89,968
Al 104,805
DS 104,805
01 g2+ =l 299,578 574,59 N275,016
DAIEZAILH X2 299,578, 00021 * 14} 299,578
= 89,968
Al 104,805
AL 104,805
R0 22 12,551 12,228 323
= 7,271
Al 2,640
KHA 2,640
201 BH2EH] 2,691 1,984 707




SM: Y2 AD
Hm. MR omo HHOSALA M2
CHel: X EA =NE=t=)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
201 BtEAH| = 2,341
Al 175
KEAI 175
01 ArR2t2|bl 2,691 1,984 707
1A EEH] 700,000& x 1Al 700
= 350
Al 175
KEA 175
1NEPRAE LS 1,991,000& * 14 1,991
= 1,991
307 QIZtoIA 9,860 10,244 N384
= 4,930
Al 2,465
KEAI 2,465
01 =L F=H| 9,860 10,244 N384
1)2H6AI0ICH o243 X 2 &lH|
9,860,000& *14] 9,860
= 4,930
Al 2,465
XEXI 2,465
DB A2 43,928 0 43,928
= 6,039
Al 7,045
DS 30,844
201 B9y 7,000 0 7,000
= 900
Al 1,050
AEAI 5,050
01 AtR2t2id] 6,000 0 6,000
1) Q1A H] 3,000,000& =14 3,000
NAMOF B2 BN B2
3,000,000& * 14 3,000
= 900
Al 1,050
XEA 1,050
02 =32gH| 1,000 0 1,000
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I ZE0L dE2 BAAsNHIA MBS

el RXEA (£l &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
1NRE2 1,000, 000& * 14 1,000
203 YRF&H| 1,500 0 1,500
03 AIMF=RHERF=EH| 1,500 0 1,500
N2XANEAH 24 1,500, 000& x 1A 1,500
307 QIZtolA 35,428 0 35,428
= 5,139
Al 5,995
KEAI 24,294
01 =L F=H| 35,428 0 35,428
1)J1 &0t A 15,0003 *550H 8,250
1EE A 15,0003 *550H 8,250
1) =2 ALK 5,000 x5S *12& 300
1802 24 EH| 1,500,000& x 14! 1,500
1)AIAO0F B2 dY 2 A
17,128,000& x 1Al 17,128
= 5,139
Al 5,995
AP 5,994
HESH AL 1,402,058 836,977 565,081
= 275,705
Al 316,322
KEAI 810,031
BAHAWBESAIY 834,815 352,750 482,065
= 237,758
Al 277,383
DS 319,674
201 2et2Ad| 2,290 2,290 0
01 AtR2t2iY| 1,740 1,740 0
1) QI M Hl 600,000& *23| 1,200
NHAAZE 90,000& *6 Ml E 540
02 =224l 350 350 0
RS2 100,000& *33| 300
1)EHH 2 10,000& x53| 50
03 #AI2HHI 200 200 0




SN A2 A
B MY GEO HABAHIA M
=13
fe=)

Eelr M ALY (el =
_ _ _ Muo
SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
e+ 5 E2H| 100,000& 23| 200
203 YRF=&d| 300 300 0
03 AIMZ=AHI2 =] 300 300 0
1NEANARIE S 300, 000& 14l 300
301 ptsazg 1,200 1,200 0
12 JIEt2 &3 1,200 1,200 0
NUHYES olaets T =]
100,000& *123] 1,200
307 glz2told 830,525 330,960 499,565
= 237,758
Al 277,383
A 315,384
01 2%+ =l 830,525 330,960 499,565
NOYEE orEHl, WEY
343,725,000 14! 343,725
= 103,118
Al 120,303
AL 120,304
1)BE =Z2g ol 21,040,000& » 14! 21,040
= 6,312
Al 7,364
DS 7,364
DEREEESES] 427,760,000 » 14 427,760
= 128,328
Al 149,716
AL 149,716
NUgEES %EH| 30,000,000& » 14! 30,000
NAZSHI(ZLXE, TIDE, F=ADI)
8,000,000& * 14! 8,000
405 XtobESHI 500 18,000 A 17,500
01 AL SESFHSHI 500 18,000 A17,500
DHSH 500,000 1Al 500
ZHSESAS 345,900 260, 100 85,800
101 QI H| 20,300 13,700 6,600
10 JIZtH22AAsSES 20,300 13,700 6,600
NHEAAL E 200,000 28 20 8,000
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B MY GEO HABAHIA M
=13
fe=)

CHl: F S0 AL (5 &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
NEZ2BA B+ 70,0002 *8% 202 11,200
EEE 1,100,0002 *14} 1,100
201 Ygreg| 8,800 8,800 0
01 AFR2elt] 1,500 1,500 0
)01 44 bl 1,000,0002 13| 1,000
DELE] 500,0002*13] 500
00 B2 300 300 0
DES R 300,0002 *14] 300
03 A2 Y] 7,000 7,000 0
1)8 ALKl 24 ] 7,000,0002 14! 7,000
203 REXY| 3,000 3,000 0
03 AFZALR=HY| 3,000 3,000 0
DIET=EESS 3,000, 0002 14! 3,000
01 YuBAZ 5,000 3,000 2,000
10 SAAUIZAS 5,000 0 5,000
)RR ZAK A2 A 5,000, 0002 * 14! 5,000
307 QI2H0IF 308,800 231,600 77,200
NEEEREET 308,800 231,600 77,200
DEETCEEE 7, 72024 %40,000% 308,800
HASSHERY 22,425 22,100 325
=2 5,047
Al 6,939
XA 9,539
101 Q1248 19,825 19,500 305
= 5,947
Al 6,939
XA 6,939
10 JIZHIZNELS 19,825 19,500 325
NHASSHE LgolP
19,825,0002 *14] 19,825
2 5,047
Al 6,939
A 6,939
201 er2g| 1,200 1,200 0




SN A2 A
B MY GEO HABAHIA M
=13
fe=)

el dFEl

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 At 2teld] 600 600 0
1)E2H| 600,000& 12| 600
02 2232944l 600 600 0
NRE= 100,000& *62l 600
203 SR F&H| 400 400 0
03 AIMFAARFLY] 400 400 0
N&EH L 243 400,000& * 13l 400
301 utEa=z 1,000 1,000 0
12 JIEI2 &3 1,000 1,000 0
NEUSEE EI|ZEE ANMNSE
200,000& x5 2t 1,000
GANSAIY 101,038 105,647 A4,609
101 ol t| 10,000 10,200 A 200
10 JIZtHZ2Z2NSEs 10,000 10,200 A200
DR R=R=el el 50,0003 *x2F 100 10,000
201 Lt 26,890 22,290 4,600
01 At 2eld] 2,940 2,800 140
NISH(ZHERYES) 100,000& »7H +23| 1,400
NI SH(LS L DI 50,000& »7H 350
NISHI (RS A1) 50,000& 7 350
1) & Hl =2l 70,0003 +x12& 840
02 =329l 23,950 19,490 4,460
NREZ 100,000& *43| 400
NeEA0IASUASZ 30,000 20 = 12& 720
nNgdas dAia BEE 500,000& * 14! 500
A &HI KX G 22,330
2)INE RN 2=t 10,0002 *110CH 123 13,200
)|t B A 11,000& »110CH 1,210
2)8IINER 6,000& 1100 x12& 7,920
203 SR F&H| 800 400 400
03 AIMFAHS =LY 800 400 400
Nasgsc 2tes) 10,0003 40 *23] 800




FAM: NSE2AL
M ZEogY 2HES EHAS MEIA MBS
Chl: dEHEM LA
S HB . S(SH) - HEAMY - BES sk oy S
- T ° . [= Bl e =5 O:H{ﬂ,%
206 THZHI 63,348 72,757
01 &l 63,348 72,757
NYctE Y (HEE28)
36,0003 *500L 18,000
NYAAZETHSH(ABSHRE) 27,0003 »60L 1,620
NYHAZHSH(RESHHE)
60,0003 *100KG 6,000
NYAAZEMNIH(AZAUE) 3,300:& *500L 1,650
NYAAZT2H (DA AS) 4,500 *500L 2,250
NEHSIEHLR(UHEHARASD])
1,875& *10L*703] 1,313
NEHISNEFLR(SHEZRII)
1,875 %5703 657
NEHSHEIAR(MHESHER)
1,697 & *140L+703] 16,631
NEHISHEZR(HEEER)
1,697& *140L+ 183 4,277
NEAAEZETNSH (ANSLAHASERE)
36,000& »3L*253] 2,700
NYAAEZNSH(NSLAHLUEARE)
50,000 *3L*253] 3,750
NYAAEZNZH(ASLAHRIESAME)
60,000 »3L*253] 4,500
Olol =2tel At 70,000 70,000
= 31,500
Al 31,500
AN 7,000
203 HRF&H 1,800 1,800
03 AIEZFAHRFLY| 1,800 1,800
1) &8 X2 2 5,000 *80E *43| 1,600
1EEEAIS 200,000& *12] 200
307 2IZtolM 68,200 68,200
= 31,500
Al 31,500
AL 5,200
01 AZHP2=H| 68,200 68,200
& ZHl 63,000,000& 14! 63,000
= 31,500




S X2
B MY GEO HABAHIA M
Chol: F S0y

_ _ MNuE o
A -3 -H2A(SH) - HEAMY - BES O AF K '@,‘;OH Hos
Al 31,500
1) &I EFAl 220 5,200,0002 *14! 5,200
2ol g2 24,080 22,580 1,500
201 gty 500 0 500
01 At=2telt| 500 0 500
1)01 441l 500, 000! * 14! 500
307 9I2H0IH 23,580 21,780 1,800
NEEEEEET] 23,580 21,780 1,800
DEEEES 1,620,0002! %14} 1,620
1)0ISH Al 1,8002411,000& 19,800
NZHBTE 42| 2,160,0002 *14! 2,160
FeTAY e 3,800 3,800 0
= 500
Al 500
XA 2,800
201 Ler29y| 2,400 2,400 0
01 At=2t2lt| 2,400 2,400 0
NEAHUT LI} DFY| 1,200,0002 2% 2,400
203 HRFXY| 400 400 0
03 AMFAAREAY| 400 400 0
NEAHUFELDUERY 2 400,0002 *14! 400
307 9I2H0I& 1,000 1,000 0
= 500
Al 500
NEEEEEET] 1,000 1,000 0
NEAHST A2l 2| 1,000,0002 * 14! 1,000
= 500
Al 500
o EHAASO HE X 2,609,060 2,761,826 A152,766
= 663,066
Al 938,087
XA 1,007,907
wEyyeAY e 350,204 324,734 25,470

H

125,452




SA N2

I g0 2 BAAsNHIA MBS
3
of

el OB FUHSO et X (&)
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
SEgYeAA Al 78,726
KR 146,026
101 Q44 241,370 252,720 A 11,350
= 119,685
Al 59,842
KHA 61,843
10 JIZH22XEES 241,370 252,720 11,350
NESBHEU(EERHLE)
239,370,000 1Al 239,370
= 119,685
Al 59,842
KHA 59,843
NY28AH QI8 I|=2H| 2,000,000 x1A! 2,000
201 LEr2HH| 40,534 31,714 8,820
= 4,267
Al 8,134
KHA 28,133
01 AtR22lH] 25,934 15,714 10,220
1) LBt =H| 3,000,000 x 14! 3,000
NE22H A K| 8,534,000 x 14! 8,534
=2 4,267
Al 2,134
KHA 2,133
NIIAZIS D] 2 24
12,000,000 * 1Al 12,000
Al 6,000
KHA 6,000
NEASE2I B0 400,000 1 400
NSATANL 2 AL DS 200,000 10X 2,000
02 2229 600 0 600
NeE2 50,0002 12& 600
03 BA2ZHI 14,000 16,000 A2,000
NEE 4 IR DA 7,000,000 23] 14,000
203 YR=ZFH 5,000 3,000 2,000
03 AIMZRADZZY| 5,000 3,000 2,000




A
X ZH
(=R I

chel:

FHUHEY 2EO A= HEHIA WS
Sl FAASH et A&

_ _ PSJEN==
2N -3 - c2(3H) - NEME - HES Ol & loﬂjl\_pm-a HusZ
1NESE grRAa2ae] 300,000 *10& 3,000
1RCFY AR 22| 200,000& *10& 2,000
301 LEtEAS3 4,500 1,500 3,000
= 1,500
Al 750
AEAI 2,250
12 JIEIEAZ= 4,500 1,500 3,000
NENSLAES 100,000& *153] 1,500
1NSALA XS AL L SHI 300,000 *103] 3,000
= 1,500
Al 750
XEXI 750
307 QIZtolA 38,800 35,800 3,000
01 Q2L R2H| 38,800 35,800 3,000
1NERAS BT ABDERQY|
4,000,000 * 14! 4,000
NSRS FE| 26,500& x1008 x12& 31,800
NERAA2e Z2A2 3,000,000 x 14! 3,000
405 AHAHS SHI 20,000 0 20,000
Al 10,000
KA 10,000
01 XML SEFSHI 20,000 0 20,000
1)U-Health A0 2101 &
20,000,000& x1A! 20,000
Al 10,000
KA 10,000
O HI X &AL 826,680 919,752 A93,072
= 241,500
Al 292,590
AEAI 292,590
201 B9y 1,500 2,000 A500
= 450
Al 525
KA 525
01 AtR2t2ld] 1,500 2,000 A500




SA N2

I g0 2 BAAsNHIA MBS
3
of

CHel: QIZ2FHAHNSH e XN (cte:® 2
) _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2

nNee EE2S MEH 1,500,000 x 14l 1,500
= 450
Al 525
KHA 525

307 ©QIztolA 825,180 917,752 A92,572
=2 241,050
Al 292,065
KHA 292,065

01 9gzLnz4| 825,180 917,752 N92,572
N2t ZJ| HEA ALY 307,200,000 * 1Al 307,200
= 92,160
Al 107,520
KHA 107,520
1) 0l 2 2e] 12,480,000 * 1Al 12,480
= 6,240
Al 3,120
KHA 3,120
1)2& X ol 24 X 475,500,000 1Al 475,500
= 142,650
Al 166,425
KHA 166,425
NIJIRZLS 924 XA 30,000,000 * 1Al 30,000
Al 15,000
KHA 15,000

HASHAIY 545,556 460,540 85,016
= 30, 128
Al 256,454
KR 258,974

201 et HH| 7,700 4,700 3,000
Al 4,200
KHR 3,500

01 AtR22iH] 7,700 4,700 3,000
NI 222 M 500,000 x4l 500
NX0 NKLEE 2 7,200,000 x 14! 7,200
Al 4,200
THA 3,000




SA N2

I g0 2 BAAsNHIA MBS
3
of

Sl S HANSH et X (5 &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 gggi; B2
203 AREXY| 300 0 300
038 AMZZALFZY| 300 0 300
1) X1 0 & X 2 2] A2 50,0002 x63] 300
01 YsrBAZ 300 300 0
12 JlErEaa 300 300 0
NIHEES DS BAR 300, 0002 * 14! 300
307 eI2t0IH 537,256 455,540 81,716
= 30, 128
Al 252,254
XA 254,874
NEEEEEL] 10,256 10,256 0
DX HY 28 At 10,256, 00021 *14] 10,256
2 5,128
Al 2,564
XA 2,564
05 RI2SIED 527,000 445,284 81,716
e AP ME 2|
454,620,0002! *14] 454,620
Al 227,310
XA 227,310
1)0IS BAE FUBA ALY
50,000, 0002 * 14! 50,000
2 25,000
XA 25,000
e HABAME =X+
22,380, 00021 *14] 22,380
Al 22,380
S S™ER | 2HIK 886,620 1,056,800 A170,180
= 265,986
Al 310,317
XA 310,317
403 XXISHS K201 886,620 1,055,800 ~169, 180
= 265,986
Al 310,317
XA 310,317
02 ZIIASHHEHBAIL L] 886,620 1,055,800 2169, 180




S X2
M AU BT PARMHHIA KB
ol SIZHOIAUSH Het X

NI . CtO (5 HEAS . Y2 A} OH HEE Hl o =2t
'o—u'n_‘r|(9|j:”)' '“—l— I'I:J' S = =5 0:”/&,% |J-|-6C1
1) SHIX& 886,620,000 » 14 886,620
= 265,986
Al 310,317
DS 310,317
NEe2d0|8 & 8435 39,280 23,750 15,530
Al 10,000
AL 29,280
KNEEAHAZH & 4,280 3,280 1,000
201 Let3| 3,680 2,680 1,000
AtS2tel | 3,680 2,680 1,000
NALEZHAE 2F+
70,0003 *12H +23| 1,680
IDELPADSES: 20,0003 50 23| 2,000
203 SR F&H| 600 600 0
03 AIEZFAHRFEH| 600 600 0
Naog 2y 600, 0003 * 14 600
BAHAES 15,000 20,470 A5,470
201 eIy 12,000 17,470 A5,470
AtS2tel | 12,000 15,400 A3,400
EAA OHYR T 20002 %5,0002 10,000
1)QIHIEIE A B X} 20,000& 100 2,000
203 YRFAY| 3,000 3,000 0
03 AIEFAHRFLH| 3,000 3,000 0
DEEIPSE = 3,000, 0002 *14} 3,000
OtE T ALY 20,000 0 20,000
Al 10,000
A 10,000
201 Let3| 13,000 0 13,000
Al 6,500
AL 6,500
At 2tel | 6,000 0 6,000
NEEE H& 6,000,000& * 14 6,000
Al 3,000
AN 3,000




SN SR A
By DYy eY YO

Bel: XoBAl|E L 225 (&2
_ _ _ Muo
N3 (3AH) g - BES e @E% &
03 A2 7,000 0 7,000
NAAR 2,000,000 *14! 2,000
Al 1,000
A 1,000
DEEEE] 625,0002 *83] 5,000
Al 2,500
s 2,500
203 HRFXY| 2,000 0 2,000
Al 1,000
s 1,000
03 ANMZTARE 2,000 0 2,000
DXAAS WEHT 7= 2,000,0002 *14! 2,000
Al 1,000
XA 1,000
307 QI2H0|H 5,000 0 5,000
Al 2,500
Xt 2,500
NEEEEEET] 5,000 0 5,000
1)OLET 2 Atbl 20,0002 250 5,000
Al 2,500
A 2,500
UNSAAY (N2 AD 206,280 179,980 26,300
o2l 4,440 4,260 180
o2y 4,440 4,260 180
203 LPEY| 4,440 4,260 180
04 RASIAREZ 4,440 4,260 180
DEETEEEES 370,000 * 122 4,440
2| 201,840 175,720 26,120
=214 201,840 175,720 26,120
201 Ypre oy 85,500 67,260 18,240
01 A= 22/t 85,200 66,960 18,240
AR E 2| 1,200,0002 * 122 14,400
DEEE] 7,0008 *202 %3324 « 128 55,440
122 FHIS XY 100,00024 * 12 1,200




SN NE2AD
M HNSAAH|(XNYE2AHD)
el D= (982
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
NII=H (2t S ALS =) 12,410,000 * 14! 12,410
NRSH (2ZHSAIE 2D KH|)
1,750,000 x 14l 1,750
02 2229 300 300 0
NREZ E 300,000 x4l 300
202 O] 102,960 96,720 6,240
01 =2LHOIHI 102,960 96,720 6,240
DEILIGE] 20,0002 * 13«33 »12& 102,960
405 KHAHE S 13,380 11,740 1,640
01 KL SEFEH 13,380 11,740 1,640
N2 =L 1,200,000 *4CH 4,800
N0l ™M ZalE 580,00024 1 CH 580

NE=EDI 8,000, 0003 = 1CH 8,000




A oot

ANF2A S HAH L3t

ol 2 HHIATNS3

SN I SRI(S) - NRAY - B o e B RS2
1,282,930 1,208,374 74,556
= 331,990
Al 59,208
AHA 891,732
NEEBAH2AZ M A Z =t 1,014,670 985,090 29,580
= 331,990
Al 59,208
| 623,472
S MHIANS 26,220 25,220 1,000
ogEdxd 19,100 24,100 5,000
201 LEH23H] 16,500 21,500 A5,000
01 Atf2teld 16,500 21,500 25,000
1S AME S U2 =258 300, 000& *53] 1,500
NOfE 9 %2 QuE N DS
2,000,000& =14 2,000
NotEBHC S22 & ME
1,000, 000& * 14! 1,000
NEAZEANAE R L MER
12,000,000& 14! 12,000
203 YRFLH| 2,600 2,600 0
03 AHMFAHRFAH] 2,600 2,600 0
f)olor Gl YEE As| S
2,600,000& * 14! 2,600
=9z 7,120 1,120 6,000
201 ZEH2EH] 1,120 0 1,120
01 AtR2&cldl 1,120 0 1,120
)PE ¥ S3HX 220S 1,120
405 XHaHFSHI 6,000 0 6,000
01 XML EESHSHI 6,000 0 6,000
NRSA MHMS) L IICEHE NED
6,000, 000& * 14! 6,000
| ALY 63,840 67,142 23,302
it 29 24,100 28,300 A4,200
201 B2 EH] 5,500 1,000 4,500
01 AtR2&cldl 5,500 1,000 4,500
NYERL U = Doy
1,500,000& * 14! 1,500




S ook nt
M NA2A2 M H LS

CI9l: DB A (£r9): & 2
_ _ _ Muo
SA - BE - BA(EA) - NRAY - BES 0] & 08 i HRE2
DATC(IESERI]) SA2+
3,000,000& =14 3,000
1)OCRE X, ek BN £ 2
1,000, 0003 * 14 1,000
301 Lptsaazg 1,500 1,500 0
12 JIEI2 &3 1,500 1,500 0
NIz 2HE = 1,500,000& 14! 1,500
307 QI2t0IA 13,400 13,400 0
01 dz2+=4| 13,400 13,400 0
DIX AR ALY HEb|
11,000,000 14! 11,000
Niza L AZE 29 200,000 * 123 2,400
405 It SHI 3,700 1,600 2,100
01 T ESHSHI 3,700 1,600 2,100
NXsEAI| 2 2,700,000& = 1CH 2,700
Netd=Zely 2 1,000, 000 = 1CH 1,000
X 29 36,140 12,142 23,998
201 2BH2IH] 1,750 3,402 A 1,652
01 AtE2teldl 1,750 1,750 0
NFLEAES 2B 1,750
307 QIZt0IA 8,040 8,040 0
01 dz2+=4| 8,040 8,040 0
nxneg 8,040
401 AIEHIZLROY| 5,000 0 5,000
01 Al&HI 5,000 0 5,000
NSUE &X Hig8E 5,000,000& =14 5,000
405 XH&HFSHI 21,350 0 21,350
01 L SESFHSHI 21,350 0 21,350
NXIREEE FLIE 20,000
NS 1,350,000& 14! 1,350
Scx=4 29 3,600 26,700 223,100
307 glztold 3,600 3,600 0
01 =27 =l 3,600 3,600 0
Ngexzss 29 300,000& 123 3,600




SN oo

HB: (A S HH 2L
Cel: HzAT CER)
] _ _ PIEL=
S-S (B) - MEAY - B2 Of) &F o8 e HD=2
AL & 236,970 207,768 29,202
= 12,220
Al 6,110
XA 218,640
AAaHL|A 2 172,126 139,628 32,498
201 LBt2d9d| 950 0 950
01 AFR2t2lb] 950 0 950
N 22 A3l 500,000 13| 500
1)2 AFH 2= X 2| 8] 450,000 1Al 450
307 OQI2+0| & 147,376 128,328 19,048
EEEREET] 147,376 128,308 19,048
NEREASAISE 2L TH2 O 200 *33,000™ 6,600
MBS AR AL 2 THE
4,000 *21,000"™ 84,000
NAEAMNEAS 2 WEN
1,000 %8,700x 8,700
NEMSEANE A 2 W2
10002147, 2002 7,200
OO RZAIR Al L THEOH
3,300& *1,900& 6,270
NIt AAME A & HEN
4,000 %4,000H 16,000
NEEHAASAISY L W2 6,600 66024 4,356
BB HARAIC U K20
950& «15,000 14,250
405 KH&HFESHI 23,800 11,300 12,500
01 XML =SEFSHI 23,800 11,300 12,500
1) AFAIFHZ D Q) 15,000,000 = 1CH 15,000
1)=E2AA 24D ol 8,800,000 = 1CH 8,800
H2ATAY 400 400 0
307 21201 A 400 400 0
01 o231 =H]| 400 400 0
NHIESE AAIEHESZ 400,000 =14 400
SIAIE A 2Y 25,604 28,000 N 2,396
201 LBr2d9y| 404 0 404
T 204 0 204




SN oo

HB: (A S HH 2L
Cel: HzAT CrRL
] _ _ PIEL=
S-S (B) - MEAY - B2 Of) &F o8 e HD=2
NENENEd =S 16,8302 62 ~43] 204
307 212001 & 25.200 25.200 0
01 os¥3=H]| 25,200 25,200 0
1) BEARS & AHEHS O 2| H| 1,200& x20,0004 24,000
NEANIRELADE 100,000& = 12& 1,200
AMOE & | R 24,440 24 440 0
= 12,220
Al 6.110
XA 6,110
201 LBt2d9d| 260 260 0
= 130
Al 65
A 65
T 260 260 0
NHUESHE S| 260, 000& x4l 260
2 130
Al 65
XA 65
307 212001 & 24,180 24.180 0
= 12,090
Al 6.045
XEAI 6,045
01 oe¥R=d| 24,180 24,180 0
1)H A& EHy| 24,180,000 =14l 24,180
= 12,090
Al 6,045
XA 6,045
HEF0S HA 14,400 15,300 A 900
307 GQI2+0| M 14,400 15,300 A900
NEEEREET] 14,400 15.300 2900
NEAEMZ==0IS HEH| 1,800& 8,000 14,400
AL S&A 687,640 684,960 2,680
= 319,770
Al 53,098




S oot

B RSB HL
crol: A=z (cro): &2
SA - EH . S(E) - NEAY - B Ofl A 0 SSa HR=Z
ALSE NDS 314,772
ALSERALES 57,250 57,000 250
= 26,125
T 31,125
201 B2 HH| 14,750 22,100 AT,350
= 7,375
ARSI 7,375
01 AtR22ld] 13,750 20,100 N 6,350
NEESLAME MES 6,000,000& * 1A 6,000
= 3,000
X 3,000
NE2OY 29 9 SEIYY S
4,750,000 * 14! 4,750
= 2,375
T 2,375
NXNLWE FNTP AE W FH
3,000,000 x 14! 3,000
= 1,500
T 1,500
03 sAISHHI 1,000 2,000 1,000
DALBE HAAL BAS
1,000, 0002 *14] 1,000
= 500
KEXI 500
202 O4Hl 500 0 500
= 250
ADSI! 250
ENEE 500 0 500
NNE ¢ =& 500, 000& x 14 500
= 250
X 250
203 ERF&XH| 2,000 2,000 0
= 1,000
T 1,000
03 AIMFARHARF=AH| 2,000 2,000 0
DRSS A2AME HAAY 23
2,000,000& =14 2,000




SN oo

HB: (A S HH 2L
Cel: A= CrRL
_ _ MEC
S-S (B) - MEAY - B2 Of) &F o8 e HD=2
= 7,000
KEHI 1,000
301 Let8EA= 35,000 10,300 24,700
= 17,500
KEHI 17,500
12 JIEIE A2 35,000 9,800 25,200
AT DS = 35,000
2)9 2 HIBtWE2AAIE 10,000, 000& » 1A 10,000
= 5,000
KEHI 5,000
Q2= 0E L2A= 20,000,000 14! 20,000
2 10,000
KEHI 10,000
AR ESME=SIgN =4 5,000,000 x4l 5,000
= 2,500
XA 2,500
405 XA SH| 5,000 0 5,000
01 AL =SESFHSHI 5,000 0 5,000
1N0ISA MAEde =& 5,000,000 1Al 5,000
=0322d 275,206 255,700 19,506
= 137,603
A 137,603
101 olziH] 109,800 122,400 A 12,600
= 54,900
DS 54,900
10 JI2tHIZ22XNEES 109,800 122,400 A 12,600
N2 22|Y 2 18,300,000 x6H 109,800
= 54,900
XA 54,900
201 LBEr2d9d| 52,206 29,050 23,156
= 26,103
KEHI 26,103
01 AFR222|H| 47,986 29,050 18,936
NEAEAZNES =] 100, 0002 *242 2,400
= 1,200




S oot

Mp: X P 2 HH LS
el AAEZ
SA BB CR(SH) - NRAY - A S Ol o e
A 1,200
NAREEH] 3,500,000 =14 3,500
= 1,750
DS 1,750
NELEZEDASY SEH|

6,320,000 * 14 6,320
= 3,160
AN 3,160
NSE=+=d M 2,000& *2,500% 5,000
= 2,500
KEA 2,500
NI A2E 2 3,866,000 14! 3,866
= 1,933
KEA 1,933
NESIHE M 1,500& x2,0005 3,000
= 1,500
AL 1,500
Ne+a, MEME S 1,000, 000& *14] 1,000
= 500
A 500
1NSHAEA TSI 250,000 6% x23| 3,000
= 1,500
A 1,500
N2 HEHES I8 E 10,000& 800 8,000
= 4,000
KEA 4,000

NE+DRYSIGNEA FLDS
100,000& x4 H 400
= 200
DS 200

N3CoIME L EEXNE HE S
3,500,000 *14] 3,500
= 1,750
KEA 1,750

NESLELE AIMS e

3,000,000& *14] 3,000
= 1,500
AN 1,500




S oot

HB: (A S HH 2L
Cel: A= CrRL
5 - MEC
S-S (B) - MEAY - B2 Of) &F o8 e HD=2
SEYET N ET 5,000,000 14 5.000
= 2,500
KA 2,500
02 22344 720 0 720
NEAEHUXNEE B2 30,000 x24H 720
2 360
XA 360
03 SHAI2EH| 3,500 0 3,500
12 A 24| 3,500,000 = 1Al 3,500
= 1,750
XEAI 1,750
203 Y=Y 3.500 2,500 1.000
= 1,750
A 1,750
03 AH#MFRAR2FAH| 3,500 2,500 1,000
N2H22|Y AMHAR=ZX 2,500,000 1A 2,500
= 1,250
XA 1,250
NEAUZHDA AMENGDEX
1,000,000 1Al 1,000
= 500
XA 500
301 etz aza 39,800 1,000 38,800
= 19,900
KEHI 19,900
12 JIEIE A2 39,800 1,000 38,800
HZonsAAE 10,000, 0002 *14! 10,000
= 5,000
XA 5,000
N26Ns S Al 5,000 20 103 1,000
= 500
XA 500
NEAE AN S
20,0008 x24H x 122 x5& 28,800
= 14,400
XA 14,400




S oot

HB: (A S HH 2L
Cel: A= CER)
_ _ MuEC
S-S (B) - MEAY - B2 Of) &F o8 e HD=2
307 SI2t0| & 47,800 94,100 A46,300
= 23,900
KEHI 23,900
01 o= 47,800 94,100 A46,300
N2 1 10,0002 %1, 8005 A 18,000
= 9,000
KEHI 9,000
1= HIHX 252 9,500 1,300 A 12,350
= 6,175
AEA 6,175
1)2H X 3CHH 9,500& *1,3008F A 12,350
= 6,175
XEHI 6,175
)220 C| 8,000& 2008+ A 1,600
2 800
KEHI 800
1= 5,000 *5008f A 2,500
= 1,250
XA 1,250
NEZZQIS 20,000 x50 1,000
= 500
KEHI 500
405 XA SH| 22,100 6,650 15,450
2 11,050
XEAI 11,050
01 AMMEESEBFEH] 22,100 6,650 15,450
1)Micro CO =& D] 1,750,000 «10CH 17,500
= 8,750
XEHI 8,750
NHDOIs =& 2,000, 000& ~2CH 4,000
= 2,000
KEHI 2,000
1)E 2 A 100, 000 *6CH 600
2 300
KEHI 300
Ot &l &t 56,176 101,172 A44 996




SN oo

HB: (A S HH 2L
Cel: A= CrRL
] _ _ PIEL=
S-S (B) - MEAY - B2 Of) &F o8 e HD=2
ot &l &t = 23,338
Al 11,316
XA 21,522
201 LBt AH| 10,412 12,452 A2,040
= 3,706
Al 1,500
KEHI 5,206
01 AR22lb] 10,412 12,452 A2,040
e dEp NeBe oM ¥ 220y
6,000,000 x4l 6,000
= 3,000
Al 1,500
KEHI 1,500
1)t Y T A, 2HAl FMTP QIEH W S H|
1,412, 000& x 14l 1,412
= 706
KEHI 706
NS 2y AHE Ay
3,000, 000& x4l 3,000
203 YR2F&AH| 3,500 4,100 A600
03 AIMFANAI=XIH| 3,500 4,100 A 600
22D 2o goxay
3,500,000 1Al 3,500
207 HFPIHEH| 39,264 32,120 7,144
2 19,632
Al 9,816
XEAI 9,816
01 dxrEAH| 39,264 32,120 7,144
DXISANSl BHAE KAF ZAMH RE
39,264,000 =14l 39,264
2 19,632
Al 9.816
KEHI 9,816
01 YpEaD 3.000 4.300 A1.300
12 JIEIE A2 3,000 4,300 A 1,300
NEZDS 2AS 100,000% +303] 3,000
2AEAH 200,728 194,388 6,340
= 83,564




S oot

HB: (A S HH 2L
Cel: A= CER)
] _ _ PIEL=
S-S (B) - MEAY - B2 Of) &F o8 e HD=2
2UEA Al 41,782
XA 75,382
101 @l24H] 15,000 0 15,000
TR ES EES TS 15.000 0 15,000
RIS RLHAANYES 0120
15,000, 0002 * 12 15,000
201 LBt2d9d| 13,400 0 13,400
01 AF222|H| 7,800 0 7,800
NoISEZE A2 650,000 «12& 7,800
02 2224 3,600 0 3,600
N2zZea(nex ¥ S24)
300,000& «12& 3,600
03 SAISEH| 2,000 0 2,000
1)XI0FS & &AL 2,000,000 1A 2,000
203 YRFAH| 1,000 0 1,000
03 AMFRAL2F=AH| 1,000 0 1,000
RZEAANY ABEDG D =Y
1,000,000 14! 1,000
301 etz a2 2,000 0 2,000
12 JIEIEAZ 2,000 0 2,000
NIz PABE GAZA
2,000,000 1A 2,000
307 212H0| & 169,308 194,388 £25.060
= 83,564
Al 41,782
XA 43,982
01 gz d| 169,328 194,388 A 25,060
1)XIOFE IR DI 35,928,000 =14l 35,928
= 17,964
Al 8,982
XA 8,982
1)EQCIoXE&E ALY 123,800,000 1Al 123,800
= 61,900
Al 30,950
XA 30,950
1) QI X AtE2t2|H]| 7,400,000 x 1Al 7,400




K- E3 .S (3H) - MBAY - B Ao gggf; HRS2
= 3,700
Al 1,850
AP 1,850
NRLAEH2HE 22 L WS
2,200,000& x 14! 2,200
AZHAASE 98,280 0 98,280
= 49,140
KEAI 49,140
101 2124 d| 19,500 0 19,500
= 9,750
KA 9,750
10 JI2ZtHZ2E2XNSES 19,500 0 19,500
1)L A 0122 19,500,000& * 1A 19,500
= 9,750
XEA 9,750
201 B9y 8,100 0 8,100
= 4,050
KEAI 4,050
01 At222/Y| 8,100 0 8,100
NEUEHAANY ST DFHI
1,000,000& =14 1,000
= 500
KEHI 500
NIIEF249HI(0El, Hadl S)
7,100,000& * 1A 7,100
= 3,550
KEHI 3,550
307 QIZt0lA 70,680 0 70,680
= 35,340
DS 35,340
01 2z = 4| 70,680 0 70,680
NEAESA AEZWIIX P
70,680,000 14 70,680
= 35,340
KEXI 35,340
& AZHI (2 2k) 268,260 223,284 44,976
2gh| 4,260 4,260 0
SE2YH(212) 4,260 4,260 0




SN oo
BB SH 2 A (2D
Sl Ol 2| (Et9): & 2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
203 YREIY) 4,260 4,260 0
M SASYYLEA| 4,260 4,260 0
NEA2Y ge=a 35,0002 #1224 4,260
o= 2| 264,000 219,024 44,976
SIEEENETY 264,000 219,024 44,976
201 Ypr2gy| 140,640 122,304 18,336
01 A= el 138,240 122,304 15,936
DEEIRS=Y 16,800,002 14} 16,800
DEEEI 7,000 202 +338 + 122 55,440
R 2,175,000 14! 2,175
DEEETTRES 600, 00021 #122 7,200
1)TELE-PACS T2 24(S/W) S22l
20,625,002 14! 20,625
1)TELE-PACS ZHHI (H/W) ST 24
36,000,002 14! 36,000
;2 T2 2,400 0 2,400
DEEEREE 2,400, 00021 % 14! 2,400
202 01| 102,960 9,720 6,240
01 =UHolbl 102,960 9,720 6,240
)2 A 2ot 20,0002+ 132 x33% 122 102,960
405 XarE S 20,400 0 20,400
R EEEET 20,400 0 20,400
QLS =22AREH O 70H
1,200,000 17CH 20,400




SH: HATA
M BANA 29
Sl A SH3E RIDER PUAVS (e9: @8
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il b o HRs2
SAT A 561,374 499,679 61,695
PAT L 2 259,394 240,959 18,435
Al SH3 HDR RUAEZ 212,494 174,643 37,851
I EE RIS 34,286 13,778 20,508
101 QI24H| 19,800 0 19,800
10 JAM2EZNERS 19,800 0 19,800
DEIYNEES 200,000 *124 %90 18,000
)20z, AALEE S
18,000, 00021 *10% 1,800
201 Y2yl 2,000 1,980 20
01 Ateeldl 2,000 1,980 20
Naoly 2lEW S 222 M
2,000,000 14! 2,000
203 ALY 1,200 1,200 0
03 NHEMALEXY| 1,200 1,200 0
oL EBRIRIAIY SRS
1,200,002 %14} 1,200
01 YstPAS 5,800 6,700 A900
2 JlE2a2 5,800 600 5,200
NZ2EX 2B 12 50,0002 « 122 600
oL RS HATS A2 100,00020 %283 2,800
oL ES BHEAA U222
100, 00024 *23] * 122 2,400
307 QI2t0IF 5,000 3,898 1,102
NEEEEEET] 5,000 3,698 1,102
oY EBorE U HRPY
5,000,000 14! 5,000
405 Xtz S| 486 0 486
01 KMUSEHSH] 486 0 486
1)8 e 243,000 %20} 486
WETEPN= 14,305 13,130 1,175
201 Yoyl 3,226 1,728 1,498
01 A= 2eldl 3,226 1728 1,498
DHEEA DY, 22N S 292
2,226,000 14! 2,206
DRI 2] & B2
1,000,000 14! 1,000
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SN BAX L
HE: BH2AA (2AX L)
Sl Jl2 | (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
BEIES=Tr 19,500, 0002 * 14! 19,500
)E2AT4 ASAXE 10,450, 00021 * 122 125,400
1)2IA, ASA S TISHI(S,542)
4,860,00021 +25] *11 9,720
DBIER=TE =
7,002 %202 * 7%+ 122 28,560
02 ZZ2YHI 41,360 31,060 10,300
2222 2 MAl 41,360, 0002 * 14! 41,360
202 Ol 53,040 53,040 0
01 =Uhoib 53,040 53,040 0
)II2LRET it
20,0002 132 #1724+ 122 53,040
405 XtarzE S| 21,400 0 21,400
01 XALSEFHSH] 21,400 0 21,400
N2ABH 7Y 1,200, 0002 *17CH 20,400

NI 2 1,000,000 =1CH 1,000




M HAR 2 =B

HE: AMKTAIN 22
Sl FAMKTAX 22l (S & )
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
RN E L] 104,806 0 104,806
AMTEAIM 22 47,406 0 47,406
AMTEAIM 22l 47,406 0 47,406
AMTBAMIEEZY L o 47,406 0 47,406
201 Ypre | 29,996 0 29,996
01 At=arelt| 22,780 0 22,780
DMK EANDHAATHE 9,000 ¥20H 180
NesY AUE 350,000 x62 2,100
DHIDMAISAE & % S 7l
200,0002 *25H 5,000
N2AZ 292 S M 500%! 4,307 +4 3] 8,600
DA (E2)ZA HHIE 50,0002 12021 6,000
DEAAAMEE S 204 300,0002! *14! 300
gt ey 100, 000! 62 600
02 BZ2YH| 7,216 0 7,216
DESEEIES 2802 *4, 3007} A *43] 4,816
DRI 20000024+ 122 2,400
202 OfHl 5,760 0 5,760
01 =00l 5,760 0 5,760
)0k & PR S|
20,0002 *6% *42 # 122 5,760
203 HRETY| 3,600 0 3,600
03 AMFNALEAY| 3,600 0 3,600
DREMXTAK 28 293 S
300,000 * 122 3,600
01 eI 7,450 0 7,450
12 JIEtEaa 7,450 0 7,450
NEHZAIR S 22| 35,0002 52 x24 3| 4,200
DMK S ZAZ NS 50,0002 ¥2524 1,250

100,000 20K 2,000
405 XtobESHI 600 0 600
01 X SSFHSHI 600 0 600

600,000& 14! 600
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RECENEE
B Qeols 2
Er9l: ol3l 2y

i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES A oH @;OH Hl =2
S PNI=E= 3,644,578 3,564,128 80,450
Xlgto5 2o 1,895,382 1,942,518 A47,136
ol5|2H 1,895,382 1,942,518 A47,136
[SIPSE- 2= 1,460,782 1,766,651 ~305,869
201 LEr2HH| 130,600 94,880 35,720
01 AtR22IH] 120,600 88,880 31,720
NoFE=XY Y ABERY S
2,000,0008 122 24,000
NoE (AR )Xt Xt 1,000,000 122 12,000
Nadgss o 4 UXHEESE
500,000 *301 21 *103] 15,000
NHES 2 X2 AX(LESEH)
400,000 * 122 4,800
NF2 AFEE P (F2HX)
30,0008 x27 A « 122 9,720
1) B A H A 3,000,000 x1A! 3,000
NI MAZ202 2 |SFH|
2,800,000 122 33,600
NosH=EL=2 X 70,0002 x22% « 122 18,480
03 EA2HI 10,000 6,000 4,000
1)l =2 2 QARAMAL S
10,000, 0002 * 14! 10,000
202 O] 36,660 26,596 10,064
01 =2LHoddl 15,160 9,096 6,064
1)o| 2S04 H| (L HI) 20,0002 *10H «20 4,000
1)ol 2484 04 H| (AlH|) 20,0002 x 10H x20 4,000
1)K H| (=52H]) 30,0002 *10H 20 6,000
oL H (R X2Y)
5,800 10«20 1,160
03 2204 21,500 17,500 4,000
1)0H 2/ =0 21 = 3H 2,500,000 x7H 17,500
NXOZE AT Al 20| 2284
2,000,000 x2&H 4,000
203 YR=ZAH 58,400 56, 180 2,220
03 AIMFRADZ=ZY| 58,400 56, 180 2,220
NAFS 2 A =Z 6,000,000 x1A! 6,000
N HZHEARLUBHALF A 600,000 122 7,200




2N 2 AR
M Ages 29
c: 232 (c9): &2

i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
Nodes g7 6,400,000 x 14! 6,400
NHEA & S2E2XY9 92 HSHA
e 1,000,000 *33 3,000
NoRAXS U H DN AREZ
5,000,000 x 14! 5,000
NS L QABIZH AREA
6,000,000 x1A! 6,000
NEHDI2ADE SHAXAL L XX AREEX
5,000,000 x1A! 5,000
NXY g £8 Ad2=3 5,000,000 x1A! 5,000
NIAFUA XA ARFZ
4,000,000 1Al 4,000
N2 QOtAAL L X2 2T =&
300,000 3H x 122 10,800
205 °|3/d| 1,230, 122 1,586,995 356,873
01 9HE=H| 290,400 290,400 0
NYAT2LE HARH| 900,000 x22H x 12| 237,600
NEXS =Y 200,0009 x22%H x 12& 52,800
02 FHxG 540,408 915,201 A374,793
DEESES=, 2,047,000 x22% x 122 540,408
03 =2LHOIHI 40,040 24,024 16,016
DoAY N2 (LH|)
20,0002 x20 x22H 8,800
NOFAEXUY D2 (AH])
25,0002 x20 2 x22H 11,000
NoEHUH N2 (=e|)
46,0002 x20 U x22H 20,240
04 =22/04H] 53,300 53,300 0
1)ol 251 2 H 41,000
2)9 %, 2o 2,500,000 x2H 5,000
2)o| 1,800,000 x20H 36,000
N2HSIQEA U JIHZHTZAl 22
41,000,000 *30% 12,300
05 JHR2ABELR=XIH| 120,600 120,600 0
NY¥2IZEAFHI 4,800,000% x22H 105,600
NUZEAL2LY =S 1,000,000 x15H 15,000
06 JIZ2HARFIH] 116,000 116,000 0




L 932 2 &)
_ _ _ Muo
- - HA(SA) - NRAE - BE=Z e Ofl At ot HwsZ
IEE 3,300, 0002 1%« 122 39,600
PEEES 1,600,000 %12 *12% 19,200
PEEEES, 1,100,000 %43 + 122 52,800
IEEEEEETS 1,100, 0002 12 +43] 4,400
e = 4,000 4,000 0
NEBAL2, KX 7250l & et 3l bl
4,000,000 %114 4,000
SEELERI=E 41,185 42,376 A1,191
PEL=ER=
3,466,670 x22 *4. 5+ 122 41,185
oARAYRLS 24,189 21,094 3,095
oA=L
3,466, 6702 x2221 x2 54%+ 122 23,247
o HIURY 23
83,0502 %2281 4. 05%+ 122 942
305 HHaSS 2,000 2,000 0
A2 S 2,000 2,000 0
1)Z 0184 201242 2 & & Al|
2,000, 0002 14! 2,000
405 Xt S| 3,000 0 3,000
SN 3,000 0 3,000
NOANESTY A2 15,0002 2002 3,000
HEsER 157,720 122,450 35,270
201 Ygreg| 153,520 115,250 38,270
NEETEIT 153,520 115,250 38,270
1)2009 5] 2| = &I & 36,000,000 *14} 36,000
125l H= 5,000, 0002 *43] 20,000
NEHOIN & Sl9= AMAAY RN 24
900,0002! *12% 10,800
NANBSSYNTY UL BES
54,720,0002 14! 54,720
DX 2 ALK AFES £
600,0002 101 Ak *43] 24,000
NOAFESHY 2SATDT
3,000, 0002 14! 3,000
DEER=E: 2,000,000 *14! 2,000
1AFRIOISE 2 &4t 3,000, 0002 14! 3,000
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203 HEF=4H 4,200 4,200 0
03 AHFAHRFAH 4,200 4,200 0
NANESELZLRFX 350,000& x12& 4,200
ol3l H AL 22 276,880 53,417 223,463
201 Ysregyl 10,080 10,080 0
01 AR 2&cldl 10,080 10,080 0
NHXS WS T2 TH(25AFS)
70,0003 x 12«12 10,080
401 AIEHIZSOYI 248,800 43,337 205,463
01 AlZH 248,800 43,337 205,463
NYWEEI| X1 &IISA 25,800,000 » 14! 25,800
NYHEDIE 250 &
30,000,000& » 14! 30,000
NHAANLE U BHRN2S
250,000& *12& 3,000
NAYIASIA BRBIAAAY PE
50,000, 00021 #14] 150,000
DEEEEE-E R
40,000,000& =14 40,000
405 KHeHH SHI 18,000 0 18,000
01 L SSFHSHI 18,000 0 18,000
Ny 2 3,000, 000& *6CH 18,000
HE 2L ZHI(SAIRZ) 1,749,196 1,621,610 127,586
gl 1,535,799 1,445,500 90,299
23l 1,535,799 1,445,500 90,299
101 el H] 1,449,439 1,359,440 89,999
01 Jl=2= 831,893 801,373 30,520
nsa 775,240
)22 (2H) 67,087
3= 66,082,002 %12 *1.0152 67,087
2)=22(82H) 708, 153
3)IIEAR 708, 153
4)5=(30&2) 2,961,300& *4H 123 142,143
4)6= (258 8) 2,512,100 x3Z 122 90,436

4)7= (208 2) 2,065,000& x13H 122 322,140




RHEENEE
28 YHSYPU(ABALS)
col: olt2gy (el @l
SA-E . S(E) - MEAY - BES 0 & 24 e {imE=Eh
4)88 (45 3) 1,096,400 x 18«12 13,157
4)93 (45 8) 973,900& 18123 11,687
4)J1sx82 (25 8)
1,855,300& x5 12 111,318
471559 (1458)
1,439,300& x1Z + 122 17,272
nNga=¢< 708,153,000& *1/12+0.96 56,653
02 =g 248,772 240,368 8,404
N=uz2e+4 141,220
2)IIEAR 141,220
3)Y A HE A 118,838
4)55 9,796 & «4H +57 Al 2tx 123 26,802
4)63 8,312 x3H 57 Al 2tx 123 17,057
473 7,457 3«13 +57 Al 2+ 128 66,308
4)83 6,682 x1H«57A| 2t+ 123 4,571
4)93 5,9933 »1H«57 Al 2tx 123 4,100
3)JIsH 22,382
4)83 6,682 4B «57 Al 2tx 123 18,282
4)92 5,993« 1H 57 Al 2t+ 123 4,100
NtE==< 23,386
2)HH < Xt 40,000 x28E 123 13,440
2)EH 20,0003 x282H +0.4x12& 2,688
2)dl= 20,0002 x28H 1.08+12& 7,258
NAEHEHEE+E 17,830
2)8&tn 62,4003 x7H *43] 1,748
2)Ns&t 446,700 x9H *4 2] 16,082
N2 Loz 30,480
2)25 0l & 130,000& »7H 122 10,920
2)20~254 0] ot 110,000& 7 x12& 9,240
2)154~204 0 ¢ 80,000 x10& «12& 9,600
2)10&~154 0| ot 60,000& x1H + 122 720
Nz 708,153,000 #0.49%4 . 8% 16,656




SA: OB AR
Ha: #ESAAY (NS R)
chel: ol 2| (649l &2
_ _ _ Muo
N Z3 . CA(ZAH) - MPAY - BES e Ofl At ot HwsZ
IEEEEEEIENEE) 19,200
2)4z 100,000 * 124 122 1,200
2)53 80,0002 4%« 122 3,840
2)63 60,0002 3% * 122 2,160
2)7201 5t 50,0002 x202 * 122 12,000
03 HZ A 43,680 43,680 0
1EAZ AL 130, 0002 +288 x 122 43,680
04 DELFY] 41,640 41,640 0
NRELZY] 41,640
2)53 140,000 %43 * 122 6,720
2)6-72 130,0002 * 1584 x 122 23,400
2)8-92 120,000 *8% * 122 11,520
05 YEEIH 70,816 68,094 2,722
DEEESIE 708,153, 000! %1/ 12+ 120% 70,816
06 IR 118,026 113,490 4,53
1)JFH X2 bl 708,153, 000! %1/ 12+200% 118,026
07 QIItE A 31,352 22,138 9,214
1) 0H2 A Hl 31,352
2)I =R
67,087,0002 x0.66%1/12%1/30% 152 1,845
)2 S 708,153,0008 %1/ 12+ 1/30% 152 29,507
10 JAM2ENS2 % 63,260 28,657 34,603
1) ] AAFSS 53,2002 ¥ 1002 x4 21,280
DHASTHATEEH
4,0002 *5 Al 24124 249 4,980
1)l e P AR US| )| ST EEHY
4,0002 %5 Al 24 %2002 16,000
DEEEEES G-t =L
35,0002 *2002 *3% 21,000
203 AREXY| 10,940 10,640 300
NEEEEEEEES T 3,300 3,000 300
DAIR2E 3,300,002 *14! 3,300
02 HRAINMALEZY] 2,240 2,240 0
NEEIIMRE Y] 80,0002 x28% 2,240




EEENEE
M HH2HAH (YSAIRR)
chl: QA2 A (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
04 BEM2ITRFLEY 5,400 5,400 0
NAIR= 350,000& ~12& 4,200
N2 4 100,000& *12& 1,200
204 ZPEAY| 75,420 75,420 0
ESES M 9,000 9,000 0
9,000
350,000 1H x12& 4,200
100,000 4 H =12 4,800
02 HAZ=2xHl 52,620 52,620 0
ESF=2=EN ] 52,620
2)4= 400,000& x1Z«12& 4,800
2)52 250,000& 4 H «12& 12,000
2)6= 155,000& 3 12 5,580
)72 140,000& * 12 123 20,160
2)8-9= 105,000& *8H » 12& 10,080
03 SEYRHE =4 13,800 13,800 0
1) syl 50,0003 x23H =122 13,800
Jl2Z 4l 213,397 176,110 37,287
Jl2Z | 213,397 176,110 37,287
201 Lt 119,597 67,100 52,497
01 At 2eld] 100,660 52,300 48,360
1)et+gH| 53,620
2)AR=d B =EH| 2,300,000 =12& 27,600
2)23le2 J1E& 5,000:& *2,000H 10,000
Q2SR 15,000 302 *12& 5,400
2)3JIEEH e 625,000 »4CH 2,500
2)E AT = I 300,000& x3H 900
2Q)HEINR BHSAM 12 ¥ NEE
7,220,000 14 7,220
1)=&l 7,000 x20 x28H » 122 47,040
02 232934l 18,937 14,800 4,137
133 2=LHA 18,937
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B BHSAYH(SAR)

chel: D123l (EHe|:® <)
= 52 u cCLo = (=] A nEps ==) OH Il_-ILjL:_ =D}
SN HB () - MEAY - BES Off &+ o4 Ofl At ot HlnE2

700,000& 123 8,400

2)gdgx5 2 DAl 3,500, 000& »14] 3,500

2)RHYE ANEE 86,350 122 1,037

2)Hse3s S 500,000& 123 6,000
202 044 87,360 87,360 0
01 2UWdbl 87,360 87,360 0

BELIGE] 20,0003 « 13«28 128 87,360
405 XtobESHI 6,440 21,650 A15,210
01 A =SSFHSHI 6,440 21,650 215,210

DEELS 470,000 »2CH 940

NEILAJA A 5,500, 000& »14] 5,500




